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55 FE#AL FiE%EfaERX EEZMK FRAHK RESH/ T
1 Z 3 fu Bl Az L R ALK R 1 340
2 AR FlLgEAEL i RATE AR 1 340
3 Z 45 34 Bl A EL L KA AR 2 680
4 e BERE e KA EAR 1 400
5 e BE e HE R ALK R 2 680
6 ZEHE BERE HE RATE AR 3 1020
7 TH G BEEE YE KA AR 4 1360
8 K 7 & BEHE HE KA KR 2 680
9 FHH BEREE HE KA AR 1 400
10 A BELE HE RATE LR 3 1200
11 EE BE e HE R ALK R 2 680
12 B BEEE HE RATE AR 2 680
13 7K X BEEE YE KA AR 1 460
14 1T BELE e KA ERAR 2 800
15 X &t BE e HE R ALK R 1 400
16 KI T BEAEE HE KA KR 2 680
17 PRiE BEEE YE KA AR 1 400
18 G BEAEE HE RATE LR 1 400
19 AE¥E BEHE HE R ALK R 3 1020
20 F2FX BEHE WE RATE AR 5 1700
21 X &% BEEE YE KA AR 1 400
22 x| X B BEEE HE RATE AR 1 340
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23 KFEAT BEHEE YE KA AR 3 1020
24 Ak BEEE HE RATE LR 1 460
25 F=H%E BEEE YE KA AR 2 800
26 KEF BEEE HE KA ERAR 2 800
27 KEFER BEHE HE R A& R 1 400
28 k=t BEHEE =% KA ERAR 1 460
29 FEH BEHEE =X R AT & R 1 340
30 e BEHEE =% KA EAR 2 800
31 FEE BMEHE - X R ALK R 1 340
32 [ BEHEE =% KA EAR 1 400
33 H B Ae HMEHEE - X R ALK R 1 340
34 A BEHEE =% RATE AR 2 920
35 =3 BEHEE =% KA AR 1 340
36 BEE BEHE =% KA AR 2 680
37 218 4 BEHYE =% R AT & R 1 400
38 Wb K A BEHEE =% KA EAR 2 680
39 [ zi2 BEHEE =X R AT & R 2 800
40 F AR BEHEE =% KA EAR 1 400
41 T A BMEHE - X R ALK R 3 1020
42 FgK BEHE - X KA EAR 1 400
43 FE4 BEHEE =% R ALK R 3 1020
44 I ¥4 BEHEE =% RAT KA 1 340
45 KR BEHEE =% KA AR 2 800
46 ¥ X% BEHEE =% KA ERAR 2 680
47 B kAL BEHEE - % R AT & R 3 1020
48 = X 5 BEHEE =% KA ERAR 2 920
49 LA BAEE K KA AR 4 1360
50 s BAEE Yk KA EAR 1 340
51 =/ A RAEE Yk R ALK R 1 460
52 o RAEE A% KA EAR 1 400
53 =18 RAEE Yk R ALK R 5 1700
54 AR RAEE A% RAT KA 6 2040
55 BH X BAEE K KA AR 3 1200
56 il BHE R KA ERAR 2 920
57 Bt RAEE Yk R AT & R 1 400
58 M #A AL BAEE YR KA EAR 4 1360
59 i BAE K KA AR 4 1360
60 JE fR 3 RAEE Ak KA ERAR 2 680
61 PP A RAEE Yk R ALK R 1 340
62 KA RAEE A% KA ERAR 1 400
63 & % 4% BAE K KA AR 2 680
64 B E4R RAEE A% RAT KA 1 340
65 TR RAEE Yk R ALK R 1 400
66 W B & FAEE YR KA ERAR 1 340
67 AR BAEE R R A& AR 1 340
68 AT RAEE Ak KA ERAR 1 340
69 FEE RAEE Yk R ALK R 2 680
70 X\ 7 B BAEE YR KA EAR 5 1700
71 B g RAEE Yk R ALK R 2 680
72 1 EE X RAEE A% KA EAR 5 2000
73 EEMA RAEE Yk R ALK R 4 1600
74 LI RAEE Ak RAT KA 1 340
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75 i RAEE 4 R ALK R 1 400
76 wAE B 3 RATE LR 1 340
77 FRE RAEE 4 R ALK AR 1 460
78 A A K B KA ERAR 2 680
79 & E 3 Fia R A& R 1 340
80 R X R B4 KA ERAR 2 680
81 g% EEE R AT & R 1 340
82 Z 4o B B4 KA EAR 2 680
83 B FEAd R ALK R 2 680
84 AR B4 KA EAR 1 340
85 H A BA4 R ALK R 1 340
86 ZEL&E B RATE AR 1 340
87 H B X FEi R ALK AR 1 340
88 ki B4 KA AR 1 340
89 S tnig B4 KA AR 2 800
90 WA B4 KA EAR 3 1020
91 B RAE S R AT & R 1 460
92 =¥ = BA4E L KA EAR 2 680
93 YR A BAE S R ALK R 3 1020
94 ZinK BA4E L KA EAR 1 460
95 Y EE RAEE S KA AR 1 340
96 [ BA4E > RAT KA 2 800
97 X & BAE S R ALK R 2 800
98 ExE BALE X KA ERAR 1 400
99 Bl RAEE S R AT & R 4 1840
100 HE R FAE X KA ERAR 1 340
101 TR RAE S R ALK R 1 340
102 BR%¥ BA4E > KA EAR 2 680
103 KEE BAE S R ALK R 1 340
104 TR BA4E L KA EAR 1 400
105 M= BAE S R ALK R 3 1200
106 e BA4E L RAT KA 4 1360
107 Ratia BAE S R ALK AR 2 800
108 e = EE KA ERAR 1 400
109 B 4 BAE S R AT & R 3 1020
110 B o B4 L KA EAR 1 400
111 k& RAE S R ALK R 2 800
112 I K% BAL4E L KA ERAR 3 1380
113 Fh R BAE S R ALK R 2 680
114 =HE BA4E > KA ERAR 1 340
115 "BEA BAE S R ALK R 3 1020
116 (4R A BA4E L RAT KA 4 1360
117 7K E BA LRk R ALK R 4 1360
118 YR H#E KA ERAR 1 400
119 AP AR Gk R A& AR 1 460
120 Fx# il KA ERAR 1 400
121 HA A% R ALK R 4 1600
122 KT H#E KA EAR 2 680
123 ZHZ il R ALK R 3 1020
124 # IE X W4 KA EAR 1 400
125 % 71 B A fr4a R ALK R 7 3220
126 Ak HEE RAT KA 1 400
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127 A Gk R ALK R 4 1840
128 ik HE4E RATE LR 1 400
129 A LRk R ALK AR 1 460
130 KEFF H#4E KA ERAR 2 680
131 £ A > il KA AR 3 1200
132 %7 R il KA ERAR 2 920
133 8k il R AT & R 2 920
134 P FE HE4E KA EAR 2 680
135 g ki LRk R ALK R 2 920
136 4R & W4 KA EAR 5 1700
137 AAE Gk R ALK R 1 400
138 v HEE RATE AR 2 680
139 ITHE A 4 R ALK AR 1 340
140 B A E KA AR 1 340
141 e il KA AR 1 340
142 oK gk H#4E KA EAR 3 1020
143 TR il KA AR 1 340
144 ¥R HE4E KA EAR 2 680
145 MEZ LRk R ALK R 2 680
146 T W4 KA EAR 2 680
147 i Gk R ALK R 3 1200
148 oA K HE4E RAT KA 6 2040
149 HEE A 4 R ALK R 3 1020
150 YHE H#4E KA ERAR 1 340
151 FAE Gk R AT & R 3 1020
152 A FRE KA ERAR 1 340
153 JA R & T RE R ALK R 1 400
154 = Xt +RE KA EAR 1 340
155 AEE T RE R ALK R 1 340
156 & ¥ TR KA EAR 1 340
157 HEIRZE T RE R ALK R 1 340
158 e T+ RE RAT KA 1 340
159 el T RA R ALK AR 1 460
160 Z= 1 4 T+ RE KA ERAR 1 340
161 o ! R AT & R 2 680
162 o T RE KA EAR 1 340
163 X & R, T RE R ALK R 1 340
164 [ FRE KA ERAR 1 340
165 K 4R T RA R ALK R 3 1200
166 X IF % T+ R KA ERAR 1 340
167 EEE T RE R ALK R 1 400
168 kKxHE T+ RE RAT KA 2 680
169 HAEW T RA R ALK R 1 340
170 ik T+ RE KA ERAR 2 680
171 B2 ! R A& AR 1 340
172 ¥ T RE KA ERAR 1 340
173 ALEA T RE R ALK R 2 680
174 =X ! KA EAR 1 340
175 ER R TR R ALK R 1 340
176 HE A FRE KA EAR 1 340
177 KKE T RE KA AR 1 340
178 KoHE T+ RE RAT KA 1 340
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179 s T RE W R ALK R 1 340
180 AL R TR RATE LR 2 680
181 T T RE #HHT R ALK AR 2 680
182 B IF & FRE Wt KA ERAR 1 340
183 EFEK T RE W R A& R 1 340
184 ¥k k& TR KA ERAR 2 800
185 L EE T RE Wt R AT & R 1 340
186 i TR KA EAR 1 340
187 KE T RE #HHT R ALK R 2 800
188 JA #1 T TR KA EAR 1 340
189 EEA T RE W R ALK R 1 340
190 5% TR RATE AR 1 340
191 HEE T RE #HHT R ALK AR 2 680
192 KB T RE KA AR 1 340
193 EEES T RE W R AT & R 1 340
194 ki3 FRE T KA EAR 1 340
195 = PE T RE W R AT & R 2 680
196 FEF TR KA EAR 4 1360
197 KE = T RE #HHT R ALK R 1 340
198 KA TR KA EAR 1 340
199 FHE T RE W R ALK R 2 680
200 7K IF & TR RAT KA 1 340
201 KB R T RE #HHT R ALK R 1 400
202 KR FRE Wt KA ERAR 1 340
203 P B ¥ T RE W KA AR 2 680
204 i TR KA ERAR 1 340
205 X B BFEE BT R ALK R 1 460
206 TN E REEE RTE KA EAR 1 400
207 BN REEHE BT KA AR 1 400
208 XX JE BTEH BT KA EAR 4 1840
209 %X BFEE BT R ALK R 5 1700
210 WSS BT EHE R RAT KA 2 800
211 B K B REEHE BT KA AR 2 920
212 AL FAT BTER BT KA ERAR 3 1020
213 FR¥ BTLEE BE KA AR 5 1700
214 X\ 45 1% BTEH BT KA EAR 1 340
215 ki BPEE BT R ALK R 2 800
216 FPF REEE RTE KA ERAR 3 1200
217 A& BPEE BT R ALK R 1 340
218 I A% RFEE RFE KA ERAR 1 400
219 ®IEX BTEEE A RIT KA AR 3 1200
220 & BTEH P RIT RAT KA 1 400
221 FE R T EE 5 RIT R ALK R 2 800
222 RE T EE A RIT KA ERAR 1 400
223 i 4 BTEE AFIT R A& AR 1 400
294 =14k T EE A RIT KA ERAR 3 1200
225 G/ T EE 5 RIT R ALK R 1 400
226 % T EE A RIT KA EAR 1 400
227 # 41 T EE 5 RIT R ALK R 1 400
228 XU B X BTEH P RIT KA EAR 2 680
229 X\ 57 A8 T EE A RIT R ALK R 1 400
230 K2 T EE A RIT RAT KA 1 400
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231 K& T EE A RIT KA AR 1 400
232 B4R T EE A RIT RATE LR 1 460
233 £ &t T EE 5 RIT R ALK AR 1 400
234 ER%E T EE A RIT KA ERAR 1 400
235 BIEKR T EE ARt R A& R 2 800
236 XA, BT EE P FT KA ERAR 2 920
237 BB EEE A RIT R AT & R 1 400
238 BER BTEH PRI KA EAR 2 800
239 #HiFfE BT EE 5 RIT R ALK R 2 800
240 X X E BTEH PRI KA EAR 3 1200
241 R & T EE A RIT R ALK R 1 460
242 X E BTEHE 55T RATE AR 1 400
243 % T EE 5 RIT KA AR 1 400
244 #IF 18 BTEH A RIT KA AR 1 400
245 FIREE BTEE AFIT R AT & R 1 400
246 Rk BTEH PRI KA EAR 1 400
247 = T EE A RIT KA AR 2 800
248 FRF% BTEH PRI KA EAR 1 400
249 FER B REE AW R ALK R 2 800
250 [ LREE AR KA EAR 2 800
251 H T BREE AWM R ALK R 2 920
252 E0 bR EE AR RAT KA 2 680
253 Ji 4 B REE AR R ALK R 4 1360
254 P i O REE At KA ERAR 2 920
255 R BREE AW R AT & R 4 1360
256 i O REE A KA ERAR 3 1200
257 BXE B REE AWM R ALK R 2 800
258 XN LREE AR KA EAR 3 1200
259 EER B REE AR R ALK R 2 680
260 KAE b REE At KA EAR 1 400
261 E%E B REE AW R ALK R 1 400
262 7k K bR EE AR RAT KA 2 680
263 KEE B REE AR R ALK AR 2 800
264 TI# LABE AWK KA ERAR 2 800
265 7K 5= Al B REE AW R AT & R 1 400
266 T 24 b REE A KA EAR 2 800
267 X\ IE % 5AREE AR R ALK R 1 400
268 g A O REE At KA ERAR 3 1200
269 A I B REE AW R ALK R 3 1200
270 KEAX LREE AR KA ERAR 5 1700
271 B E X B REE AW R ALK R 4 1360
272 7K i L REE A RAT KA 1 460
273 BT BR B REE AR R ALK R 1 460
274 7K E & O REE At KA ERAR 2 800
275 Lot A B REE AWM R A& AR 1 340
276 K EF BABE AWK KA ERAR 3 1200
277 KEX B REE AW R ALK R 2 800
278 B E 5 REE At KA EAR 4 1600
279 =4 BAREE P KA AR 2 680
280 M= L R EAE AT KA EAR 2 800
281 FxZ bAEE P KA AR 3 1020
282 R LREE P RAT KA 1 340
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283 i kia bAEE P KA AR 1 400
284 Y L R EAE AT RATE LR 1 400
285 R4 % B AESE K ER R ALK AR 1 340
286 BRBH = b RS AR KA ERAR 1 400
287 EEAT B A K ERD KA AR 1 400
288 g b RS AR KA ERAR 4 1360
289 Eadii B REE A EE R AT & R 1 340
290 FXR b RS AR KA EAR 2 800
291 ke B AESE K ERD R ALK R 2 680
292 Bz bR EE AR KA EAR 1 400
293 EES B REE K EE R ALK R 2 800
294 A b REE A{EE RATE AR 3 1020
295 TP & B AEE K ER KA AR 1 400
296 2T b RS AR KA AR 3 1020
297 N2 B REE A EE R AT & R 2 680
298 B e b RS AR KA EAR 1 400
299 TIER b REE KA EE R AT & R 4 1360
300 PR bR e AR KA EAR 1 400
301 gk E B AREE K ER KA AR 2 680
302 X K A L REE A(EE KA EAR 1 340
303 S A BBy RE R ALK R 2 800
304 = Rk BEL S RE RAT KA 1 400
305 LR BB RE R ALK R 2 800
306 1 &R BEL S RX KA ERAR 1 340
307 7K R #% BB RE R AT & R 2 800
308 RE# BEL S RE KA ERAR 1 400
309 EHE R BB RE R ALK R 3 1380
310 ¥ X BEL S RX KA EAR 1 400
311 7k ¢ BB RE KA AR 1 340
312 3 BEL S RE KA EAR 1 340
313 i BB RE KA AR 1 340
314 fH= BEL S RE RAT KA 1 340
315 e BE S KX R ALK AR 3 1380
316 REE BEL S RX KA ERAR 1 340
317 L nZs 7 R AT & R 2 800
318 RER NEY 7HiE KA EAR 1 400
319 E A nZs 7 R ALK R 2 680
320 XX 2 MEs HiE KA ERAR 2 800
321 PN sba NEY 7HiE KA AR 1 400
322 ITEX NEY 7iE KA ERAR 1 400
323 i nZEs 7 KA AR 1 400
324 EEF NEY 7HE RAT KA 2 800
325 & Rl nZs 7 R ALK R 2 800
326 FEAFEE NEs 7iE KA ERAR 1 400
327 KHTF nZs 7 R A& AR 1 400
328 EZRH NEY 7HE KA ERAR 1 400
329 i 2N nNZs 7 R ALK R 1 340
330 2y NE AR KA EAR 2 800
331 A=K nZs 7 R ALK R 2 800
332 RF NEY 7HiE KA EAR 4 1600
333 A IF A nZEs 7 R ALK R 3 1020
334 X8 NEY 7HE RAT KA 3 1200
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335 REM T & R ALK R 4 1600
336 B X i fa RATE LR 2 800
337 KIK® ik R ALK AR 1 400
338 % % B i KA ERAR 1 400
339 XX ik R A& R 1 340
340 AR i KA ERAR 5 2000
341 R IE X ik R AT & R 1 400
342 ES LS i KA EAR 1 400
343 S T & R ALK R 2 800
344 Bz i KA EAR 2 800
345 7 AE)| ik R ALK R 2 800
346 RF X i fE RATE AR 1 400
347 e T & R ALK AR 2 800
348 FEX i KA AR 2 800
349 750 ik R AT & R 1 400
350 ca i KA EAR 1 400
351 =76 ik R AT & R 1 400
352 B atii i KA EAR 1 400
353 XX ik R ALK R 2 800
354 TEXE i KA EAR 1 400
355 X\ 7 BE ik R ALK R 1 400
356 X XA i fa RAT KA 6 2040
357 AR ik R ALK R 1 400
358 B T fE KA ERAR 1 400
359 = KA ik R AT & R 1 400
360 X XA i KA ERAR 2 800
361 eV ik R ALK R 1 400
362 % i KA EAR 3 1200
363 XA T & R ALK R 1 400
364 = FF AL KA EAR 1 400
365 x5 AL R ALK R 1 400
366 iR A RAT KA 2 800
367 ¥ 44 9 AL R ALK AR 1 400
368 b NE A KA ERAR 1 400
369 AL AL R AT & R 1 400
370 R &R A KA EAR 1 400
371 XHE AL R ALK R 1 400
372 MRt A KA ERAR 2 680
373 XX ET AL R ALK R 1 460
374 AT ] KA ERAR 1 400
375 X I AL R ALK R 2 800
376 Fh ik A RAT KA 1 400
377 B AA AL R ALK R 3 1200
378 R A KA ERAR 3 1200
379 BAAZ AL R A& AR 1 340
380 HIE 4T AL KA ERAR 1 340
381 I XA AL R ALK R 2 680
382 I A KA EAR 1 400
383 Y4 AL R ALK R 1 460
384 ¥ AL KA EAR 2 680
385 H ¥ AL R ALK R 1 340
386 Y IF [F A RAT KA 1 400
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387 %% WE Y asb KA AR 1 400
388 /AR WE & a4l RATE LR 1 400
389 E204:4 ME s sl R ALK AR 2 800
390 ZEY WE 5 apl KA ERAR 1 400
391 M 54 ME 2 apl R A& R 1 400
392 & fir WE 5 apil KA ERAR 1 400
393 JAIEA ME s sl R AT & R 2 800
394 R4 WE 2 AL KA EAR 1 400
395 Pl NZE 2 @l R ALK R 1 400
396 Vi WZ % asb KA EAR 1 400
397 ¥ WE % asb KA AR 1 400
398 AT WE 5 apil RATE AR 1 400
399 ZEK NZE 2 @l R ALK AR 1 400
400 RER WE 5 a4l KA AR 1 400
401 HRES ME 2 @il R AT & R 1 400
402 XEE WE 5 apl KA EAR 1 400
403 = AL ME s sl R AT & R 1 400
404 AR R ME 5 apl KA EAR 2 800
405 il WZ % asb KA AR 1 400
406 ERFE WARKNZE S KA EAR 2 800
407 J& AR HwARNZ 2 R ALK R 1 400
408 FHR HWARKNZE S RAT KA 2 800
409 FEE WARNZES R ALK R 1 400
410 B A4 WARARKNZE S KA ERAR 1 400
411 Ee S WARKNZES R AT & R 2 800
412 i ot & WARKNE S KA ERAR 2 800
413 2% HwARNZ 2 KA AR 1 400
414 EyE3 WARKNZE S KA EAR 2 800
415 AR WARKNZES R ALK R 1 400
416 = FE WARKNZE S KA EAR 1 400
417 Z= Bl HwARNZ 2 KA AR 2 800
418 AFAE HWARKNZE S RAT KA 2 800
419 EEE WARNZES R ALK AR 1 400
420 wIE WARKNZE S KA ERAR 2 800
421 = K F WARKNZES R AT & R 1 400
499 EE WARNE S KA EAR 2 800
423 i R HwARNZ 2 R ALK R 2 800
494 Ea WARKNZE S KA ERAR 2 800
425 A E WARKNZES R ALK R 1 400
426 T RE HWARKNZE S KA ERAR 2 800
427 ZHE HwARNZ S R ALK R 1 400
428 BRI A HWARKNZE S RAT KA 1 400
429 ZIEM WARNZES R ALK R 3 1200
430 [ A WARKNZE S KA ERAR 2 800
431 K= WARNZES R A& AR 3 1200
432 Paii HWARKNZE S KA ERAR 2 800
433 IR A& HwARNZ 2 R ALK R 2 800
434 FHEE HWARNZES KA EAR 2 800
435 [ WARKNZES KA AR 1 400
436 Eibea HWARNE S KA EAR 1 400
437 ERea HBARNZ 2 R ALK R 1 400
438 PIIEES HBWARNZES RAT KA 1 400
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439 Eyii= Ty BARNZES KA AR 1 400
440 ¥ a7 Ty HARNZES RATE LR 1 400
441 B 3 Tl s HwARNES R ALK AR 1 400
442 BRI = Ty BARNZES KA ERAR 1 400
443 B3 Ty HARNZES R A& R 1 400
444 BT Ty HARNZES KA ERAR 1 400
445 B Tl s HARNES R AT & R 1 400
446 kit Ty BARNZES KA EAR 1 400
447 KEF Tl s HwARNES R ALK R 1 340
448 = i Ty ARHZES KA R 1 340
449 B2 Tl s HARRNES R ALK R 1 400
450 FApE Ty HARNZES RATE AR 3 1020
451 =g Tl s HwARNES R ALK AR 1 340
452 A2 %4 s EL KA AR 2 800
453 A 5% % s EL R AT & R 1 400
454 B LY 2WuNEL KA EAR 2 800
455 K B4R 5% % Wi ZE4L KA AR 2 920
456 ey L%4 sHENES KA EAR 1 400
457 ZE 5% 4% dWHZES R ALK R 1 400
458 = AL L% 4 ¢ EL KA EAR 1 400
459 FE% 5% % e ZE4L KA AR 4 1600
460 7K AR I LY &WuNEL RAT KA 1 400
461 FNE 5% 4 WHZES KA AR 1 340
462 Fing LY sHNES KA ERAR 2 800
463 THE 5% % s EL R AT & R 1 400
464 [t LY 2WuNEL KA ERAR 1 400
465 B E 5% % Wi E4L KA AR 1 400
466 =R AF L%4 sHENES KA EAR 1 400
467 KR 5% 4 WHZES R ALK R 1 400
468 1AL L% 4 ¢ EL KA EAR 1 400
469 e 5% % Wi ZE4 KA AR 1 460
470 BER¥ LY &WuNEL KA EAR 3 1200
471 KK E 5% % Wi ZE4 KA AR 2 800
472 ki LY sHNES KA ERAR 2 800
473 et 5% 4 dWHES R AT & R 3 1380
474 Finz LY 2WuNTL KA EAR 1 400
475 ERE 5% % Wi E4L KA AR 1 400
476 ZHE% L%4 sHERNES KA ERAR 1 400
477 & 5% 4% dWHZES KA AR 2 800
478 i L% 4 ¢ EL KA ERAR 1 400
479 X K3 5% % Wi E4L KA AR 2 800
480 A L% 4 ¢WnEL RAT KA 2 800
481 Ak 5% % aWiZE4 KA AR 1 400
482 EEE LY sHNES KA ERAR 2 680
483 7K A 5% % s EL R A& AR 1 400
484 [ A LY 2WuNEL KA ERAR 1 400
485 # 1IE A 5% % Wi ZE4L KA AR 1 400
486 e L%4 sHENES KA EAR 1 400
487 B2k E 5% 4 dWHZES R ALK R 3 1200
488 ¥R L% 4 s EL KA EAR 2 920
489 e 5% % Wi ZE4 KA AR 1 400
490 KAL L%4% ¢ EL RAT KA 2 800
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491 R E 5% % e ZE4L KA AR 1 340
492 ErFE L% 4 ¢ EL RATE LR 1 400
493 KGR 5% 4 WHES KA AR 1 400
494 =ik, %4 sWEREL KA ERAR 1 460
495 ED S 5% 4 WHZES R A& R 3 1200
496 3R L% 4 ¢ EL KA ERAR 1 400
497 BN 5% % Wi ZE4 KA EAR 3 1200
498 B4R LY sHNES KA EAR 1 400
499 B X 5% 4 dWHZES R ALK R 1 340
500 HED LY 2uNE4L KA EAR 1 400
501 R 5% % W ZE4L KA AR 2 800
502 AR LY &WuNEL RATE AR 2 800
503 RE% 5% 4 WHZES KA AR 1 400
504 F4HE LY sHNES KA AR 1 400
505 e X7 5% % s EL R AT & R 2 800
506 ik L% 4 ¢ EL KA EAR 2 680
507 BEE 5% % Wi ZE4L KA AR 2 800
508 RS LY sHNES KA EAR 2 800
509 FHF 5% 4% dWHZES R ALK R 1 400
510 HEH LY 2WuNEL KA R 3 1200
511 KED 5% % e ZE4L KA AR 1 400
512 I A LY &WuNEL RAT KA 2 800
513 IHE 5% 4 WHZES KA AR 1 400
514 KA L% 4% mEAZES KA ERAR 2 800
515 BAeY 5% % wEAZES R AT & R 1 400
516 X EE 5% 4% wmENZES R AR 2 800
517 G 7L 5% % wmEHES KA AR 2 680
518 KETF 5% 4% wmEAZES KA EAR 1 400
519 e 5% 4% WEHZES KA AR 1 400
520 7k 3t i 5% 4% mENAZES KA EAR 1 400
521 Al 5% 4 WEHZES KA AR 1 400
522 KE® 5% 4% mENAZES RAT KA 2 800
523 A B AR 5% % BEMNZES KA AR 2 800
524 ZE 5 L% 4% mEAZES KA ERAR 2 680
525 i 5% % wEAZES R AT & R 1 340
526 PR = EEEA A i o KA EAR 3 1200
527 KR 5% 4% WEHZES KA AR 2 800
528 ks 5% 4% mENZES KA ERAR 4 1360
529 X % 2% 5% 4% WEHZES R ALK R 1 340
530 Kx By wmRAZS KA ERAR 2 920
531 x| FH 2 5% 4 WEHZES KA AR 2 800
532 7k K & 5% 4% mENAZES RAT KA 2 800
533 @cgan 5% 4 WEHZES R ALK R 5 2000
534 IR L% % mEAZES KA ERAR 2 800
535 e 5% % wEAZES R A& AR 2 800
536 FTAEX 5% 4% mENZES KA ERAR 1 400
537 e 5% 4% WEHZES KA AR 4 1840
538 KR 5% 4% wmEAZES KA EAR 1 340
539 e = 5% % WEHZES KA AR 1 460
540 i 5% 4% mENAZES KA EAR 2 800
541 FHER 5% 4 WEHZES R ALK R 1 400
542 LAY EEEA A i e KA EAR 1 400
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543 ZHAT 5% 4% WEHZES R ALK R 1 400
544 7K 1 EEEA A i o KA EAR 3 1020
545 A AT 5% 4 BENZES KA AR 1 400
546 7K [E AR L% 4% mEAZES KA ERAR 1 340
547 KFEF 5% % wEAZES R A& R 1 400
548 B b & 5% 4% mENZES KA ERAR 4 1600
549 7K v T 5%y BENES KA EAR 2 800
550 TE 5% 4% mEAZES KA EAR 1 400
551 A T AL 5% 4% WEHZES KA AR 2 800
552 & & [F 5% 4% mENZES KA EAR 1 400
553 REL 5% 4% MEHZES R ALK R 1 340
554 = EEEE A i o KA EAR 1 400
555 IE% 5% 4 WEHZES KA AR 1 400
556 K E L% 4% mEAZES KA AR 1 400
557 e 5% % wEAZES R AT & R 1 400
558 B 5% 4% mENZES KA EAR 2 800
559 AT 5%y BEAES KA AR 1 400
560 e 5% 4% mENZES KA EAR 2 680
561 KRE 5% 4% WEHZES R ALK R 1 400
562 A 5% 4% mENAZES KA EAR 1 400
563 R K 5% 4 MEHZES R ALK R 1 400
564 EDAR EEEA A i KA EAR 1 400
565 K E 5% 4 WEHZES KA AR 1 400
566 KT L% 4% mEAZES KA ERAR 1 400
567 &R 5% % wEAZES R AT & R 1 400
568 ¥ 5% 4% wmENZES KA ERAR 3 1200
569 B E 5%y BEAES KA AR 2 920
570 7K B8 Ak 5% 4% wmEAZES KA EAR 1 400
571 fid 5% 4% WEHZES KA AR 1 400
572 i A7 It 5% 4% mENAZES KA EAR 1 400
573 BT 5% 4 WEHZES R ALK R 1 400
574 BExE 5% 4% mENAZES RAT KA 1 400
575 KR 5% 4 WEHZES R ALK AR 1 400
576 e E L% 4% mEAZES KA ERAR 1 400
577 & B 5% % wEAZES R AT & R 1 400
578 EHEE 5% 4% wmENZES KA EAR 3 1020
579 AR 5%y BEAZES KA AR 1 400
580 ZHE 5% 4% mENZES KA ERAR 2 800
581 kE T 5% % BEMNZES KA AR 1 400
582 7k & R 5% 4% mEAZES KA ERAR 1 340
583 KR = 5% 4 WEHZES KA AR 1 400
584 7K A e LY KeNTL KA EAR 1 400
585 B AR b5y AenFis RA R 1 340
586 B E Lxy EenEL KA ERAR 2 800
587 KA B 5549 Aent4 R A& AR 2 800
588 2 F L%y EenEs KA ERAR 2 680
589 B & EE SR L ik R ALK R 1 340
590 X% % Lxy EenEL KA EAR 2 680
591 1 G 554 HeERNE S KA AR 1 400
592 X F= LEY HenFL KA EAR 4 1360
593 ERF EE SR L ik R ALK R 1 400
594 ¥ K I L%y EenEL RAT KA 1 340
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595 7K 3 SE 554 HeERE o KA AR 1 400
596 54k L%y EeREL RATE LR 3 1380
597 7K 9t it 554 HeERNF S KA AR 2 800
598 BiRE L%y EeREL KA ERAR 2 800
599 ¥EE 5549 AenEs R A& R 1 340
600 % o g LYy KeNTh KA ERAR 1 400
601 x| [ # b5y AenFis KA EAR 1 400
602 2 AL L%y EeREL KA EAR 2 680
603 E & EE SR L ik KA AR 1 340
604 KIFAE LY HenFL KA EAR 1 400
605 ek 554 HeERE o R ALK R 5 1700
606 R L%y EenEL RATE AR 6 2400
607 LIE 4 b5y AenFis KA AR 2 800
608 ITEFE L%y EenEL KA AR 1 400
609 K I B 5549 Aent4 R AT & R 2 920
610 BEE L%y EenEs KA EAR 3 1200
611 I EE SR L ik R AT & R 1 400
612 LY L%y EenEL KA EAR 5 2000
613 K [E T 554 HERNE S KA AR 1 400
614 i LEY HenTh KA EAR 2 800
615 TR EE SR L ik KA AR 1 340
616 B Az LYy KeNTL KA EAR 1 400
617 2 EE SR L ik KA AR 1 400
618 wE = Lxy EenEL KA ERAR 1 400
619 k=5 5549 Aents R AT & R 2 680
620 e L%y EenEs KA ERAR 1 340
621 2O H 554 HeERNF S R ALK R 3 1200
622 T g L%y EenEL KA EAR 5 2000
623 Wk EE SR L ik KA AR 3 1380
624 e LEY HenTh KA R 1 340
625 KAk = EE SR L ik KA AR 1 340
626 W EA 1 LYy KeNTL KA EAR 1 340
627 Cibiica b5y AenFie RA R 1 340
628 ¥ ot A8 Lxy EenEL KA ERAR 2 800
629 & N 5549 Aents R AT & R 1 400
630 FTER L%y EenEL KA EAR 4 1360
631 #H = R, b5y AenFis KA AR 1 340
632 T A L%y EeREL KA ERAR 4 1600
633 BE%H 554 HERNF S KA AR 1 400
634 ITHE= L%y EenFo KA ERAR 3 1200
635 FEX EE S L ik KA AR 1 340
636 iR L%y EenEL RAT KA 1 340
637 N EE SR L ik R ALK R 1 400
638 kN Ly HeNTL KA R 1 400
639 A TE AR 5549 Aent4 R A& AR 1 340
640 2N LY KeNTL R AR 1 400
641 KEF EE SR L ik R ALK R 1 400
642 BT Lxy EenEL KA EAR 3 1380
643 2k HEhE BEARES KA AR 1 340
644 2] % EhE BARES KA EAR 3 1200
645 B RE HERE BERES KA AR 1 340
646 WEE ERE HERZES KA EAR 1 340
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647 g BRE BARZEL R ALK R 1 340
648 KEE EhE BARES RATE LR 4 1600
649 w5 A HERE BERES KA AR 2 800
650 DA EhE BARZES KA ERAR 2 680
651 4 AR ERE BARZEL R A& R 1 340
652 AR EhE BARZES KA ERAR 3 1380
653 EFTE HERE BERES KA EAR 1 340
654 RED EhE BARES KA EAR 1 340
655 W RA HEhE BEARES KA AR 2 680
656 iz ERE HERZES KA EAR 1 340
657 P il HRE BARZEL R ALK R 1 340
658 R X EhE BARES RATE AR 2 800
659 ki HERE BERES KA AR 1 400
660 IHE BhE BARZES KA AR 1 340
661 %5 E HRE BARZEL R AT & R 3 1020
662 ki EhE BARES KA EAR 1 340
663 Y%EE HERE BERES KA AR 2 800
664 AHE ERE HERZES KA R 1 340
665 EbF HEhE BEARES KA AR 2 680
666 FE EhE BARES KA EAR 1 400
667 I E 1 HERE BERES KA AR 1 340
668 %5 EhE BARES RAT KA 2 680
669 ailEE HERE BERES KA AR 2 680
670 M BhE BARZES KA ERAR 1 400
671 R X HRE BARZEL R AT & R 1 340
672 il EhE BARES KA ERAR 1 340
673 1 5 9 HERE BERES KA AR 1 400
674 # AL EhE BARES KA EAR 3 1200
675 FHE & HEhE BEARES KA AR 3 1380
676 ZER HERE HERZES KA EAR 1 340
677 KH R HhRE BARZEL R ALK R 5 2300
678 e EhE BARES RAT KA 1 400
679 KA HERE BERES KA AR 1 340
680 B A BhE BARZES KA ERAR 1 460
681 EHE HRE BARZEL R AT & R 1 340
682 Bt A EhE BARES KA EAR 2 800
683 BIETE HERE BERES KA AR 1 340
684 ZHEA EhE BARES KA ERAR 1 340
685 EHRD HERhE BEARES KA AR 2 680
686 0 E¥ ERE HERZES KA ERAR 3 1020
687 =] BRE BARZEL R ALK R 5 1700
688 [ EhE BARES RAT KA 2 680
689 TR BA HERE BEARES KA AR 1 340
690 R ERE BAREL KA ERAR 2 920
691 Yilia BRE BARZEL R A& AR 1 340
692 W& g ERE HERZES KA ERAR 1 400
693 Tk H A HERE BERES KA AR 1 340
694 X E EhE BARES KA EAR 1 340
695 WK HEhE BEARES KA AR 1 340
696 oA ERE HERZES KA EAR 1 400
697 & HERE BERES KA AR 1 340
698 ZEE EhE BARES RAT KA 1 400
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699 B X HERE BERES RAER 1 340
700 BN 3 EhE BARES RATE LR 1 340
701 ZAk HERE BERES KA AR 2 800
702 RIETE EhE BARZES KA ERAR 3 1020
703 eI ERE BARZEL R A& R 1 400
704 E5Y ERE HERZES KA ERAR 1 460
705 il BhE BARZEL R AT & R 4 1360
706 BRI = EhE BARES KA EAR 2 680
707 L% HEhE BEARES KA AR 2 680
708 ZHE EhE BARES KA EAR 4 1600
709 £ CIE HERE BERES KA AR 1 340
710 KEK EhE BARES RATE AR 1 400
711 o RE HERE BERES KA AR 1 400
712 THE ERE BAREL KA AR 3 1020
713 = HRE BARZEL R AT & R 1 400
714 o hE ERE HERZES KA EAR 2 680
715 T fF HERE BERES KA AR 3 1020
716 i ERE HERZES KA R 1 340
717 e HEhE BEARES KA AR 4 1600
718 kKEH EhE BARES KA EAR 2 680
719 i 175 BhRE BARZEL KA AR 3 1020
720 #51E EhE BARES RAT KA 3 1020
721 Z B A& HRE BARZEL KA AR 4 1360
722 A EZE ERE BAREL KA ERAR 2 800
723 Lol HRE BARZEL R AT & R 4 1600
724 B8 EhE BARES KA ERAR 1 340
725 ERE HhE BARZEL R ALK R 3 1020
726 EHEXE EhE BARES KA EAR 3 1020
727 e s HEhE BEARES KA AR 6 2040
728 iz HERE HERZES KA EAR 1 340
729 AN N HhRE BARZEL R ALK R 1 400
730 b= ERE HERZES RAT KA 1 400
731 & B HERE BERES KA AR 1 400
732 B K BhE BARZES KA ERAR 1 340
733 T HRE BARZEL R AT & R 3 1020
734 e ERE HERZES KA EAR 1 400
735 EIEAT BhE BARZEL KA AR 3 1200
736 X IF 1l EhdE BEARZES KA ERAR 1 400
737 L#EE EhE BHEARZES KA AR 3 1020
738 7K I EhdE BARZES KA ERAR 1 400
739 oK A ¥rE BHANZES R ALK R 1 400
740 % 3 3 i BHANZES RAT KA 3 1380
741 e T EhE BHEARZES KA AR 3 1200
742 =X EhdE BEARZES KA ERAR 3 1380
743 KIE R EhidE BARZES R A& AR 3 1020
744 4 F 4 Ehd BARZES KA ERAR 1 400
745 7K i hdE BARZES KA AR 1 400
746 e BhdE BEARZES KA EAR 1 400
747 K¥hE EhE BHEARES KA AR 1 400
748 B % i BHANZES KA EAR 3 1380
749 ZER ¥hE BHANZES R ALK R 1 340
750 Ko T ErE BRHEARZES RAT KA 1 400
%15 71, 3132 7




751 K= B ¥rE BHANZES R ALK R 1 400
752 F¥E EhE BARZES RATE LR 1 340
753 KED EhdE BARZES KA AR 2 800
754 X\ IF A EhdE BEARZES KA ERAR 1 400
755 EA R4 HEhidE BARZES R A& R 2 800
756 [ Ehd BARZES KA ERAR 2 920
757 [ ¥hE BHANZES R AT & R 1 460
758 i ¥ BHANZES KA EAR 2 680
759 kR X EhdE BARZES KA AR 2 800
760 HFrE EhdE BARZES KA EAR 1 400
761 KK ¥rE BHANZES R ALK R 2 800
762 K IFT EhdE BEARZES RATE AR 1 400
763 W E EhdE BARZES KA AR 1 400
764 I BhdE BEARZES KA AR 1 400
765 =X H HEhidE BARZES R AT & R 2 800
766 ke EhE BARZES KA EAR 2 800
767 KEE ¥hE BHANZES R AT & R 3 1200
768 Z 8 A EEHE AXE KA EAR 2 800
769 EE LEHE AXE R ALK R 1 340
770 TS EEHE AXE KA EAR 1 400
771 WERS LEHE AXE R ALK R 1 400
772 3 e EEHE AXE RAT KA 1 400
773 pEES SEHE ARXE R ALK R 1 400
774 XU AE Al SEEE AXE KA ERAR 3 1020
775 BE SEHYE AXE R AT & R 2 680
776 A KB EEHE AXE KA ERAR 2 680
777 X & Bl AEL SIT R ALK R 1 400
778 X A FlLEEAFEL NIT KA EAR 1 400
779 IEE Bl AEL I R ALK R 1 400
780 HEE FlLfEAEL NIT KA EAR 1 400
781 X W s Bl AEL ST R ALK R 1 400
782 3 Bl AEL NIT RAT KA 2 680
783 3% B AEL ST R ALK AR 1 400
784 BAE Bl AEL T RATEAR 1 340
785 AR LI B AEL ST R AT & R 1 340
786 X £ % Bl AEL NIT KA EAR 1 340
787 FHE Bl AEL ST R ALK R 4 1600
788 KED BlLEEAFEL NIT KA ERAR 1 340
789 IH%= Bl AEL SIT R ALK R 1 340
790 B EH Rl A EL R KA ERAR 1 400
791 7K % B B A EL R R ALK R 1 340
792 K H A FLfE A EL R RAT KA 1 460
793 IEL Bl A EL R R ALK R 5 1700
794 EeFER FLfE A EL R KA ERAR 2 800
795 ik Bl A EL R R A& AR 3 1200
796 KA X FLfE A EL R KA ERAR 2 680
797 TEH Bl A EL R R ALK R 3 1200
798 EHE FLfE A EL R KA EAR 4 1600
799 HIEE Bl A EL R R ALK R 2 800
800 KRG FLfE A EL R KA EAR 5 2000
801 HExn Bl A EL R R ALK R 1 340
802 & A FLfE A EL R RAT KA 3 1200
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803 B Z B A EL R KA AR 5 1700
804 KA K FLfE A EL R RATE LR 3 1200
805 Lk Bl A EL R R ALK AR 1 400
806 EEA FLfE A EL R KA ERAR 1 340
807 KK E Bl A EL R R A& R 3 1200
808 A FLfE A EL R KA ERAR 1 340
809 M= Bl A EL R R AT & R 1 340
810 JA R4 FLfE A EL R KA EAR 1 400
811 EIER FLE A EL R R ALK R 5 1700
812 R = FLfE A EL R KA EAR 1 400
813 BREZ B A EL R R ALK R 1 340
814 Tk BRlLEEAFEL XA RATE AR 1 340
815 o= Rl A EL ZH KA AR 1 400
816 KEE Bl A ELR R KA AR 1 340
817 Y= Bl A EL K R AT & R 3 1200
818 K fm HE RlLETEAEL ZH KA EAR 3 1020
819 oK Rl A EL K R AT & R 4 1600
820 KAE FLEEAEL KA KA EAR 1 400
821 EREs R A EL K R ALK R 1 400
822 FE FLEEAEL KA KA EAR 2 800
823 AXE Bl A EL K R ALK R 3 1020
824 M= )IR RlLEEAFEL XA RAT KA 2 680
825 % AR Rl A EL K R ALK R 1 400
826 & kI BRlLEEAFEL ZH KA ERAR 1 400
827 KE R Rl A EL K R AT & R 2 800
828 I g 4R BRlLETEAEL XA KA ERAR 1 340
829 Eiba Rl A EL K R ALK R 1 340
830 BAE BRlLEEAFEL XA KA EAR 1 340
831 HHeEZ R A EL K R ALK R 1 340
832 558 RlLEEAEL ZH KA EAR 2 680
833 R Bl A EL K R ALK R 1 400
834 XK= RlLEEAFEL XA RAT KA 1 400
835 BN Rl hEL K R ALK AR 1 340
836 R I HE Bl A ELR R KA ERAR 1 400
837 i Rl A EL K R AT & R 1 400
838 T 2 T BRlLTEAEL ZH KA EAR 2 680
839 KAE BEREE XE KA AR 1 400
840 ZIES BEHE XL KA ERAR 1 400
841 Jald BEHE L% KA AR 2 800
842 I A BEHE XE KA ERAR 1 460
843 ESiD. BEREE XE KA AR 1 400
844 R A BEHE XL RAT KA 3 1200
845 TR BEREE & KA AR 5 2300
846 B BEHAEE XL KA ERAR 2 800
847 E.e BEHE & R A& AR 1 340
848 =E3 BEHE A& KA ERAR 2 800
849 KoTE BEREE XE KA AR 1 460
850 oA BEHE XL KA EAR 1 460
851 B e e LT R ALK R 2 800
852 B X BEHEE AL KA EAR 4 1600
853 Edibn BEEE XE KA AR 2 800
854 KF W BEHEE A& RAT KA 1 340
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855 7K IR BEREE XE KA AR 1 460
856 o E BEAEE XE RATE LR 1 400
857 EFiE BEREE XE KA AR 2 680
858 = fE B BEEE X% KA ERAR 1 400
859 IFE BEHE X% R A& R 1 400
860 ERE BEHEE % KA ERAR 2 680
861 TG BEREE XE KA EAR 1 400
862 B4 BEHE XE KA EAR 1 340
863 X X BEEE L% KA AR 1 400
864 JE BEREE X% KA EAR 1 400
865 X1 3L BEEE XE KA AR 1 400
866 MEE BEaE X% RATE AR 1 400
867 ER DS BEHE XE R ALK AR 1 400
868 [ A= BEHEE XL KA AR 1 400
869 KEY BEHE & R AT & R 2 680
870 FED BEaE Xz KA EAR 2 680
871 JE L BEREE X% KA AR 2 800
872 REE BEHE XE KA EAR 3 1020
873 R S BEEE L% KA AR 2 680
874 JiEer BEREE X% KA EAR 2 800
875 EXE BEREE XE KA AR 4 1360
876 KEL BEHEE XE RAT KA 1 340
877 EREd BEREE XE KA AR 2 680
878 FAo BEHEE XL KA ERAR 2 680
879 i BEHE & R AT & R 1 400
880 R BEHEE & KA ERAR 2 680
881 JE 1B BEREE X% KA AR 6 2040
882 WEX BE e Bk KA EAR 1 340
883 /N BEaE B KA AR 1 400
884 7K KA BEAE Bk KA EAR 2 800
885 x| L BEHE B KA AR 1 340
886 7K % BEEE Bk RAT KA 1 340
887 KAEA BEHE B KA AR 2 800
888 X T B BEAE Bk KA ERAR 2 680
889 Cikaan BEaE B KA AR 2 680
890 7K X BEAE Bk KA EAR 3 1200
891 KEZ BT e Bk R ALK R 1 340
892 X\ i 4R BEHE Bk KA ERAR 5 1700
893 K 2 A BT e Bk R ALK R 3 1020
894 X R BEEE Bk KA ERAR 1 340
895 [ BEEE B KA AR 1 340
896 R BEaE Bk RAT KA 1 400
897 7K XX BEHE B KA AR 2 800
898 [ BEEE Bk KA ERAR 3 1020
899 KB BT e Bk R A& AR 2 680
900 M E#E BEAE Bk KA ERAR 1 460
901 WA R BEEE B KA AR 1 340
902 ZHEE BadE B4 KA EAR 1 340
903 Al 4 BédE R4 R ALK R 1 460
904 FHIY Biq T4 KA EAR 3 1380
905 X[ 4 HE B Fa KA AR 1 340
906 X\ 48 7T BieE B4 RAT KA 1 400
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907 #EE B Fa KA AR 1 460
908 ZHEZ BédE B4 RATE LR 1 400
909 piEES RAE R4 R ALK AR 3 1020
910 FHEE FEadE B4 KA ERAR 2 800
911 B E By B4 R A& R 1 340
912 B Béed B4 KA ERAR 2 800
913 7K >t RAE RH R AT & R 2 680
914 i BadE B4 KA EAR 1 340
915 1 BAdE R4 R ALK R 3 1020
916 7k Biq F4 KA EAR 3 1020
917 A B Fa KA AR 3 1020
918 ZL BédE B4 RATE AR 1 340
919 =EZ BAdE R4 R ALK AR 1 340
920 AP E X FEadE B4 KA AR 2 680
921 =N By B4 R AT & R 3 1020
922 Y& BédE B4 KA EAR 1 340
923 BEA RAE RH R AT & R 5 1700
924 K IE BadE B4 KA EAR 1 400
925 BHIE BédE R4 R ALK R 2 680
926 BT Biq F4 KA EAR 1 400
927 FE& BAE RH KA AR 1 340
928 KEE BédE B4 RAT KA 2 680
929 KA B B4 KA AR 2 680
930 JE fa FadE B4 KA ERAR 2 680
931 {7 T 2 By B4 R AT & R 2 680
932 T 5 % Béed B4 KA ERAR 3 1020
933 xR RAE RH R ALK R 1 340
934 FIE 2 BadE B4 KA EAR 1 340
935 x| iF 3% BAdE R4 R ALK R 1 340
936 TH® Biq F4 KA EAR 1 340
937 ke B Fa KA AR 1 340
938 BRE BédE B4 RAT KA 1 340
939 g BAdE R4 R ALK AR 4 1360
940 5 X FadE B4 KA ERAR 2 680
941 kK By B4 R AT & R 1 340
942 K E Béed B4 KA EAR 1 340
943 KEX RAE RH R ALK R 2 680
944 5% FédE B4 KA ERAR 1 340
945 FRE BadE FH R ALK R 1 400
946 B X Biq F4 KA ERAR 2 680
947 x| B B B4 KA AR 3 1020
948 % B Fa RAT KA 1 340
949 &= R RAE FK R ALK R 2 920
950 0 BAE FH KA ERAR 1 460
951 ki B Fra R A& AR 3 1020
952 == B Fa KA ERAR 1 460
953 7K [E IE RAE FK R ALK R 2 680
954 R B Fa KA EAR 2 680
955 2 1F B RAE FK R ALK R 3 1020
956 k& BAE i KA EAR 2 680
957 e B Fa KA AR 2 680
958 7K [ B Fa RAT KA 2 800

FA19 71, H 13271




959 e RAE FK R ALK R 2 680
960 2 B Fa RATE LR 2 680
961 7K A A RAE FK R ALK AR 1 340
962 W7 % BEAE i KA ERAR 1 460
963 e B Fa R A& R 2 680
964 E B Fa KA ERAR 2 680
965 Z B RAE FK KA EAR 4 1360
966 EZ BAE Fa KA EAR 1 340
967 & RAE FK R ALK R 1 340
968 Z F[H BAHE Fa KA EAR 1 340
969 ZH5H RAE K R ALK R 5 1700
970 BEE B Fa RATE AR 1 340
971 &% A4 iz 5 KA AR 3 1020
972 TR M4 iz 5 KA AR 1 460
973 TEL HAEE =5 R AT & R 2 920
974 WA M4 iz 5 KA EAR 3 1200
975 R HA#E =5 R AT & R 2 680
976 K AAL A4 iz 5 KA EAR 2 680
977 R HA#E =5 R ALK R 1 460
978 b= HEE - g KA EAR 2 920
979 EEME HA#E =5 R ALK R 1 400
980 X M4 iz 5 RAT KA 3 1020
981 EX b HAEE =5 R ALK R 3 1020
982 X & F A4 iz g KA ERAR 2 920
983 = E HAEE =5 R AT & R 1 400
984 %K A4 iz 5 KA ERAR 2 800
985 X 48 HA#E =5 R ALK R 4 1360
986 FER A4 iz 5 KA EAR 2 680
987 ERE HA#E =5 R ALK R 2 800
988 XU {7 &k H#4E iz g5 AR AR 3 1380
989 A HAEE =5 R ALK R 3 1020
990 X ¥ M4 iz 5 RAT KA 3 1020
991 7K HAEE =5 R ALK AR 1 340
992 Z M4 iz 5 KA ERAR 1 340
993 7K % B H#E =5 R AT & R 1 340
994 AN | A4 iz 5 KA EAR 3 1020
995 FA5 HA#E =5 R ALK R 1 340
996 X #E A HE#E 5 5 KA ERAR 6 2040
997 i HA#E =5 R ALK R 1 340
998 X B % B Rl KA ERAR 1 460
999 KA A Rl R ALK R 1 460
1000 4 5] HAEE S RAT KA 1 340
1001 &= A A Rl R ALK R 2 920
1002 BAE HAEdE S KA ERAR 1 400
1003 £ EW Eila - R A& AR 1 340
1004 KEE At Sl KA ERAR 1 340
1005 A AEE F KA AR 2 680
1006 £ %5 AEdE S KA EAR 1 340
1007 RIFF A Rl R ALK R 2 680
1008 B AfE R KA EAR 1 340
1009 i Eil - R ALK R 2 680
1010 E A= HAfdE S RAT KA 1 340
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1011 R4 fo Eila - R ALK R 1 340
1012 BEZ AEE Fl RATE LR 3 1020
1013 7K 15 BF AEE S KA AR 2 680
1014 E=XH AfEE Fl KA ERAR 2 680
1015 EXP Eila - R A& R 1 460
1016 =5k AfE R KA ERAR 2 800
1017 X # ¥ A Rl R AT & R 2 680
1018 =z AEHE Fl KA EAR 1 400
1019 # K HfE Rl R ALK R 2 680
1020 ReEH A#EE Al KA EAR 1 340
1021 HEZE Eil - R ALK R 1 400
1022 R AEE Fl RATE AR 3 1020
1023 RFEA A Rl R ALK AR 1 340
1024 EER T REE TR KA AR 1 340
1025 R T RE TR R AT & R 2 680
1026 X E R T REE TR KA EAR 1 340
1027 ER=Z TRE TR R AT & R 1 340
1028 KE & TREE TR KA EAR 1 340
1029 HE TRE TR R ALK R 1 400
1030 X I FRE TR KA EAR 2 680
1031 [ 3=kan TRE TR R ALK R 1 340
1032 R T REE TR RAT KA 1 340
1033 A% FRE TR KA AR 2 680
1034 KX TREE TR KA ERAR 1 340
1035 BEZ T RE TR R AT & R 1 340
1036 By T REE TR KA ERAR 1 340
1037 REE TRE TR R ALK R 1 400
1038 BARE TREE TR KA EAR 1 340
1039 B #A TRE TR R ALK R 2 800
1040 REZ FRE TR KA EAR 2 680
1041 P eI T RE TR R ALK R 2 680
1042 I B T REE TR RAT KA 1 340
1043 I FRE TR KA AR 1 340
1044 N TREE TR KA ERAR 1 340
1045 X e T RE TR R AT & R 1 340
1046 T &M T RE TR KA EAR 1 340
1047 Ciikiibia TRE TR R ALK R 2 800
1048 I4EH T REE TR KA ERAR 2 680
1049 = e TRE TR R ALK R 1 400
1050 X BEE FRE TR KA ERAR 1 340
1051 A= TRE TR R ALK R 1 340
1052 KA FE T REE TR RAT KA 1 340
1053 b &L FRE TR KA AR 1 340
1054 B TREE TR KA ERAR 2 680
1055 [ iz TRE TR R A& AR 2 680
1056 FLE T REE TR KA ERAR 2 680
1057 bAE TRE TR R ALK R 1 340
1058 FRZ TREE TR KA EAR 1 340
1059 x| B & TRE TR R ALK R 2 680
1060 7Kk 3 FRE TR KA EAR 2 680
1061 X Z T RE TR R ALK R 1 340
1062 = FHE T REE TR RAT KA 1 340
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1063 X 38 TRE TR R ALK R 1 340
1064 HE s T REE TR RATE LR 1 340
1065 EHE TRE TR R ALK AR 1 340
1066 I# T RE TR KA ERAR 1 340
1067 He TRE TR R A& R 1 340
1068 ¥ Al T RE TR KA ERAR 1 340
1069 KFE®L TRE TR R AT & R 1 340
1070 EZ A TREE TR KA EAR 1 340
1071 B T REE E R ALK R 2 680
1072 TR T REE WE KA EAR 1 400
1073 2 2 B T REE E R ALK R 2 680
1074 KFER T EE LR RATE AR 2 800
1075 Ms = T REE E R ALK AR 1 340
1076 FEE T REE LR KA AR 1 340
1077 HOE T RE LR R AT & R 3 1200
1078 & FREE LR KA EAR 2 680
1079 el T RE L E R AT & R 1 400
1080 Z T REE LR KA EAR 2 800
1081 RS T RE W E R ALK R 1 460
1082 F X T RE LR KA EAR 2 680
1083 7K E I T RE L E R ALK R 2 800
1084 # 7% 48 FREE LR RAT KA 2 680
1085 I Wi T RE L E R ALK R 2 680
1086 FEX FREE LR KA ERAR 2 800
1087 JIL T RE L E R AT & R 1 340
1088 A9 F FREE R KA ERAR 1 460
1089 # IF f7 T REE E R ALK R 1 400
1090 & X T EE LR KA EAR 1 340
1091 il T RE W E R ALK R 1 400
1092 [ ain T REE W E KA EAR 1 400
1093 7K T RE W E R ALK R 2 800
1094 7K 3 LEREY s _HXEZ S RAT KA 2 680
1095 e EREE s _HKXEZ 4 KA AR 3 1200
1096 EFE LEEY s _HXEZ S KA ERAR 1 400
1097 JEALA BEREE o _HKXEZ 4 R AT & R 3 1020
1098 SRR LABYE b _HXEE S KA EAR 4 1360
1099 & i % LEEBYE 4 _HREZ S KA AR 1 400
1100 & fm IE LEREY s _HXEZ S KA ERAR 3 1200
1101 T fm % EREE s _HKXEZ 4 KA AR 2 800
1102 XEY LEEY s _HKXEZS KA ERAR 4 1360
1103 i = Ry ThiE R ALK R 1 460
1104 7K 2% WS ThiE RAT KA 2 920
1105 # 1F fF WS ThiE KA AR 1 400
1106 7K K Jr RS HiE KA ERAR 1 400
1107 I R%F WH s ThiE R A& AR 2 800
1108 7Kk = WS THhiE KA ERAR 1 460
1109 B R Wy ThiE KA AR 1 400
1110 vk R Y HhiE KA EAR 1 400
1111 KRG Wy ThiE R ALK R 1 400
1112 X E K WS ThiE KA EAR 2 800
1113 2 Wy ThiE KA AR 1 400
1114 FARTT WS THhiE RAT KA 2 800
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1115 ZF R WH s ThiE R ALK R 2 800
1116 Kok = WS ThiE RATE LR 1 340
1117 B X E WH s ThiE R ALK AR 1 400
1118 IR=E ko ThiE KA ERAR 1 340
1119 HEEE WH s ThiE R A& R 2 920
1120 FE i WS THhiE KA ERAR 2 800
1121 B X E WH s ThiE R AT & R 1 400
1122 FEFE Nk o ThiE KA EAR 1 400
1123 BEY WS HhiE KA AR 1 340
1124 2AE WS ThiE KA EAR 1 460
1125 B E X WH s ThiE R ALK R 2 680
1126 X 4 % WS THhiE RATE AR 1 340
1127 FIEE WS ThiE R ALK AR 1 340
1128 KA RS HhiE KA AR 1 400
1129 K WS HhiE R AT & R 1 400
1130 ek WS THhiE KA EAR 2 800
1131 M E Wy ThiE R AT & R 2 800
1132 BARIF RS HhiE KA EAR 1 400
1133 BA WS ThiE KA AR 1 400
1134 BN WS ThiE KA EAR 1 400
1135 R Ry ThiE R ALK R 1 400
1136 ITRE WS THhiE RAT KA 1 400
1137 FXFH WS ThiE KA AR 1 400
1138 R RS HiE KA ERAR 1 400
1139 BER WH s ThiE R AT & R 1 400
1140 % WS THhiE KA ERAR 1 400
1141 B WS ThiE KA AR 1 400
1142 X g Nk o ThiE KA EAR 1 400
1143 LIEAT MNE Y HAE KA AR 3 1380
1144 Xk B MNE Y HAE KA EAR 2 920
1145 EH= MZE o #HAE R ALK R 2 920
1146 R ME & HAE RAT KA 1 400
1147 ERE NZE 2 #HAE R ALK AR 1 400
1148 RAX MNE Y HAE KA ERAR 2 920
1149 BRE MNE S HAE R AT & R 2 800
1150 XE ME & #HAE KA EAR 1 400
1151 AR MZE 2 #HAE R ALK R 1 400
1152 7K & B MNE Y HAE KA ERAR 3 1380
1153 #HIEE NZE 2 #HAE R ALK R 1 400
1154 BAA MNE Y HAE KA ERAR 2 920
1155 B AR MZE 2 #HAE R ALK R 2 680
1156 Rl ME & HAE RAT KA 1 400
1157 FE X NZE 2 #HAE R ALK R 1 400
1158 RE MNE Y HAE KA ERAR 2 920
1159 FA= ME 2 #HAE R A& AR 1 400
1160 ?‘&7%‘ ME Y HAE KA ERAR 1 340
1161 A MZE 2 #HAE R ALK R 2 920
1162 ?nn MNE Y HAE KA EAR 1 400
1163 F=-= NZE 2 #HAE R ALK R 3 1200
1164 AL MNE Y HAE KA EAR 1 400
1165 wEH MZE o #HAE R ALK R 1 400
1166 Tt MNE & HAE RAT KA 1 400
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1167 EEAE NZE s #HAE R ALK R 1 400
1168 B AR ME & HAE RATE LR 1 400
1169 RIEAT MZE 2 #HAE R ALK AR 1 340
1170 mAER ME 5 #HAE KA ERAR 1 400
1171 BEEH ME S HAE R A& R 1 400
1172 1 % ME Y #HAE KA ERAR 2 800
1173 Z B MZE 2 #HAE R AT & R 2 800
1174 "IEE ME 5 #HAE KA EAR 1 400
1175 FE X NZE 2 #HAE R ALK R 2 800
1176 B4 MNE Y HAE KA EAR 1 400
1177 FXRZ MZE s #HAE R ALK R 1 400
1178 BEE ME & HAE RATE AR 2 800
1179 Bt NZE 2 #HAE R ALK AR 1 400
1180 B E 7K ME & HAE KA AR 1 400
1181 R ME 2 #HAE R AT & R 3 1200
1182 4 AE ME Y #HAE KA EAR 1 400
1183 Y% MZE 2 #HAE R AT & R 1 400
1184 9l MNE & HAE KA EAR 1 400
1185 XX 4 NZE 2 #HAE R ALK R 1 400
1186 ®IExE MNE Y HAE KA EAR 1 340
1187 iz Flg bRXNEL R ALK R 2 800
1188 FHE Fly BRXRES RAT KA 1 400
1189 B LR Ty BRNES KA AR 2 800
1190 ¥ Fhy BRXRES KA ERAR 1 400
1191 BHM FLhs AR ZES R AT & R 1 400
1192 TR Fhy BRXRES KA ERAR 1 340
1193 HA= Ty BRRNES KA AR 2 800
1194 AR Fhy BRXRES KA EAR 2 800
1195 FeE Ty BRXRNES KA AR 2 800
1196 K& Fhy BRXRNES KA EAR 3 1200
1197 LTHRE Ty BRRNES KA AR 4 1600
1198 HXE Fhy BRXRES RAT KA 1 400
1199 Bt Ty BRNES KA AR 1 400
1200 ZF Rl Fhy BRXRES KA ERAR 1 400
1201 B & Fhy AR ZES R AT & R 1 400
1202 ARK Fhy BRXRES KA EAR 3 1020
1203 T_# Flg bRXNEL R ALK R 1 400
1204 BE= Fhy BRXRES KA ERAR 2 800
1205 I % Fg bRXHNEL R ALK R 1 400
1206 TR E Fhy BRXRES KA ERAR 2 800
1207 Bt Fls bRXNEL R ALK R 2 680
1208 K= Fhy BRXRES RAT KA 2 800
1209 S dlita Ty BRNES KA AR 2 800
1210 Ena: Fhy BRXRES KA ERAR 1 460
1211 EE A Fhs AR ZES R A& AR 1 400
1212 iR Fhy BRXRES KA ERAR 1 400
1213 XA Flg bRXNEL R ALK R 3 1380
1214 EHER Fhy BRXRES KA EAR 1 400
1215 LARE Ty BRXRNES KA AR 1 400
1216 R Fhy BRXRES KA EAR 2 800
1217 HAE Fls bRXNEL R ALK R 2 800
1218 BE Fly BRXRES RAT KA 1 400

524 51, H 1327




1219 Bz Ty bRXNEL R ALK R 2 800
1220 KANE 5% 4 FIRZES RATE LR 3 1200
1221 I 5% 4% FHIHZS KA AR 2 800
1222 g 5% 4 FIRZES KA ERAR 2 800
1223 15 5% 5% 4% FIHZS R A& R 1 340
1224 IRt 5% Y FAAZESL R AR 1 400
1225 BRE 5% % FHZE4S KA EAR 2 800
1226 AR 5% Y FHAAZESL KA R 2 680
1227 i £ 5% 4% FIHZS KA AR 2 800
1228 ¥t E 5% Y FHAAZESL KA R 2 800
1229 IHRFE 5% % FHZE4S KA AR 1 400
1230 hEES 5%y FHAAZESL KA EAR 3 1200
1231 FHE 5% 4% FIHZS KA AR 1 400
1232 WARE 5%y FHAAZESL KA R 2 800
1233 RIE T 5% 4% FHIHZS R AT & R 2 800
1234 FHBE 5% 4% FIRZES KA EAR 1 400
1235 MBS 5% % FHZE4S KA AR 4 1600
1236 THE 5%y FHAAZESL KA R 2 800
1237 B X AH 5% 4% FIHZS KA AR 1 400
1238 Z A 5%y FHARZESL KA R 2 800
1239 fE A A 5% % fHZE4S KA AR 3 1200
1240 £ = 5% Y FHAAZESL KA EAR 1 400
1241 e 5%y fAHZES RA R 5 2000
1242 kiEE 5%y FHAAZESL KA R 1 400
1243 159 5% 4% FHIHZS R AT & R 1 400
1244 F R 5%4% FIRZES KA ERAR 1 400
1245 R IFAE 5% % FHAZE4S KA AR 1 400
1246 =5 5%y FHAAZESL KA R 2 800
1247 EN:¢ 5% 4% FIHZS KA AR 2 800
1248 7K 2R 5%y FHARZESL KA R 2 800
1249 K= 5% % fHZE4 KA AR 7 2800
1250 I 5%y FHIAZESL KA EAR 1 400
1251 X 5 5% 4% FHIHZS KA AR 6 2400
1252 ZRE 5% 4 FIRZES KA ERAR 1 400
1253 LEH 5% 4% FHIHZS R AT & R 1 340
1254 F- S 5%y FHARZESL R AR 2 680
1255 ED 5% % FHAZE4S KA AR 2 800
1256 FHE 5% Y FHIAZESL KA R 2 800
1257 E XK 5% 4% FIHZS KA AR 2 800
1258 Z 5%y FHAAZESL KA R 2 800
1259 wH = 5% % FHZE4 KA AR 1 400
1260 X 2 5%y FHAAZESL KA EAR 1 400
1261 CRER 5% 4% FHIHZS KA AR 1 400
1262 WK 5% 4 FIRZES KA ERAR 2 800
1263 K = 5% 4% FHIHZS R A& AR 2 800
1264 T KH 5% Y FAAZESL R AR 2 800
1265 AN E 5% % FHZE4S KA AR 1 340
1266 Fr= 5%y FHAAZESL KA R 1 400
1267 A 5% 4% FIHZS KA AR 2 800
1268 EAAL 5% Y FHAAZESL KA R 1 340
1269 ZH 5% % fHZE4 KA AR 1 400
1270 ZEHY 5%y FHAAZESL KA EAR 1 400
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1271 e 5% % FHZE4S KA AR 2 680
1272 -G EVin 5% 4 FIRZES RATE LR 2 680
1273 & 7 3 5% 4% FHIHZS KA AR 2 800
1274 KA 5% 4 FIRZES KA ERAR 1 460
1275 ki Ea 5% 4% FIHZS R A& R 2 800
1276 A= 5%4% FIRZES KA ERAR 1 400
1277 B4 5% 4% FHIHZS KA EAR 1 400
1278 e 5% 4 FIRZES KA EAR 1 400
1279 B KA 5% 4% FIHZS KA AR 3 1200
1280 ZHEE 5% 4% FIRZES KA EAR 2 800
1281 KN 5% % FHZE4S KA AR 1 400
1282 i 5% 4% FIRZES RATE AR 1 460
1283 FEA 5% 4% FIHZS KA AR 1 400
1284 XA 5% 4 FIRZES KA AR 1 340
1285 [ 5% 4% FHIHZS R AT & R 1 400
1286 & K fE A PRERES KA EAR 1 400
1287 KR R ERENZES KA AR 3 1380
1288 e & R ERENZS KA EAR 2 800
1289 IR oA ERERES R ALK R 2 800
1290 T4 B ERERES KA EAR 2 800
1291 &[T R ERENZES KA AR 2 800
1292 WEE A PRERNES RAT KA 3 1020
1293 AN AN oA ERERES R ALK R 1 400
1294 KXE R ERENZS KA ERAR 2 800
1295 e HEE ERENES R AT & R 2 800
1296 &= B4R A ERERNES KA ERAR 2 800
1297 AIE#E ¥oREE EIRERES R ALK R 2 800
1298 e R ERENZS KA EAR 1 400
1299 g ¥oREE ERERES R ALK R 1 340
1300 XX A B ERERES KA EAR 2 800
1301 k= HEE ERERES KA AR 2 800
1302 [ R ERENE S RAT KA 3 1380
1303 Y RE oA ERERES R ALK AR 1 400
1304 1T 42 0k R ERENZS KA ERAR 2 920
1305 KAl HEE ERENES R AT & R 1 400
1306 # IE 4 A PRERNES KA EAR 2 800
1307 KA E R ERENZES KA AR 2 800
1308 WFAR HEE EPRENZES KA ERAR 2 800
1309 BAT oA ERERES R ALK R 1 400
1310 7k IF & R LRENZES KA ERAR 1 340
1311 i HhRE PEINRZES R ALK R 1 400
1312 X ik BhE TEINES RAT KA 2 800
1313 1 ANV BhE PRI S R ALK R 1 400
1314 7 L BhE TREINES KA ERAR 3 1020
1315 EAER HhRE PEINES R A& AR 1 400
1316 I b EhE TEINES KA ERAR 1 340
1317 B A HhRE PEIRZES R ALK R 3 1200
1318 AN BhE TREINES KA EAR 2 920
1319 JE % BhE PREINZ S R ALK R 1 460
1320 X = EhE TEINES KA EAR 2 800
1321 7K W HhRE PEINRES R ALK R 3 1200
1322 [iXizh BhE TREINES RAT KA 2 920
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1323 Z Ik BhRE PEINRES KA AR 1 400
1324 Z AR EhE TEINES RATE LR 2 800
1325 REE R TREINES KA AR 2 800
1326 AV BhE TREINES KA ERAR 1 400
1327 e MR TRINES KA AR 1 400
1328 M AR BhE TEINES KA ERAR 1 400
1329 7K 12 1] BhE PEIRZES KA EAR 2 800
1330 ZHAE BhE TEINES KA EAR 2 800
1331 ik BhE PR INZ S R ALK R 1 400
1332 £EX EhE TEINES KA EAR 1 400
1333 TAH HhRE PEIRES KA AR 1 400
1334 R BhE TREINES RATE AR 3 1200
1335 RET R TEINES KA AR 2 800
1336 Dl BhE TREINES KA AR 1 400
1337 H %2 HhRE PEIRES R AT & R 1 400
1338 B2 BhE TREINES KA EAR 1 400
1339 Yes BhE PEIRZES R AT & R 1 400
1340 Z g BhE TEINES KA EAR 1 400
1341 ZXE R TEINES KA AR 1 400
1342 T EhE TEINES KA EAR 1 400
1343 TAR HhRE PEINRES R ALK R 2 800
1344 X <A EhE TEINES RAT KA 2 800
1345 A HhE PEINRNZES R ALK R 3 1020
1346 # i A SEME R KA ERAR 6 2040
1347 T SEEE MH KA AR 1 400
1348 KRR S MH KA ERAR 1 340
1349 & XK SEHE R R ALK R 1 400
1350 HER A SEEE MH KA EAR 1 340
1351 EXEXI2 SERFE R R ALK R 2 680
1352 E ] SEEE BMH KA EAR 2 680
1353 e &3 SEEE MHF KA AR 1 400
1354 HEu SEEE MH RAT KA 1 400
1355 YA SEHE A R ALK AR 1 400
1356 #kIE SEHE R KA ERAR 3 1020
1357 B = SEEE MH R AT & R 1 460
1358 BE X SEEE BMH KA EAR 1 340
1359 EO SEHE R R ALK R 1 400
1360 [ SEEE MH KA ERAR 1 340
1361 = SERFE B R ALK R 1 340
1362 EE SEEE MH KA ERAR 3 1020
1363 i SEHFE R R ALK R 1 340
1364 A SEEE MH RAT KA 1 340
1365 K SEHE A R ALK R 1 400
1366 Y%= SEEE MH KA ERAR 1 340
1367 BRI SEHE R R A& AR 1 340
1368 Hx% SEEE MH KA ERAR 1 400
1369 F x4 SEEE MHF KA AR 6 2400
1370 AR SEEE MH KA EAR 1 340
1371 g Rl AEL HE R ALK R 2 800
1372 B EK RlLETEAEL FE KA EAR 2 800
1373 KA Rl A ELN B KA AR 1 340
1374 BRI E RlLETEAEL FHE RAT KA 1 400
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1375 A Ak IR Rl A EL FE KA AR 1 400
1376 % — RlLBTEAEL FHE RATE LR 1 340
1377 = E Rl A EL FE KA AR 1 400
1378 HEE RlLEEAEL FHE KA ERAR 1 400
1379 # E 9 Rl AER B KA AR 1 400
1380 T B RlLETEAEL B KA ERAR 1 400
1381 AT RlLTEAEL FE KA EAR 1 400
1382 JE #73H RlLEEAEL FE KA EAR 1 400
1383 KHA HaLgE R ALK R 1 340
1384 A& ol Al KA EAR 1 400
1385 A AL EALE Rl KA AR 1 400
1386 X EE FEALE &l RATE AR 1 340
1387 AEZ kAL Al KA AR 1 400
1388 LA EALE R KA AR 1 340
1389 X % HaL4E R AT & R 1 400
1390 ITE% FALE &l KA EAR 2 680
1391 FHE EALE AL R AT & R 2 800
1392 O & 5g AL R KA EAR 2 680
1393 I F EALE AL KA AR 2 680
1394 X 7 ol Al KA EAR 1 340
1395 &R A HEaL4E R ALK R 1 400
1396 AV AL R RAT KA 1 340
1397 AHZ EALE AL KA AR 1 340
1398 XX 3 AL R KA ERAR 1 400
1399 X% FALE Al R AT & R 2 680
1400 D FAL4E KL KA ERAR 2 800
1401 TH%E EALE AL KA AR 2 800
1402 & Ik AL R KA EAR 2 800
1403 & g FEALE EL KA AR 2 680
1404 & AT FALE AL KA EAR 1 340
1405 XK FEALE R KA AR 1 340
1406 FIEF LA KL RAT KA 1 340
1407 {7 4 A kAL Al KA AR 2 680
1408 = EALE R KA ERAR 3 1200
1409 iR HEaL4E R AT & R 1 340
1410 T AL R KA EAR 2 680
1411 F T HE EALE AL KA AR 2 800
1412 K= AL R KA ERAR 3 1020
1413 X K% HabgE E R ALK R 1 340
1414 - AL &AL KA ERAR 2 800
1415 AR FEALE KL KA AR 1 340
1416 EEX AL R RAT KA 1 340
1417 e FEALE L KA AR 1 340
1418 i AL R KA ERAR 1 340
1419 R HaL4E E R A& AR 3 1020
1420 & AL R KA ERAR 1 340
1421 B EH EALE AL R ALK R 4 1360
1422 it F AL R KA EAR 1 340
1423 X 4 A HaLE R ALK R 1 340
1424 FE2 AL &AL KA EAR 2 680
1425 KE¥E HEaL4E R ALK R 1 340
1426 =3 AL R RAT KA 1 340
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1427 = A HEaLgE R ALK R 1 340
1428 T B3 LA KL RATE LR 1 340
1429 X HEaLgE R ALK AR 1 340
1430 R B AL R KA ERAR 1 340
1431 TR FALE Al R A& R 1 340
1432 X = EALE R KA ERAR 1 340
1433 EZN EALE AL R AT & R 1 340
1434 X & FALE &AL KA EAR 1 340
1435 RS kAL Al KA AR 1 340
1436 EAE ol Al KA EAR 1 340
1437 EE4a FALE &AL KA AR 1 400
1438 Ixa R /B RATE AR 1 460
1439 IXRE RAdE B R ALK AR 3 1020
1440 R F BAdE 1 fE KA AR 6 2040
1441 F 5 RAGE B R AT & R 1 340
1442 ke BA4E 41fE KA EAR 3 1020
1443 e R RAd B R AT & R 3 1020
1444 Y ek B4 L1fE KA EAR 1 340
1445 FE R RAdE 1B R ALK R 2 680
1446 = R fE KA EAR 1 340
1447 ex1 % RA4E 1B R ALK R 5 1700
1448 =RK BA4E L1fE RAT KA 2 680
1449 7K E & RAdE B R ALK R 1 340
1450 KEE BAdE o fE KA ERAR 4 1360
1451 BB RAG B R AT & R 3 1020
1452 & F¥ BA4E 41fE KA ERAR 5 1700
1453 FIEE B4 1B KA AR 2 680
1454 AR BAdE i fE KA EAR 2 680
1455 ELNS RAdE B R ALK R 4 1360
1456 TR R /B KA EAR 1 340
1457 &Rk B4 1B R ALK R 2 680
1458 EE# RAE /8 RAT KA 3 1020
1459 THE RAdE B R ALK AR 2 680
1460 F XA BA4E L1fE KA ERAR 4 1360
1461 FRHE RAG B R AT & R 3 1020
1462 il R /B KA EAR 3 1020
1463 e RAdE B R ALK R 3 1020
1464 M 4 B4 L1fE KA ERAR 4 1360
1465 2= hu ok RAdE 1B R ALK R 3 1020
1466 R R /B KA ERAR 3 1020
1467 E4W RAd B R ALK R 3 1020
1468 FHD RAE /8 RAT KA 3 1020
1469 M E R RAd B R ALK R 3 1020
1470 EHE BAE 1 fE KA ERAR 1 340
1471 b s RAGE B R A& AR 1 340
1472 7K T Al BAdE B KA ERAR 1 340
1473 e RAdE B R ALK R 7 2380
1474 KR BA4E 41fE KA EAR 3 1020
1475 i RAd B R ALK R 3 1020
1476 Ei BAdE 1B KA EAR 1 340
1477 ER RA4 B R ALK R 1 340
1478 AHRE R /B RAT KA 1 340
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1479 I R¥ RA4E 1B R ALK R 2 800
1480 IXH RAE /B RATE LR 2 800
1481 K AR, RAdE B R ALK AR 1 340
1482 B B2HEE G E KA ERAR 1 400
1483 A RHEE FEE R A& R 1 340
1484 KIFE B FEE KA ERAR 3 1020
1485 &R Bl FEE R AT & R 2 800
1486 L B2E FEE KA EAR 1 400
1487 oA B FEHE KA AR 3 1380
1488 ITEL B2E FEE KA EAR 1 340
1489 w7 RHEE FEE R ALK R 1 460
1490 I 4¥ RAiEE FHE RATE AR 2 800
1491 &R B FEHE R ALK AR 1 340
1492 KA F RHEE FEE KA AR 2 800
1493 W% = Bl FEE R AT & R 2 680
1494 % % 1 B FEE KA EAR 1 340
1495 KA 1E B FEE R AT & R 2 680
1496 B IRAR B2E G E KA EAR 3 1020
1497 MED B FUE KA AR 1 400
1498 kFEX B2E FEE KA EAR 2 680
1499 HEX RHEE GEE R ALK R 2 800
1500 HE B2hE FEE RAT KA 1 400
1501 EBEE B FEHE R ALK R 2 680
1502 7K 22 M T RE ¥E KA ERAR 4 1360
1503 oK = T RE ¥ H R AT & R 2 800
1504 K AF FEE EE KA ERAR 1 340
1505 A= T RE ¥ H R ALK R 1 340
1506 ZRZ TEE B KA EAR 3 1020
1507 7K 15 BF T RE £H R ALK R 2 680
1508 K E TREE B AR AR 3 1020
1509 e TRE ¥H R ALK R 1 340
1510 7K R fE TREE EE RAT KA 1 340
1511 2 8 TRE EE KA AR 3 1020
1512 e L%k TEE B KA ERAR 3 1020
1513 R AR T RE ¥H R AT & R 1 340
1514 e T REE EE KA EAR 1 340
1515 7K X T RE ¥ H KA AR 2 680
1516 F#HE TEE B KA ERAR 2 680
1517 B R T RE £H R ALK R 1 460
1518 K IF % TREE B KA ERAR 2 680
1519 KA T RE ¥ H R ALK R 1 340
1520 8T TREE EE RAT KA 4 1360
1521 [ TRE ¥ H R ALK R 1 340
1522 FT¥ TEE B KA ERAR 1 340
1523 K R ER T EE EE R A& AR 1 340
1524 &= ¥% T EE EE KA ERAR 3 1020
1525 Fx# TRE ¥ H R ALK R 1 340
1526 K XP TEE B KA EAR 3 1020
1527 P T RE £H R ALK R 1 340
1528 3 TREE B KA EAR 1 340
1529 B TRE ¥H R ALK R 3 1020
1530 EZ T RE FE RAT KA 1 340
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1531 7K A T RE ¥ H R ALK R 1 340
1532 e TREE EE RATE LR 1 340
1533 FEE TRE EE KA AR 2 680
1534 TE% TEE B KA ERAR 1 340
1535 EAEF TEE KEH R A& R 1 400
1536 ARt 2 wTEE KEH KA ERAR 1 460
1537 e R TEEE KEH KA EAR 1 460
1538 7K IE T BTES KEM KA EAR 2 800
1539 %% TEEE KEH KA AR 1 400
1540 g ZE BTEH KEHM KA EAR 2 800
1541 X E TEEE KEH R ALK R 2 800
1542 S H I BTES KEM RATE AR 4 1360
1543 ¥R BTEEE KEH R ALK AR 1 340
1544 7K X BTES KEM KA AR 1 400
1545 KEE BTEE KEH R AT & R 2 800
1546 I BTEH KEM KA EAR 1 400
1547 [ ANy TEEE KEH KA AR 2 800
1548 KA BTES KEM KA EAR 1 400
1549 KkZ bAREE e KA AR 1 340
1550 FAE LERER & KA EAR 3 1020
1551 & AR B REE pE R ALK R 1 460
1552 REZ LEREE & RAT KA 1 400
1553 ROCER LREE g R ALK R 1 340
1554 FHERE LREE BE KA ERAR 1 340
1555 AR L REE g R AT & R 2 800
1556 KiEZ LREE e KA ERAR 2 800
1557 T EA LREE g R ALK R 3 1020
1558 REZ LEREE & KA EAR 1 460
1559 K E LEREE g R ALK R 1 340
1560 E i LEREE & KA EAR 1 400
1561 APE L REE g R ALK R 2 800
1562 KiEH LEREE & RAT KA 1 400
1563 g IFE bAREE e KA AR 1 400
1564 e L REE g KA ERAR 1 340
1565 e b AREE s R AT & R 3 1020
1566 K t= LERER E KA EAR 2 800
1567 et B REE pE R ALK R 1 340
1568 14 LEREE & KA ERAR 2 680
1569 B LREE g R ALK R 3 1020
1570 e LERER & KA ERAR 2 800
1571 ik B REE pE R ALK R 2 680
1572 BEE LEREE & RAT KA 1 400
1573 K iF & LREE g R ALK R 1 400
1574 KL T LREE BE KA ERAR 3 1200
1575 MR % B REE pE R A& AR 1 340
1576 KT LERER & KA ERAR 1 340
1577 A Y XH R ALK R 1 340
1578 Tk Al 3 NS XA KA EAR 3 1200
1579 KR X RS XM KA AR 1 340
1580 KA Lk S XHk KA EAR 1 340
1581 BARE R Y XH R ALK R 1 340
1582 K vk S Ik RAT KA 1 340
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1583 ZE 5 R Y XH R ALK R 1 340
1584 FHA& % Ik RATE LR 2 680
1585 FHE RS XH R ALK AR 6 2400
1586 A 4k NS XA KA ERAR 1 340
1587 7K A4 B G XH R A& R 3 1020
1588 S S XHk KA ERAR 3 1020
1589 THE RS XH R AT & R 2 680
1590 HRE NS XA KA EAR 1 340
1591 X% RS XM KA AR 2 920
1592 kKL= % XHk KA EAR 2 680
1593 e R Y XH R ALK R 1 340
1594 e S Ik RATE AR 1 340
1595 M x Y XH R ALK AR 2 920
1596 KaAFH NS XA KA AR 2 800
1597 7Kz % G XH R AT & R 1 340
1598 i S XHk KA EAR 1 340
1599 FEL RS XM R AT & R 1 340
1600 BAR NS XA KA EAR 1 340
1601 K RS Hk KA AR 2 680
1602 R % XHk KA EAR 3 1020
1603 B gE R Y XH R ALK R 3 1380
1604 KRG S Ik RAT KA 2 680
1605 =R Y XM R ALK R 1 400
1606 o F3# NS XA KA ERAR 1 340
1607 E P G XH R AT & R 2 680
1608 e S XHk KA ERAR 2 800
1609 HEH S RS XH R ALK R 1 340
1610 KR E NS XA KA EAR 1 460
1611 Z i 3 S Hk KA AR 1 400
1612 KiEfm % XHk KA EAR 2 920
1613 K E R Y XH KA AR 1 340
1614 =R S Ik RAT KA 1 340
1615 Eiid Y XM R ALK AR 1 340
1616 B4 NS XA KA ERAR 1 340
1617 KER G XH R AT & R 1 340
1618 =& % XHk KA EAR 4 1360
1619 FEKX S THk KA AR 1 340
1620 KAE NS XA KA ERAR 1 340
1621 Tt RS XH R ALK R 1 400
1622 TKIEE S XHk KA ERAR 1 340
1623 K E R G XH R ALK R 3 1020
1624 A= % Ik RAT KA 1 340
1625 M A B RS XH R ALK R 2 680
1626 F g NS XA KA ERAR 6 2040
1627 7K gt R G XH R A& AR 1 340
1628 FEY S XHk KA ERAR 1 340
1629 K RHK S THk KA AR 1 340
1630 Z it NS XA KA EAR 1 400
1631 ERLD RS XM KA AR 1 400
1632 KRT % XHk KA EAR 1 340
1633 KoEE S CHk KA AR 1 340
1634 EX T S Ik RAT KA 1 340
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1635 ENiES R Y XH R ALK R 2 680
1636 K % Ik RATE LR 2 680
1637 7K w5 RS XH R ALK AR 1 400
1638 7Kt 2R NS XA KA ERAR 1 340
1639 KRE G XH R A& R 1 400
1640 [ S XHk KA ERAR 2 680
1641 MR E RS XH R AT & R 3 1200
1642 7K o NS XA KA EAR 5 1700
1643 A [E LS B KA AR 1 460
1644 e LS R KA EAR 2 680
1645 Z A RS R R ALK R 1 340
1646 a2 LS R RATE AR 4 1600
1647 TR LS B KA AR 1 400
1648 KR NSRRIt KA AR 1 340
1649 7K Ak S B R AT & R 1 340
1650 ZEE LS R KA EAR 1 400
1651 X % % LSRRt KA AR 1 460
1652 A A NSRRIt KA EAR 1 400
1653 BRAEE S R R ALK R 4 1600
1654 kB LS R KA EAR 1 340
1655 EFIE& RS R R ALK R 1 340
1656 JE R IR LS R RAT KA 1 400
1657 DA R RS R KA AR 4 1600
1658 DR NSRRIt KA ERAR 3 1200
1659 LET kS B R AT & R 3 1200
1660 A RE RS R KA ERAR 1 400
1661 # 2R H S R R ALK R 1 400
1662 JE 3z B NSRRIt KA EAR 1 400
1663 745 S R R ALK R 1 460
1664 A I BR LS R KA EAR 3 1200
1665 ER RS R R ALK R 2 800
1666 EHE LS R RAT KA 2 680
1667 A& RS R KA AR 2 920
1668 H AR NSRRIt KA ERAR 3 1020
1669 kEE kS B R AT & R 1 340
1670 N LS R KA EAR 1 340
1671 KRE LSRRt KA AR 1 340
1672 T E& NS R KA ERAR 1 340
1673 % E S R KA AR 1 400
1674 = LS R KA ERAR 5 2000
1675 KRA A S KA AR 1 340
1676 R RHK LS R RAT KA 1 400
1677 JEL 7 B LS Bt KA AR 1 340
1678 E il NSRRIt KA ERAR 2 800
1679 TEx H S R R A& AR 1 400
1680 ek RS R KA ERAR 2 800
1681 W F X S R R ALK R 1 400
1682 Fhar NSRRI KA EAR 1 400
1683 o FEZE S R R ALK R 1 400
1684 IR LS R KA EAR 1 400
1685 B A LS Bt KA AR 2 680
1686 kKB LS R RAT KA 1 340
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1687 DA% s =¥ KA AR 1 460
1688 # A TT S =vH RATE LR 1 340
1689 KA WS = R ALK AR 2 920
1690 KR N4 =vH KA ERAR 1 400
1691 AR WS = R A& R 2 800
1692 KE A WS =vH KA ERAR 1 400
1693 A8 Al s =¥ R AT & R 1 460
1694 X KA NS =vH KA EAR 2 680
1695 X A s =¥ R ALK R 2 680
1696 I%% S = KA EAR 2 920
1697 FHE s =¥ R ALK R 1 400
1698 7K B 2% WS =vH RATE AR 4 1360
1699 KR s = R ALK AR 1 340
1700 T N4 =vH KA AR 4 1840
1701 ZhE WS = R AT & R 1 340
1702 =L 5% WS =vH KA EAR 3 1380
1703 ki kS = R AT & R 1 400
1704 o Ny = KA EAR 1 460
1705 BRE s =¥ R ALK R 1 400
1706 X fF % WS = KA EAR 1 460
1707 7K N B s =¥ R ALK R 3 1380
1708 MR E WS =vH RAT KA 1 460
1709 8% s = R ALK R 3 1380
1710 K EE NS =vH KA ERAR 1 340
1711 7K et s =¥ KA AR 1 400
1712 ki WS =vH KA ERAR 5 1700
1713 KA s = R ALK R 2 800
1714 = NS =vH KA EAR 3 1380
1715 Bk IF 4 s =¥ R ALK R 2 680
1716 =21 S = KA EAR 1 400
1717 R s =¥ R ALK R 2 800
1718 7K IF # S =vH RAT KA 1 340
1719 BAR s =¥ R ALK AR 2 680
1720 KX & ks =¥ KA ERAR 1 400
1721 & IF B s =¥ R AT & R 3 1020
1722 KA R WS =vH KA EAR 2 800
1723 e kS = R ALK R 2 800
1724 7k IF AT ks v KA ERAR 2 800
1725 Eba WS =wH R ALK R 2 800
1726 K WS = KA ERAR 1 400
1727 7K s =¥ R ALK R 2 680
1728 [ S =vH RAT KA 3 1020
1729 il WS = R ALK R 3 1020
1730 MEF ks =¥ KA ERAR 2 680
1731 HRA s =¥ R A& AR 5 1700
1732 KEX WS =vH KA ERAR 1 400
1733 o s =¥ R ALK R 2 800
1734 ik S2a NS =vH KA EAR 2 800
1735 EEE WS =wH KA AR 1 340
1736 2 H S = KA EAR 1 340
1737 KEF s =¥ KA AR 2 800
1738 # R S =vH RAT KA 1 400
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1739 R s =¥ R ALK R 1 400
1740 R F S =vH RATE LR 4 1360
1741 A A WS = R ALK AR 1 340
1742 2R ks = KA ERAR 1 400
1743 MR & s =¥ R A& R 1 400
1744 7K Bt WS =vH KA ERAR 1 460
1745 KPF s = R AT & R 2 800
1746 KEFE NS =vH KA EAR 4 1360
1747 e s =¥ R ALK R 2 800
1748 KA S = KA EAR 3 1020
1749 EFE WS = R ALK R 2 800
1750 VR ES WS =vH RATE AR 1 460
1751 FF DREES LA KA AR 1 340
1752 F X K DREEY HoE KA AR 1 340
1753 X 1F A DEES HOE R AT & R 1 340
1754 X IF % LREEy HoE KA EAR 1 340
1755 ElE=—23 Dy #HoHE R AT & R 2 680
1756 i LREEy HoE KA EAR 1 340
1757 MR DREES #oE R ALK R 2 680
1758 F=HA LREEy HoHE KA EAR 3 1200
1759 x| 1F %A Dy #HoH KA AR 1 340
1760 A2IH LREEy HoE RAT KA 3 1020
1761 7K B A DREES LA R ALK R 1 340
1762 Bz DREEY HoE KA ERAR 2 680
1763 ZER Dy #HoHE R AT & R 1 340
1764 £k LREEy HoE KA ERAR 2 680
1765 HIE A DRy #HoH R ALK R 2 680
1766 ik E# LEEy HoE KA EAR 1 400
1767 e DREES #oE R ALK R 1 340
1768 KR LREEy HoHE KA EAR 1 340
1769 eI DRy #HoH KA AR 1 340
1770 D LREEy HoE RAT KA 2 680
1771 % 4 B DREES LA KA AR 1 340
1772 BRI L DREEY HoE KA ERAR 2 680
1773 PR AE 2 DEES HOE R AT & R 1 340
1774 % I gk LREEy HoE KA EAR 2 680
1775 JE ZE R DRy #HoH R ALK R 1 400
1776 i a LREEY HoE KA ERAR 1 340
1777 B = DREES #oE R ALK R 2 680
1778 & X LEEy HoE KA ERAR 1 340
1779 7K IE 4% Dy #HoHE R ALK R 1 340
1780 RET LREEy HoE RAT KA 1 340
1781 ki DREES LA KA AR 1 340
1782 FE4H DREEy HoE KA ERAR 3 1200
1783 BRFE BT Dy #HoH R A& AR 2 680
1784 X\ 1 5% LREEy HoE KA ERAR 2 680
1785 XU iF fir DRy #HoHE R ALK R 1 340
1786 7K E R LREEy HoE KA EAR 1 340
1787 Y E R DREES #oE R ALK R 2 680
1788 (T IEAX LEEy HoHE KA EAR 1 400
1789 il DRy #HoH R ALK R 1 340
1790 HEA LEEy HoE RAT KA 1 400
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1791 7 fE 3 Dy #HoHE R ALK R 2 800
1792 & F¥ LREEy HoE RATE LR 2 800
1793 £ DREES oA R ALK AR 1 400
1794 £ DREEY HoE KA ERAR 4 1360
1795 B AR Dy L& R A& R 2 680
1796 #EG LEEy LA KA ERAR 1 340
1797 wAFH Dy L& R AT & R 1 340
1798 & LEEy LA KA EAR 1 340
1799 ZE¥ DEEY LiE KA AR 1 400
1800 B LEEy LA KA EAR 1 340
1801 e Dy L& R ALK R 1 400
1802 DEH LEEy LA RATE AR 1 340
1803 MR X DRy ELiE KA AR 1 340
1804 X fm 4 LEEy LA KA AR 1 400
1805 B 52 Dy L& R AT & R 1 340
1806 B LEEy LA KA EAR 1 340
1807 =+ Dy L& R AT & R 1 340
1808 e 2 LEEy LA KA EAR 1 340
1809 KES DEEY LA KA AR 1 400
1810 AH LEEy LA KA EAR 1 400
1811 HEE Dy L@ R ALK R 1 400
1812 A gk LEEy LA RAT KA 1 340
1813 F &’ DRy ELiE KA AR 1 400
1814 E Rl LEEy LA KA ERAR 1 460
1815 A Dy L& R AT & R 1 340
1816 TEs Dy L@ KA ERAR 1 340
1817 FR%E Dy L& R ALK R 1 340
1818 = BB LEEy LA KA EAR 1 340
1819 = DEE S EiE R ALK R 4 1360
1820 FRE LEEy LA KA EAR 1 400
1821 7% B Dy L& R ALK R 1 340
1822 X a8 LEEy LA RAT KA 2 680
1823 BRI K DRE S LAE R ALK AR 1 400
1824 285 LEEy LA KA ERAR 1 340
1825 KN, gy LI KA AR 1 340
1826 LB LEEy LA KA EAR 2 680
1827 PR DEEy LI KA AR 1 460
1828 1 B8 B LEEy LA KA ERAR 1 400
1829 FAZ DEEY LI KA AR 1 340
1830 HAHE LEEy LA KA ERAR 1 340
1831 BRE AT Dy L& R ALK R 1 340
1832 X & LEEy LA RAT KA 1 340
1833 il DREES LiE R ALK R 1 340
1834 i e LEEy LA KA ERAR 1 340
1835 H A% LEEY LA R A& AR 1 340
1836 &S LEEy LA KA ERAR 1 400
1837 T XE Dy L& R ALK R 3 1020
1838 7k K I LEEy LA KA EAR 1 340
1839 == K DEEY LA R ALK R 1 340
1840 X\ # i LEEy LA KA EAR 1 400
1841 M= 4R Dy L& R ALK R 1 340
1842 2= i it LEEy LA RAT KA 1 400
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1843 i o fr Dy L@ R ALK R 1 400
1844 KEZ LEEy LA RATE LR 1 340
1845 = DREES LiE R ALK AR 1 400
1846 x| 3t Dy L@ KA ERAR 2 680
1847 Z = Dy L& R A& R 1 340
1848 Y etk F LEEy LA KA ERAR 1 340
1849 7K E R Dy L& R AT & R 3 1020
1850 [ LEEy LA KA EAR 1 400
1851 #1E DEE S EiE R ALK R 1 340
1852 ZHE LEEy LA KA EAR 1 340
1853 3 i Ak TRy Hl1K R ALK R 1 400
1854 PRAH % LREEY LK RATE AR 4 1600
1855 B 2 Ao DREES HIK R ALK AR 1 340
1856 AL LREES LK KA AR 2 920
1857 F ¢ TRy LR R AT & R 1 340
1858 FER LREEY LR KA EAR 2 920
1859 K IFAE TRy LK R AT & R 1 400
1860 FH R LREES LK KA EAR 1 460
1861 A¥Z DREES HIR R ALK R 1 340
1862 EEL DREEY LR KA EAR 2 680
1863 = XH TRy Hl1R R ALK R 2 680
1864 Tz LREEY LR RAT KA 1 400
1865 7K IFAX DREES HIK R ALK R 1 400
1866 HRZ DREES LK KA ERAR 1 340
1867 iR & TRy LR R AT & R 3 1380
1868 5 e LREEY LR KA ERAR 2 680
1869 e Fa TRy H1K R ALK R 4 1360
1870 I 4% LEEs A KA EAR 3 1020
1871 ¥ELN DREES B R ALK R 2 680
1872 PR & LEEe A KA EAR 4 1600
1873 I o DRy B KA AR 4 1840
1874 A LEEe A RAT KA 2 800
1875 FAXx DREES B R ALK AR 1 400
1876 4% LEEs A KA ERAR 3 1380
1877 PR % DRy Bf KA AR 1 340
1878 B E LEEe A KA EAR 2 800
1879 Bl 37 5 DRy B R ALK R 1 400
1880 EorF ME 2 xl KA ERAR 2 680
1881 LR WE Szl KA AR 2 680
1882 It WE S xil KA ERAR 1 400
1883 A NE S xal KA AR 4 1360
1884 il WE S xal RAT KA 1 340
1885 XA NEE A KA AR 1 400
1886 FETT ME S xl KA ERAR 1 340
1887 A AT WE S xal R A& AR 4 1600
1888 3R E WE S xal KA ERAR 2 800
1889 F IR EE A R ALK R 1 340
1890 R A A ME 2 xl KA EAR 1 340
1891 E A A KA AR 1 340
1892 EACEAN WE S xl KA EAR 1 340
1893 AL NE Szl KA AR 3 1020
1894 2 fif i WE S xl RAT KA 1 340
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1895 & LB NE Szl KA AR 3 1020
1896 FHX WE S xl RATE LR 1 340
1897 o Xl UEE A KA AR 2 680
1898 Fh 4 ME S xil KA ERAR 1 340
1899 FXx WNE Szl R A& R 5 2000
1900 ERE WE S xl KA ERAR 3 1020
1901 x| 8 3t A R AT & R 1 340
1902 s ME 2 xl KA EAR 1 400
1903 2[5 WNE S xal R ALK R 1 460
1904 FH WE S #H KA EAR 1 400
1905 HIEF NE Szl KA AR 1 340
1906 il WE 5 #Hl RATE AR 1 340
1907 Y% o A KA AR 1 340
1908 [ a4 ME & xl KA AR 1 400
1909 ITXR= NEE A R AT & R 1 340
1910 B R A WE S xal KA EAR 1 340
1911 wHAK A R AT & R 1 340
1912 [ A ME S K KA EAR 1 340
1913 I E WE Szl KA AR 1 400
1914 KPR WE s &l KA EAR 1 340
1915 TR NE S xal KA AR 6 2040
1916 A WE 5 #Hl RAT KA 1 340
1917 & B4R A R ALK R 1 340
1918 # g ME S xl KA ERAR 1 340
1919 BER NEE A R AT & R 2 680
1920 i WE S xal KA ERAR 1 340
1921 FOH A KA AR 1 340
1922 ESEa ME S K KA EAR 1 340
1923 &= T WE Szl KA AR 1 340
1924 % B WE S xl KA EAR 1 400
1925 BARF NE Szl KA AR 2 680
1926 &L WE 5 #Hl RAT KA 4 1360
1927 = i WE S % KA AR 2 680
1928 HE = ME S xl KA ERAR 1 400
1929 [ NE Szl R AT & R 3 1020
1930 Eiid WE S #Hl KA EAR 1 400
1931 KEAE A R ALK R 1 400
1932 a4 ME 2 xl KA ERAR 1 340
1933 INEFH S KA AR 1 400
1934 NEE WEy FEX KA ERAR 1 400
1935 FEin NES F& R ALK R 1 400
1936 KEE NE Y FH RAT KA 3 1020
1937 E NEs & R ALK R 1 400
1938 e ME s % KA ERAR 1 400
1939 TH = S R A& AR 3 1020
1940 Xt fz MNE Y FH KA ERAR 1 400
1941 =2 g MEs £ R ALK R 2 680
1942 ErE ME s % KA EAR 1 400
1943 % E B S KA AR 1 400
1944 B IR NE Y FEH KA EAR 2 800
1945 X Z NES F& R ALK R 2 680
1946 ZIEtE NE Y FEH RAT KA 2 680
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1947 kx2 NES F& R ALK R 1 460
1948 k== MNE Y FEH RATE LR 3 1020
1949 HEH NE s F4£ R ALK AR 3 1020
1950 R Fi# ME s FF KA ERAR 1 400
1951 IEH NES F& R A& R 3 1200
1952 VR MNE Y FH KA ERAR 3 1020
1953 = NE s £ R AT & R 4 1600
1954 X F R ME s % KA EAR 4 1360
1955 ZEHE NES F& KA AR 4 1360
1956 Ik % % MEs F& KA EAR 1 400
1957 7KK R, NES F& R ALK R 2 800
1958 e NE Y FH RATE AR 2 800
1959 ek NEs F£ R ALK AR 1 400
1960 X T 4R ME s & KA AR 1 400
1961 3 NES F& R AT & R 1 400
1962 TR WEy FEH KA EAR 1 400
1963 BT= NS R AT & R 2 800
1964 | MEs FH KA EAR 4 1360
1965 X R E S KA AR 2 800
1966 ez NE Y FH KA EAR 2 800
1967 T NES F& R ALK R 1 400
1968 e NE Y FEH RAT KA 3 1020
1969 EHE NEs F£ R ALK R 3 1200
1970 i = ME s & KA ERAR 4 1360
1971 * H NES F& R AT & R 1 400
1972 TE= 5% % KREMRZES KA ERAR 1 400
1973 K F X 5% % AEHMRZES KA AR 1 340
1974 il BE Y AFZHRZES KA EAR 2 800
1975 IHAE 5% % AEHMRZS KA AR 2 680
1976 T )R LE SIS €. 0k - KA EAR 2 680
1977 i L% Y AEMHZS KA AR 1 400
1978 B %4 AEZMHZESL RAT KA 1 400
1979 EA S 5% % AEHMRZS KA AR 1 400
1980 #/hE %4 AEZMHESL KA ERAR 2 800
1981 Ik K % 5% Y AEMHZS R AT & R 2 800
1982 ¥R 5% % KREMBZES KA EAR 1 400
1983 S RK 5% % AEHMRZES KA AR 1 400
1984 Kk %4 AEMKHZESL KA ERAR 2 800
1985 vEZE 5% % KAEHMRZS KA AR 1 400
1986 BRH LE SIS €. 0k - KA ERAR 6 2400
1987 e L% Y AEMHZS KA AR 2 800
1988 3L %4 AEMKHESL RAT KA 2 800
1989 THEE 5% % AEHMRZS KA AR 2 680
1990 A 5%y AEZHRZES KA ERAR 2 680
1991 & (% 5% Y AEMHZS R A& AR 2 800
1992 7K IE 3 5% % KREMRZES KA ERAR 1 340
1993 R A 5% % KEMRZS KA AR 2 800
1994 PR kAT 5%y AZHRZES KA EAR 2 800
1995 BRIk X L% AEMHZS KA AR 2 680
1996 F LE SIS €. 0k - KA EAR 1 400
1997 A 5% Y AEMHZS KA AR 2 800
1998 A= %4 AEZMHZESL RAT KA 2 800
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1999 WE 5% Y AEMHZS KA AR 1 400
2000 BaE LRy AFZHRZES KA EAR 2 800
2001 RER 5% % AEHMRZS KA AR 1 400
2002 % ETF 5%y AZHRZES KA R 1 400
2003 ¥ AL 5% Y AEWMHZS R A& R 1 400
2004 A= 5%y AFZHRZES R AR 2 920
2005 =3 5% % AEMRZS KA EAR 2 680
2006 B XE %4 AEMKHZESL KA EAR 1 400
2007 i 5% % AEHMRZS KA AR 1 400
2008 #FIEL 5%4 AEZHWKHZESL KA R 2 680
2009 Ik K Bl L% Y AEMHZS KA AR 1 400
2010 BT %4 AEMKHZESL RATE AR 5 1700
2011 i X Af 5% % AEHMRZS KA AR 1 400
2012 W& 5%y AZHRZES KA R 1 400
2013 K IE 5% Y AEMHZS R AT & R 1 340
2014 VAR 2 LE SN €. 0k R AR 1 400
2015 ki 5% % KAEMRZS KA AR 1 400
2016 Eid 5%y AFZHKRZES KA R 1 400
2017 e 5% Y AEMHZS KA AR 1 400
2018 I 5%4 AEZHWHZESL KA R 1 340
2019 ¥ B % 5% Y AEMHZS KA AR 2 800
2020 X = LRy AZHRZES KA EAR 1 400
2021 A= 5% % AEHMRZS KA AR 3 1020
2022 ESLES L5E Y AZHRZES KA R 1 400
2023 Ik K 4R 5% Y AEMHZS R AT & R 2 800
2024 ZER 5%y AZHRZES R AR 1 400
2025 F I 5% % AEHMRZES KA AR 2 800
2026 TR BE Y AFZHRZES KA R 2 800
2027 KEE 5% % AEHMRZS KA AR 2 800
2028 A LE SIS €. 0k - KA EAR 1 400
2029 Ik E L% Y AEMHZS KA AR 2 800
2030 E A %4 AEZMHZESL RAT KA 2 800
2031 EIEH 5% % AEHMRZS KA AR 3 1200
2032 R AT 5%y AEZHRZES KA R 1 400
2033 e 5% Y AEMHZS R AT & R 2 800
2034 MEE 5%y AZHRZES KA EAR 3 1200
2035 I IF 5% % AEHMRZES KA AR 3 1200
2036 3% BE Y AFZHRZES KA R 3 1200
2037 KA 5% % KAEHMRZS KA AR 2 680
2038 -2 LE SIS €. 0k - KA ERAR 2 680
2039 X 3 L% Y AEMHZS KA AR 1 400
2040 FHER L5E Y AZHRZES RAT KA 1 400
2041 B A 5% % AEHMRZS KA AR 2 800
2042 FTETF %4 AEMHESL KA ERAR 1 400
2043 ZWAE 5% Y AEMHZS R A& AR 1 340
2044 ITHRE ERE EHANZES R AR 1 340
2045 JEIF B R ERAAES KA AR 2 680
2046 KIEE HERE EHNNES KA R 1 460
2047 2 B ERANES KA AR 2 680
2048 EXE ERE EHANES KA R 3 1020
2049 e R ERAAES KA AR 1 340
2050 i) HERE EHANES KA EAR 2 920
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2051 RAEX R ERAAES KA AR 3 1020
2052 F=RA R EREANES RATE LR 2 920
2053 BKIE AT BhRE ERANZES R ALK AR 1 340
2054 N BhE ERANES KA ERAR 1 400
2055 ES s hE ERAAES R A& R 1 340
2056 KA R ERANES KA ERAR 2 680
2057 JE XMl BRE BN ZES KA EAR 1 460
2058 XA R ERANES KA EAR 2 920
2059 R K R ERANES KA AR 1 340
2060 T A R ERANES KA EAR 1 400
2061 M E R ERAAES KA AR 1 460
2062 4 R R ERANES RATE AR 1 400
2063 kK E® R ERANES KA AR 1 340
2064 A1 R ERANES KA AR 1 340
2065 k% hE ERAAES R AT & R 2 680
2066 B3 I+ R ERANES KA EAR 1 340
2067 HAEZ HMhE ERAAES KA AR 1 460
2068 FE= R ERANES KA EAR 2 680
2069 KIFE B ERANES R ALK R 2 920
2070 EEE HhE ERANES KA EAR 2 800
2071 i R ERAAES KA AR 1 340
2072 i 4 3 R ERANES RAT KA 2 800
2073 EFTE BhRE FERANZES R ALK R 2 920
2074 e R ERANES KA ERAR 2 680
2075 EFH hE ERAAES R AT & R 2 800
2076 RAE R ERANES KA ERAR 3 1200
2077 FXE BRE ERANZES KA AR 4 1360
2078 BKIFE & R ERANES KA EAR 3 1020
2079 e = EhE ERANES R ALK R 2 680
2080 2N HhE ERANES KA EAR 2 800
2081 It = R ERAAES KA AR 1 340
2082 i K AE R ERANES RAT KA 1 340
2083 eI BhE EEANZES R ALK AR 3 1200
2084 KO R ERANES KA ERAR 1 400
2085 R hE ERAAES R AT & R 1 340
2086 Bk Xt R ERANES KA EAR 1 400
2087 ¥ At SEHE ME R ALK R 1 340
2088 eV & SEEE WL KA ERAR 2 920
2089 At 5 SEHE ML R ALK R 1 460
2090 X Y WL KA ERAR 1 340
2091 AR LEHE M5 R ALK R 1 340
2092 &4 SEEE WL RAT KA 4 1600
2093 R LEHE M R ALK R 1 340
2094 Z4R SEHE ML KA ERAR 2 920
2095 T SEHE ME R A& AR 1 340
2096 nFE = SEEE WL KA ERAR 1 460
2097 BRE LEHE M R ALK R 2 800
2098 i E SEHE ML KA EAR 3 1200
2099 EH EEAE WL KA AR 3 1200
2100 R E EEEE WL KA EAR 3 1020
2101 3k LEHE M R ALK R 3 1200
2102 7k i 4 SEEE WL RAT KA 2 680
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2103 = B A SEME S R ALK R 1 340
2104 KET EEAHE M RATE LR 1 400
2105 EREW SEME S R ALK AR 1 340
2106 0 3 SEHE ML KA ERAR 1 400
2107 &= % SEAE WL KA AR 4 1600
2108 Bk ER SEEE WL KA ERAR 1 340
2109 FAEF SEEE WL KA EAR 3 1020
2110 BE R SEEE W5 KA EAR 4 1360
2111 R EEAE WL KA AR 2 680
2112 KEF SEHE ML KA EAR 3 1020
2113 ¥ SEHE ME R ALK R 1 340
2114 HE T SEEE WML RATE AR 1 340
2115 XX & LEHE HE R ALK AR 4 1360
2116 il SEHE ML KA AR 1 460
2117 X\ B SEHE ML R AT & R 1 400
2118 BEXE SEEE WL KA EAR 1 340
2119 REE HMEHE W R AT & R 2 800
2120 KX & BEHE FH KA EAR 2 920
2121 ZHE HMEHE W R ALK R 2 680
2122 R R 3 BEHEE $H KA EAR 1 460
2123 ¥R BEHYE PR KA AR 3 1020
2124 FEA BEEHE $H RAT KA 2 920
2125 Eilbia BEHYE PR KA AR 1 400
2126 K XE BEHE PR KA ERAR 2 680
2127 £ BEHE $H R AT & R 1 400
2128 F=AX BEHE PR KA ERAR 1 340
2129 e HMEHE W R ALK R 2 800
2130 ITEHE BEHE FH KA EAR 2 800
2131 # IE AT HMEHE W R ALK R 6 2400
2132 2 BEHE FH KA EAR 1 400
2133 Iz BEHYE PR KA AR 3 1020
2134 7K F AL BEHE FH RAT KA 3 1020
2135 E& ki BEHAYE PR KA AR 3 1020
2136 KT BEHE PR KA ERAR 2 680
2137 S BEHE $H R AT & R 4 1600
2138 HEAR BEHE PR KA EAR 6 2040
2139 g E HMEHE W R ALK R 2 680
2140 % % BEHE FH KA ERAR 4 1600
2141 7K ¥ 40 BT e R R ALK R 1 460
2142 7K R BEEE BE KA ERAR 1 460
2143 ED O BERE EE KA AR 2 920
2144 E~d BELE EE RAT KA 2 800
2145 b il e e R R ALK R 3 1200
2146 KEZ BELE EE KA ERAR 1 400
2147 R BERE EE R A& AR 3 1200
2148 R BEHE BE KA ERAR 1 400
2149 KA BERE BF R ALK R 2 680
2150 KA BEHE BE KA EAR 2 800
2151 KF R BT e R R ALK R 1 460
2152 Tk FEE BEHE BE KA EAR 2 800
2153 ot BERHE BE R ALK R 1 400
2154 = A 1 BEHE #BF RAT KA 4 1360
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2155 i BEEE EE KA AR 1 400
2156 &= X% BEHE BE RATE LR 1 460
2157 7K & BEHE £F KA AR 3 1020
2158 ks BEAE EE KA ERAR 1 400
2159 7K M 4L BERE EE R A& R 2 680
2160 FEX BEEE BE KA ERAR 1 460
2161 KX FH BERE BF R AT & R 1 340
2162 a4 BEHEE X KA EAR 3 1020
2163 Ex 4 BMEHE X R ALK R 1 340
2164 Z AL BEHEE X KA EAR 2 680
2165 FHT BEHEE X KA AR 4 1600
2166 JE BEHEE X RATE AR 3 1020
2167 7% BEHE AKX KA AR 2 680
2168 KA R BEHEE X KA AR 1 460
2169 E.4 HMEEE Tt X R AT & R 2 680
2170 Y EE BEHEE X KA EAR 1 340
2171 IF®R BEHEE X KA AR 1 460
2172 il BEHE AKX KA EAR 1 340
2173 Iz BMEHE X R ALK R 3 1020
2174 1 At BEHEE X KA EAR 1 460
2175 o 2 BEHEE X KA AR 3 1200
2176 il BEEE ALK RAT KA 3 1200
2177 IRE BEHE AKX KA AR 3 1020
2178 KER BEHEE X KA ERAR 1 400
2179 7k KA HMEEE Tt X R AT & R 2 680
2180 M A BEEE ALK KA ERAR 1 400
2181 K E BMEHE Tt X R ALK R 2 680
2182 wEZ BEHEE X KA EAR 1 400
2183 FHF BMEHE X R ALK R 1 400
2184 B BEHE AKX KA EAR 1 400
2185 KT BEEE A XK KA AR 1 400
2186 KPE BEHEE X RAT KA 1 400
2187 FE& BEHE AKX KA AR 1 400
2188 &5k BEHEE X KA ERAR 1 340
2189 KEE BEHEE X KA AR 1 400
2190 =R E BEHEE X KA EAR 1 400
2191 A 4 BEHEE X KA AR 5 1700
2192 7K 3 R BEHEE X KA ERAR 1 340
2193 K BMEHE X R ALK R 3 1020
2194 KFH BEHEE X KA ERAR 4 1360
2195 4 B BEEE AKX KA AR 1 400
2196 I BEEE BEY RAT KA 1 340
2197 Bf EAT BEHE #HEo KA AR 2 800
2198 7K A BEEE HEY KA ERAR 3 1020
2199 i BEHE #Hxo R A& AR 2 680
2200 B 4 B B By KA ERAR 2 800
2201 IR BEEE BT KA AR 4 1360
2202 =¥ B By KA EAR 2 680
2203 7K R BEEE BT R ALK R 3 1020
2204 EE BEEE HxY KA EAR 1 400
2205 7K % BEHE #Hxo KA AR 1 460
2206 7K 18 It BEHE #xo RAT KA 2 800
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2207 % X B BEHE #Hxo KA AR 2 800
2208 B X H BEHE By RATE LR 2 680
2209 i BEHE #HEo KA AR 2 680
2210 HwRE BEHE #xo KA ERAR 2 680
2211 [ BEHE #xo R A& R 2 920
2212 kF% BEHE By KA ERAR 4 1600
2213 T At BEEE BT KA EAR 2 800
2214 K fm ik BEEE BEY KA EAR 1 340
2215 B BEEE BT R ALK R 2 680
2216 - BEEE HxY KA R 2 800
2217 I Kt BEHE #Hxo KA AR 3 1020
2218 [ adid BEHE #xo RATE AR 1 340
2219 I hw BEHE #HEo KA AR 2 680
2220 7K A BEHE #xo KA AR 1 340
2221 KL BEHE #xo R AT & R 2 680
2929 KEE B #xy KA EAR 2 680
2223 it E BEEE BT KA AR 2 680
2224 oA 2 BEHE #xyo KA EAR 4 1600
2225 K E BEEE BT R ALK R 2 680
2226 7K A I BEEE HEL KA EAR 1 400
2227 MM ER BEHE Hxo KA AR 1 340
2228 AL BEEE BEY RAT KA 2 800
2229 HWETT BEHE #HEo KA AR 1 400
2230 KA S BEEE BEY KA ERAR 2 680
2231 EN L BEHE #xo R AT & R 1 340
2232 e BEHE #xo KA ERAR 1 400
2233 Ed BMEHE 2= R ALK R 1 460
2234 % HEHE 22 KA EAR 1 460
2235 TEA MEHE T2 R ALK R 3 1200
2236 =¥ BEHE 22 KA EAR 1 400
2237 KX E BEsE 22 KA AR 1 340
2238 SERF BEHE 22 RAT KA 1 340
2239 TE= BEHE T2 KA AR 4 1600
2240 [ 2 HEHE 22 KA ERAR 1 340
2241 X EE HMEHE T2 R AT & R 2 680
2942 X\ o BEAE 22 R AR 2 800
2243 KE¥EE BEHE 22 KA AR 1 340
2244 KEFE HEHE 22 KA ERAR 2 680
2245 [ BMEHE T2 R ALK R 1 400
2246 EE¥ BEHE 22 KA ERAR 2 680
2247 XN BEsE 22 KA AR 2 800
2248 KXH BEHE 22 RAT KA 1 400
2249 F R BEsE 22 KA AR 2 680
2250 FHER HEHE 22 KA ERAR 2 680
2251 A BEHE 22 R A& AR 2 800
2252 =5 BEHE 22 KA ERAR 1 400
2253 THRE BEfsE 22 KA AR 1 340
2254 X\ 2A 4% BEAEE 2= KA EAR 2 680
2255 FRE BEsE 22 KA AR 4 1360
2256 1 IE % BELE 22 KA R 1 460
2257 7K 4k BEsE 22 KA AR 3 1200
2258 Wt T BELE 22 KA EAR 1 400
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2259 i BEsE 22 KA AR 1 400
2260 KEF BEHE 22 RATE LR 1 340
2261 T H BEfE 22 KA AR 1 400
2262 A 2 BEAE 22 KA R 1 400
2263 7K 72 [ HMEaEE 2= R A& R 1 400
2264 Fhtw = BEHE 22 KA ERAR 1 400
2265 pi i BMEHE 2= R AT & R 2 800
2266 KB Ry HEHE 22 KA EAR 4 1360
2267 B IF X BEfsE 22 KA AR 2 680
2268 k3 BEHE 22 KA EAR 3 1020
2269 x| E A BEsE 22 KA AR 2 680
2270 E2LDS BEHE 22 RATE AR 1 400
2271 7K X BA BEHE 22 KA AR 1 340
2272 K R BEHE 22 KA AR 1 400
2273 7Kt % BEHE =& R AT & R 1 460
2274 X A 2% BEHEE =4 KA EAR 1 400
2275 ik ¥ BEHE =4 R AT & R 2 680
2276 e BEHE =4 KA EAR 2 680
2277 Fhdw BEHEE 4 R ALK R 1 340
2278 # IE B BEHEE =4 KA EAR 4 1360
2279 ¥ ¥ BEHE =& R ALK R 1 400
2280 74 BEHEE =4 RAT KA 1 400
2281 5 BMEEE 4 R ALK R 1 340
2282 A F BEHE =& KA ERAR 3 1020
2283 KEL BEHE =& R AT & R 1 340
2284 XA BEHEE =4 KA ERAR 2 680
2285 18 BEHE =4 R ALK R 3 1020
2286 R BEHE =4 KA EAR 3 1200
2287 KA = BEEE 4 R ALK R 1 400
2288 KEFE BEHEE =4 KA EAR 1 400
2289 i3 BEHE =4 R ALK R 1 460
2290 7K [E 3 BEHEE =4 RAT KA 1 400
2291 B E BEHE =4 R ALK AR 1 340
2292 RER BEEE =46 KA ERAR 1 400
2293 K BEHE =& R AT & R 2 800
2294 KA BEHEE =4 KA EAR 1 400
2295 KEZE BMEEE 4 R ALK R 1 460
2296 Ll BEHE =4 KA ERAR 1 400
2297 #IE X BEHE =4 R ALK R 1 340
2298 7K Ry BEHEE =4 KA ERAR 4 1360
2299 XA BEHE =& R ALK R 1 400
2300 Y B HE BEHEE =4 RAT KA 1 400
2301 FE X BEHE =4 R ALK R 1 400
2302 BE R BEHE =4 KA ERAR 1 460
2303 P BEHE =& R A& AR 1 400
2304 i BEHEE =4 KA ERAR 2 800
2305 BEh BEHE =4 R ALK R 1 400
2306 il BEHE =4 KA EAR 2 920
2307 A4 -F BMEHEE 4 R ALK R 1 460
2308 BEES *LE RR KA EAR 4 1360
2309 X &% HFALE RR KA AR 1 400
2310 &k = HLE RR RAT KA 5 1700
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2311 Fﬁﬂa% FLE FR KA AR 1 400
2312 = H & HLE ER RATE LR 1 400
2313 ik HEALE FR KA AR 2 920
2314 A HLE ER KA ERAR 4 1360
2315 X AR HRE RR R A& R 2 680
2316 FH X HFLE ER KA ERAR 2 800
2317 F = FkLE FR KA EAR 1 340
2318 KB HELE ER KA EAR 2 800
2319 K H & HALE KR R ALK R 2 680
2320 A 4 B #LE RR KA EAR 1 340
2321 58 HFALE RR R ALK R 1 400
2322 & H A HLE FR RATE AR 3 1200
2323 BRI HEALE FR R ALK AR 1 400
2324 Tk 1E HRLE ER KA AR 1 340
2325 KK HRALE RR R AT & R 2 800
2326 KEZE HLE FR KA EAR 1 400
2327 Z KA FLE FR KA AR 2 680
2328 X EH HLE ER KA EAR 2 800
2329 A HALE KR R ALK R 1 340
2330 AT #LE RR KA EAR 1 460
2331 F T4 HFLE RR R ALK R 1 340
2332 B HLE ER RAT KA 2 680
2333 EBE HEALE FR R ALK R 2 680
2334 & K AE HLE ER KA ERAR 3 1020
2335 = HRALE RR R AT & R 2 680
2336 EER HFLE ER KA ERAR 1 460
2337 v FLE FR KA AR 1 400
2338 B HLE FR KA EAR 2 680
2339 A A HALE KR R ALK R 2 680
2340 X AR E HLE RR KA EAR 2 800
2341 kE HFALE RR R ALK R 1 340
2342 sk = HLE ER RAT KA 2 680
2343 L% HEALE FR R ALK AR 1 340
2344 &K HLE ER KA ERAR 1 400
2345 R A HRALE RR R AT & R 1 400
2346 FHRAL HLE RR A R AR 3 1200
2347 T4 FLE FR KA AR 2 800
2348 7K F HLE FR KA ERAR 1 400
2349 X AR HALE KR R ALK R 1 400
2350 AT #LE RR KA ERAR 1 400
2351 i & & HFLE RR R ALK R 1 400
2352 E AT HLE ER RAT KA 1 340
2353 ﬁfﬁ% HEALE FR R ALK R 2 680
2354 i HLE ER KA ERAR 2 680
2355 ?*"”‘ HEALE RR R A& AR 3 1020
2356 EREE HLE FR KA ERAR 1 400
2357 EEE FkLE FRE KA AR 1 400
2358 BHEZ HLE ER KA EAR 1 340
2359 @%%ﬂ%\ HALE KR R ALK R 1 400
2360 I4 *LE RR KA EAR 1 400
2361 &Iﬁé HFALE RR R ALK R 1 400
2362 o4 HLE ER RAT KA 1 400
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2363 Tk &5 HFLE RR R ALK R 2 680
2364 42 HLE RR AL R 3 1020
2365 Bk A b HEALE FR KA AR 2 680
2366 7K SR HLE F 4 KA ERAR 1 460
2367 KHE HLE F 4 R A& R 2 800
2368 X T HLE H A KA ERAR 1 400
2369 KTk F*LE H 4 KA EAR 2 800
2370 KH A HLE H A4 KA EAR 2 800
2371 KR E HLE Fa R ALK R 1 460
2372 # 7 X HLE H A KA EAR 1 400
2373 At HFLE F 4 R ALK R 2 680
2374 HIE B HLE H 4 RATE AR 1 340
2375 Eatin HLE F 4 R ALK AR 2 680
2376 FH R, HLE F 4 KA AR 3 1020
2377 A HFLE F 4 R AT & R 1 340
2378 KR HLE H A KA EAR 2 800
2379 e FLE H 4 KA AR 1 400
2380 EA K HLE H A4 KA EAR 2 800
2381 KE XK HALE Fa R ALK R 2 800
2382 i e = HLE H A KA EAR 1 400
2383 Z M HLE F 4 R ALK R 3 1200
2384 B E K HLE H 4 RAT KA 2 800
2385 Y4 HLE F 4 R ALK R 1 400
2386 & G A HLE F 4 KA ERAR 3 1020
2387 TE¥Y HLE F 4 R AT & R 1 340
2388 B E HLE H A KA ERAR 1 400
2389 o ia FLE H 4 KA AR 2 800
2390 X e HLE H A4 KA EAR 2 800
2391 7K 5 B HLE Fa R ALK R 2 800
2392 ikkica HLE H A KA EAR 3 1200
2393 A HFLE F4 R ALK R 2 800
2394 L HLE H 4 RAT KA 3 1200
2395 Tz HLE F4 R ALK AR 1 400
2396 K= HLE F 4 KA ERAR 1 400
2397 B X7 HLE F 4 R AT & R 2 800
2398 g A HLE H A4 KA EAR 1 340
2399 & X E FLE H 4 KA AR 1 340
2400 I = HLE H 4 A R AR 3 1200
2401 KPR HALE Fa R ALK R 2 680
2402 &= /NE HLE H 4 KA ERAR 3 1020
2403 AN HLE F 4 R ALK R 2 680
2404 EN HLE F 4 RAT KA 1 340
2405 HE HLE F 4 R ALK R 3 1020
2406 & F HLE F 4 KA ERAR 1 400
2407 FELia HFLE F 4 R A& AR 2 680
2408 & A HLE H A KA ERAR 1 400
2409 oK A FLE H 4 KA AR 2 800
2410 FEIE HLE F 4 KA EAR 2 680
2411 ke HLE Fa R ALK R 1 400
2412 x| = % HLE H 4 KA EAR 1 340
2413 BX HLE F 4 R ALK R 1 340
2414 e HLE F 4 RAT KA 2 800
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2415 X E HLE F 4 R ALK R 1 400
2416 ZXKE HLE F 4 RATE LR 2 680
2417 JE T 4 HLE F 4 R ALK AR 2 800
2418 EHK HLE F 4 KA ERAR 2 800
2419 Z /b 4o HLE F 4 R A& R 1 400
2420 KR HFLE F 4 KA ERAR 1 400
2421 KEFER F*LE H 4 KA EAR 2 800
2429 & K HLE F 4 KA EAR 1 400
2423 TR = HLE Fa R ALK R 1 400
2424 HEE HLE H A KA EAR 2 680
2425 JI i A HFLE F 4 R ALK R 1 400
2426 &1 E HFLE F 4 RATE AR 1 340
2427 wE HLE F 4 R ALK AR 1 400
2428 ZE L HLE F 4 KA AR 1 340
2429 Y :d HLE H 4 R AT & R 2 680
2430 RS L Ly KA EAR 1 340
2431 KEE HEWE 38 R AT & R 2 680
2432 FEE HLE e KA EAR 4 1360
2433 T4+ A R ALK R 2 800
2434 W15 HLE g KA EAR 1 460
2435 JZ HEE 8 R ALK R 2 680
2436 EHE HLE Ly RAT KA 2 680
2437 5 ZE kol g R ALK R 4 1600
2438 et HELE 8 KA ERAR 2 800
2439 EvE i AL R AT & R 3 1020
2440 KA HELE g KA ERAR 2 800
2441 W7 = HEWE 38 R ALK R 1 460
2442 ZEF HLE e KA EAR 2 680
2443 E A R ALK R 1 400
2444 4k IF B *WE 35 KA EAR 1 340
2445 TR AL R ALK R 1 340
2446 A 1B HLE 8 RAT KA 1 340
2447 RAE A R ALK AR 4 1600
2448 KA HLE 8 KA ERAR 2 680
2449 I 3% AL R AT & R 1 400
2450 =B L Ly KA EAR 2 680
2451 D% HEWE 38 R ALK R 1 340
2452 g HLE Ly KA ERAR 1 340
2453 JFE ki g R ALK R 2 680
2454 E % FLE g KA ERAR 1 340
2455 Bk A ke g R ALK R 1 400
2456 2 A HLE Ly RAT KA 1 400
2457 FEH FWE 8 R ALK R 1 340
2458 FEE HELE 8 KA ERAR 1 340
2459 TEX HLE e R A& AR 2 680
2460 FEIF IR L Ly KA ERAR 2 680
2461 I #1T HEWLE 8 R ALK R 1 340
2462 FEA HELE e KA EAR 1 400
2463 g e HWE 8 R ALK R 1 340
2464 7K A M HLE g KA EAR 1 340
2465 SHEE HLE g R ALK R 2 680
2466 [ HLE Ly RAT KA 2 680
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2467 wF5EY BRAEE ANE R ALK R 1 460
2468 piilacicd BEE ANE RATE LR 2 920
2469 L E M BRAEE ANE R ALK AR 1 460
2470 T AE# BREE ANE KA ERAR 1 400
2471 HEFER RAEE ANE R A& R 1 400
2472 & AR BAEE ANE KA ERAR 2 800
2473 REP BRAEE ANE R AT & R 2 680
2474 2l BHE AL E KA EAR 1 400
2475 JBlEx RHEE L E R ALK R 1 340
2476 x| RAlE TG E KA EAR 2 680
2477 x| 4 BRHEE UG E R ALK R 1 340
2478 ItH BAEE L E RATE AR 2 680
2479 A KZF BhdE gt s R ALK AR 4 1360
2480 X AE % BALHE G2 KA AR 1 340
2481 F i BAE AL E R AT & R 2 680
2482 ik BAEE L E KA EAR 3 1020
2483 ZHZ RHEE UG E R AT & R 1 340
2484 RIE BALHE G2 KA EAR 1 340
2485 FTEZF RHEE UL E R ALK R 2 680
2486 25 F RAlE TG E KA EAR 1 340
2487 I RHEE UG E R ALK R 3 1020
2488 XA B AL E RAT KA 1 400
2489 ki BhdE gt s R ALK R 1 400
2490 5K BRHEE L E KA ERAR 2 680
2491 KEE BAE AL E R AT & R 1 340
2492 (PAS B G2 KA ERAR 1 340
2493 254 BALHE UG R ALK R 1 340
2494 EHER BRHEE L E KA EAR 3 1020
2495 =rZE RHEE L E R ALK R 1 340
2496 2 B 7 RAlE TG E KA EAR 3 1020
2497 ki BRHEE UG E R ALK R 1 340
2498 &R BHEE L E RAT KA 2 680
2499 & AR BhdE gt s R ALK AR 3 1020
2500 ERix BRHEE L E KA ERAR 1 340
2501 KZ % BUE AL E R AT & R 2 680
2502 DA BHEE L E KA EAR 2 680
2503 BAEZ RHEE UG E R ALK R 1 340
2504 B A& BALHE G KA ERAR 1 340
2505 EILE RHEE UL E R ALK R 3 1200
2506 KEE RAE TG E KA ERAR 1 340
2507 Y B # BALHE UG R ALK R 1 340
2508 T s BAE LA RAT KA 3 1020
2509 Ik B gt s R ALK R 3 1020
2510 & LA BAEE UG KA ERAR 2 680
2511 KRR BAE AL E R A& AR 5 1700
2512 E i B G2 KA ERAR 2 680
2513 x| =3 RHEE UG E R ALK R 2 800
2514 By 4k 77 BHEE AL E KA EAR 1 340
2515 =LK RHEE L E R ALK R 1 340
2516 ZIAL RAE TG E KA EAR 3 1020
2517 X 48 g BRHEE UG E R ALK R 2 680
2518 X AR BHEE L E RAT KA 2 680
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2519 e Rl RHEE UG E R ALK R 1 340
2520 = A BALHE UGS RATE LR 4 1360
2521 # KA BAEE AL E R ALK AR 4 1360
2522 R HT B BRHEE L E KA ERAR 2 680
2523 JA 8% BAE NG E R A& R 1 340
2524 KAKE BEE L E KA ERAR 5 1700
2525 BT A BAEE AL E R AT & R 1 340
2526 X BRHEE L E KA EAR 3 1020
2527 B A K RHEE L E R ALK R 3 1020
2528 i RAlE TG E KA EAR 1 340
2529 e BRHEE UG E R ALK R 3 1020
2530 E 1% B BALHE UGS RATE AR 2 680
2531 Bk IF & T RE LA R ALK AR 1 340
2532 YEE T RE TG KA AR 1 340
2533 M %R T RE LA R AT & R 3 1200
2534 7K H T T RE T KA EAR 2 680
2535 R ZE T RE LA R AT & R 1 400
2536 k=)a T RE T KA EAR 1 400
2537 i T RE LA R ALK R 3 1020
2538 B e X T RE T KA EAR 1 340
2539 2 T RE LA R ALK R 1 400
2540 LhE T RE T RAT KA 2 680
2541 BXF T RE LA R ALK R 5 1700
2542 FF R T RE T KA ERAR 1 400
2543 A A fu T RE LA R AT & R 2 680
2544 E# T RE T KA ERAR 1 340
2545 R g T RE LA R ALK R 1 340
2546 Z= 3 fu T RE T KA EAR 2 680
2547 KB T RE LA R ALK R 1 340
2548 b Kiea T RE T KA EAR 2 680
2549 EFER T RE LA R ALK R 2 800
2550 T E K T RE T RAT KA 1 400
2551 B A T RE LA R ALK AR 1 340
2552 KE L T RE T KA ERAR 4 1360
2553 R A T RE LA R AT & R 1 340
2554 R T REE ERE KA EAR 1 340
2555 KEER T RE BRHA KA AR 2 680
2556 e T REE ERHA KA ERAR 1 340
2557 L oK X T RE BRHA R ALK R 5 2000
2558 A T RE ERHA KA ERAR 2 680
2559 AR T RE ERHA R ALK R 2 680
2560 LT T REE AR RAT KA 1 340
2561 Y EE T RE ERT R ALK R 2 680
2562 KEE T RE BRHA KA ERAR 1 340
2563 FEZHR T RE B R A& AR 1 340
2564 A T REE ERA KA ERAR 1 340
2565 E: T RE B R ALK R 1 340
2566 FXEF T REE ERHA KA EAR 1 400
2567 N T RE B R ALK R 1 340
2568 =T HE T RE ERHA KA EAR 1 340
2569 MR T RE ERHA R ALK R 2 680
2570 BKE T RE ERHA RAT KA 1 340
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2571 T T RE BRHA R ALK R 1 340
2572 B T RE BRAE RATE LR 1 400
2573 FHF TR ERE KA AR 1 340
2574 AR T REE ERE KA ERAR 1 340
2575 FHhx RTEHE KE R A& R 1 460
2576 K BTEH KE KA ERAR 3 1200
2577 BR® RTEHE KE KA EAR 3 1380
2578 FHE BTEH KE KA EAR 3 1200
2579 st BTEE KE R ALK R 1 460
2580 e X1 REFEE K& KA EAR 1 400
2581 KAF RTEHE KE R ALK R 1 400
2582 KT BTEH KE RATE AR 4 1600
2583 KP4 BFEE KE R ALK AR 1 460
2584 kiR RTEE KE KA AR 2 800
2585 KE X RTEHE KE R AT & R 2 920
2586 & REEE KE KA EAR 2 800
2587 K RTEHE KE KA AR 4 1600
2588 E AR BTEH KE KA EAR 5 2000
2589 Y4 E RTEHE KE R ALK R 2 920
2590 kAR REFEE k& KA EAR 1 460
2591 XM BRFEE KE R ALK R 2 680
2592 FLE BTEH KE RAT KA 2 800
2593 TR E BFEE KE R ALK R 2 920
2594 T A M BTEH KE KA ERAR 3 1200
2595 Wt & RTEHE KE R AT & R 2 800
2596 7K B BTEH KE KA ERAR 1 400
2597 KA bAEE 1Y KA AR 2 680
2598 FHE LR EE Wy KA EAR 1 340
2599 F ke L EEE Y R ALK R 2 680
2600 = LREE Mg KA EAR 1 340
2601 B xE% bAEE 1Y KA AR 1 340
2602 e il LREE Mg RAT KA 7 2380
2603 X 4R 3 L EEE Y R ALK AR 6 2040
2604 =EK LR EE Wy KA ERAR 3 1020
2605 ZH = bAEE 1Y R AT & R 5 1700
2606 B LREE Mg KA EAR 2 680
2607 i B REE 1T R ALK R 5 1700
2608 PR 1A e L R EAE [Ty KA ERAR 1 400
2609 k= BEEE Y R ALK R 2 680
2610 Tk w ik LREE Mg KA ERAR 1 400
2611 & B REE 1T R ALK R 2 680
2612 Wt E LREE Mg RAT KA 1 340
2613 ki b AREE [T KA AR 3 1020
2614 7k B LRES Mg KA ERAR 1 400
2615 =E bAEE 1Y R A& AR 5 2000
2616 E1H LREE Mg KA ERAR 3 1200
2617 Fig B REE 1T R ALK R 2 680
2618 k& LRES Mg KA EAR 4 1600
2619 ik L EEE Y R ALK R 3 1020
2620 g kg LREE Mg KA EAR 3 1020
2621 Bk A bAEE 1y KA AR 3 1200
2622 M LREE Mg RAT KA 2 680
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2623 e B REE 1T R ALK R 3 1020
2624 s L REE 1T RATE LR 2 680
2625 KER L REE Y R ALK AR 1 340
2626 B IF 4 L REE 17 KA ERAR 1 400
2627 ki bAEE 1y R A& R 2 680
2628 B XX LREE Mg KA ERAR 1 340
2629 TEE B REE 1T R AT & R 3 1020
2630 X T A LRES Mg KA EAR 1 340
2631 W B EEE Y R ALK R 1 400
2632 =4 LREE Mg KA EAR 1 340
2633 KES BAREE 1Y KA AR 2 680
2634 %&}Mf LREE Mg RATE AR 2 800
2635 &% EREE o HKXEZ 4 KA AR 3 1200
2636 SIE¥ LEEY 4 —HRXEZ S KA AR 3 1200
2637 I#F BREE o HKXEZ 4 R AT & R 3 1200
2638 =7 LEREY 4 —HKXEZ S KA EAR 3 1200
2639 ek B5REE o HKXEZ 4 KA AR 1 400
2640 = ER LEEY s HXEZ S KA EAR 3 1200
2641 TEA ks W Ep R ALK R 2 800
2642 7K 4 % W Bp KA EAR 1 340
2643 L ks W aEp KA AR 1 400
2644 4T NG W Bk RAT KA 1 340
2645 & XA kS W Bp KA AR 1 460
2646 AR N4 W EL KA ERAR 2 800
2647 MR KRS e R AT & R 2 920
2648 KA NG W Bk KA ERAR 1 400
2649 ZHE s s Bp R ALK R 1 400
2650 1T & N4 W B KA EAR 1 340
2651 ETA ks W Ep R ALK R 1 400
2652 Tk E % W Bp KA EAR 1 340
2653 7K 3\ ks W aEp KA AR 1 340
2654 JA R4 NG W Bk RAT KA 1 400
2655 N F, ks W Ep R ALK AR 1 460
2656 K N4 W EL KA ERAR 3 1380
2657 TAE KRS e R AT & R 1 340
2658 X2 s e KA EAR 1 340
2659 Bte S W Ep KA AR 1 400
2660 K NG W EL KA ERAR 1 400
2661 B E et ks W Ep R ALK R 2 800
2662 K F k% W Ep KA ERAR 2 920
2663 KX H ks W Ep R ALK R 1 340
2664 JA R X NG W Bk RAT KA 2 800
2665 ZEH ks W Ep R ALK R 2 680
2666 FE2 N4 W EL KA ERAR 1 340
2667 e WKy W aEp R A& AR 1 400
2668 A s e KA ERAR 1 340
2669 ZHE s s Bp R ALK R 1 400
2670 w5 % N4 W EL KA EAR 2 680
2671 M E s W BL KA AR 1 460
2672 KR % W Bp KA EAR 1 400
2673 M RE ks W aEp R ALK R 1 340
2674 ZEHA NG W EL RAT KA 1 340
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2675 T ks W Ep KA AR 1 460
2676 b NG W Bk RATE LR 2 800
2677 =] kS W Bp KA AR 1 340
2678 7 E N4 W EL KA ERAR 2 800
2679 I N4 W e R A& R 1 340
2680 HEHE NG W Bk KA ERAR 1 340
2681 EHE NS W Ep KA EAR 1 340
2682 Irxt NG W EL KA EAR 1 400
2683 =HEY ks W Ep KA AR 1 340
2684 7k A it k% W Ep KA EAR 1 400
2685 HAZ ks W Ep KA AR 1 400
2686 EYOR ) N4 W Rk RATE AR 1 340
2687 KT E kS W Bp KA AR 1 400
2688 F# 0 N4 W EL KA AR 2 800
2689 ik U3 kg W KA AR 1 340
2690 ARE ks D aEp KA EAR 1 340
2691 KA s W BL R AT & R 1 340
2692 A fF A% ks Bk KA EAR 1 400
2693 £ ks B R ALK R 1 460
2694 LRy s B KA EAR 2 800
2695 FD 2B ks B R ALK R 1 460
2696 7K L HE ks B RAT KA 1 460
2697 WA AE ks B KA AR 3 1200
2698 [ atisa ks Bk KA ERAR 4 1360
2699 2% ks B R AT & R 2 680
2700 EHE ks B KA ERAR 3 1200
2701 e s Bk KA AR 1 460
2702 JE T 4 ks Bk KA EAR 1 400
2703 ID F i ks B R ALK R 2 920
2704 FLF s B KA EAR 3 1020
2705 7K B Ak ks B R ALK R 1 460
2706 K KT ke B RAT KA 3 1380
2707 KH = ks B KA AR 1 400
2708 WED ks Bk KA ERAR 2 800
2709 IR ks B R AT & R 1 340
2710 MR ks B KA EAR 2 800
2711 Bl % ks B R ALK R 1 340
2712 o RE ks Bk KA ERAR 1 400
2713 B ks B R ALK R 2 800
2714 MITK s B KA ERAR 1 400
2715 PN ks B R ALK R 2 680
2716 7K A BF ks B RAT KA 2 800
2717  E % ks B R ALK R 1 400
2718 A LRk ks Bk KA ERAR 1 400
2719 EtRFE ks B R A& AR 1 400
2720 i ks B KA ERAR 1 400
2721 MAAE ks B R ALK R 3 1020
2722 M IF ks Bk KA EAR 5 1700
2723 7K X A% ks B R ALK R 1 340
2724 TR WS KA EAR 1 400
2725 Z i % WS hte KA AR 1 400
2726 Eikia WS A RAT KA 2 800
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2727 P 7k 3 ks ke R ALK R 2 920
2728 EYi~ WS A RATE LR 1 400
2729 i WS e KA AR 2 680
2730 KA ks Lk KA ERAR 2 920
2731 [ 22 ks A R A& R 1 460
2732 AT WS KA ERAR 1 460
2733 iz ks R AT & R 1 400
2734 b kY Lk KA EAR 4 1360
2735 B 7% ks ke R ALK R 2 800
2736 Eakih WS KA EAR 1 460
2737 B ks R ALK R 1 340
2738 NEZ WS A RATE AR 2 680
2739 A E X WS e KA AR 1 340
2740 EHE ks K KA AR 1 340
2741 (7T WS KA AR 1 340
2742 7K K R WS A KA EAR 1 340
2743 EHXE WS hte KA AR 1 340
2744 EHE ks h# KA EAR 1 340
2745 B 5 & ks ke R ALK R 1 340
2746 A WS KA EAR 1 340
2747 ElJE! ks ke R ALK R 1 340
2748 ®EF WS A RAT KA 1 340
2749 2 18 I WS e KA AR 1 340
2750 FEX ks h# KA ERAR 1 340
2751 ZHE ks R AT & R 1 340
2752 Z 5 WS KA ERAR 1 400
2753 TR E ks ke R ALK R 1 340
2754 R K kY Lk KA EAR 1 340
2755 Al R ks ke R ALK R 2 920
2756 TEH kY L KA EAR 2 680
2757 kit W s #EE R ALK R 1 400
2758 E=id N4 HEE RAT KA 1 400
2759 K IZVE WS HEE KA AR 2 920
2760 A w4 HEE KA ERAR 3 1020
2761 i ko #E5E KA AR 1 400
2762 7K K I N4 HEE KA EAR 2 800
2763 ARAAE WS #HEE KA AR 3 1380
2764 7K X HE w4 HEE KA ERAR 1 400
2765 7K 15 BF s #BEE R ALK R 1 340
2766 A WS HEE KA ERAR 1 400
2767 7K o A W s #BEE KA AR 2 800
2768 X N4 HEE RAT KA 3 1380
2769 KFE®L W s #BEE KA AR 1 460
2770 ANl w4 HEE KA ERAR 3 1200
2771 7K F R s HEE R A& AR 2 800
2772 WA= N4 HEE KA ERAR 1 340
2773 X WS #HEE KA AR 2 680
2774 KA ZE N4 HEE KA EAR 2 680
2775 A WS HEE KA AR 2 680
2776 7K E & WS HEE KA EAR 1 400
2777 F 2 W s #BEE R ALK R 1 400
2778 e N4 HEE RAT KA 2 680
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2779 e s W s #BEE KA AR 1 400
2780 7k B ik N4 HEE RATE LR 3 1020
2781 # [E Wy #BEE KA AR 1 340
2782 R = w4 HEE KA ERAR 1 400
2783 KEAE w4 HEE KA AR 1 400
2784 A B w4 HEE KA ERAR 1 400
2785 7K il ¢ Wy #BEE KA EAR 1 400
2786 ML E N4 HEE KA EAR 1 400
2787 7RIz A W s #BEE R ALK R 2 800
2788 L 58 &K WS HEE KA EAR 2 800
2789 KR W s #EE R ALK R 1 400
2790 ErZ N4 HEE RATE AR 1 340
2791 K% W s #BEE KA AR 1 340
2792 Z= X N4 HEE KA AR 1 400
2793 FEW ko #E5E KA AR 3 1020
2794 Tkiz 2 w4 HEE KA EAR 3 1020
2795 7k & X Wy FoF R AT & R 1 400
2796 FLE N4 FoE KA EAR 1 400
2797 W 4 Wy FoF R ALK R 1 400
2798 4B X kS FoF KA EAR 1 340
2799 ok ks FoF R ALK R 2 800
2800 i 2% kS FoF RAT KA 2 800
2801 I /ME Wy FoF R ALK R 2 920
2802 BB Ny Faf KA ERAR 2 800
2803 K X® ks FoF R AT & R 1 460
2804 7K AL X kS FoF KA ERAR 1 400
2805 2= Wy FoF R ALK R 2 800
2806 L E5E N4 FoiE KA EAR 1 400
2807 e Wy Fo R ALK R 4 1840
2808 WX E kS FoF KA EAR 2 920
2809 MR Ry FoF R ALK R 2 920
2810 KOLE kS FoF RAT KA 1 400
2811 THE Wy FoF R ALK AR 2 680
2812 Bt N4 FoE KA ERAR 1 340
2813 =X ks FoF R AT & R 2 800
2814 K= kS FoF KA EAR 1 400
2815 [ e Wy FoF R ALK R 2 800
2816 R E N4 FoE KA ERAR 1 400
2817 KEAH Wy FoF KA AR 2 800
2818 LISES kS FoF KA ERAR 1 340
2819 AU ks FoF R ALK R 1 400
2820 WA 3% kS FoF RAT KA 1 340
2821 TR Wy FoF R ALK R 1 340
2822 B2 N4 FoE KA ERAR 1 400
2823 KA Z Wy FoF R A& AR 1 400
2824 Epini kS FoF KA ERAR 1 340
2825 2% Wy FoF R ALK R 4 1600
2826 kKEX N4 FoE KA EAR 1 340
2827 K E X Wy FoF R ALK R 2 680
2828 I XA, kS FoF KA EAR 2 680
2829 kA ks FoF R ALK R 2 800
2830 = k3 kS FoF RAT KA 1 400
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2831 K AT ks FoF R ALK R 1 400
2832 x| ¥ ZhY &5 RATE LR 2 920
2833 E i ko &5 R ALK AR 2 800
2834 ¥ g ZhY &5 KA ERAR 1 460
2835 kKEZ Vil s R A& R 1 340
2836 EaRiS Vil s KA ERAR 1 400
2837 7K g 58 BB S WA R AT & R 1 460
2838 REgsE Vil s KA EAR 3 1020
2839 7K PR Vil s R ALK R 1 340
2840 BF 4T Vil s KA EAR 2 680
2841 KB ¥ Vil s R ALK R 1 400
2842 e Vil s RATE AR 1 340
2843 KA BB S WA R ALK AR 3 1020
2844 A Vil s KA AR 1 340
2845 FE & Vil s R AT & R 1 340
2846 B Vil s KA EAR 3 1020
2847 KT Vil s R AT & R 1 400
2848 it % B Vil s KA EAR 3 1200
2849 [ Vil s R ALK R 2 800
2850 T T A Vil s KA EAR 1 340
2851 {7 F 5% Vil s R ALK R 2 680
2852 ik Vil s RAT KA 2 800
2853 KX Z BB S WA KA AR 2 680
2854 KFER Vil s KA ERAR 1 340
2855 KPE FES S AR R AT & R 2 680
2856 Kx Vil s KA ERAR 3 1020
2857 KE R Vil s R ALK R 1 460
2858 KXE Vil s KA EAR 2 800
2859 & E A Vil s R ALK R 2 680
2860 RRIFZ Vil s KA EAR 2 680
2861 X & Vil s R ALK R 2 800
2862 7 Vil s RAT KA 2 680
2863 KEH B ER S WA R ALK AR 1 340
2864 K IFfE Vil s KA ERAR 1 340
2865 B EN FES S AR R AT & R 1 340
2866 LAY Vil s KA EAR 1 400
2867 KGR Vil s R ALK R 1 340
2868 7 AE Vil s KA ERAR 2 680
2869 KAE Vil s R ALK R 1 340
2870 i Vil s KA ERAR 3 1020
2871 £ Vil s R ALK R 1 340
2872 & IF kK Vil s RAT KA 1 340
2873 YE%H Vil s R ALK R 1 340
2874 kiR Vil s KA ERAR 2 680
2875 KR Vil s R A& AR 2 800
2876 A& Vil s KA ERAR 1 400
2877 wEE Vil s R ALK R 1 340
2878 7K F Vil s KA EAR 1 460
2879 fE K & Vil s R ALK R 2 680
2880 % T 4 Vil s KA EAR 2 680
2881 A X Vil s KA AR 2 800
2882 BhE Vil s RAT KA 1 460
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2883 B R Vil s R ALK R 1 400
2884 ITEx Vil s RATE LR 2 800
2885 A X & BB S WA R ALK AR 1 400
2886 [ Vil s KA ERAR 1 340
2887 g% Vil s R A& R 1 340
2888 Tk Vil s KA ERAR 1 340
2889 Xk % Vil s KA EAR 1 340
2890 Kk Vil s KA EAR 1 400
2891 BR X Vil s R ALK R 1 340
2892 BF L 3% Vil s KA EAR 1 340
2893 KA Vil s R ALK R 1 340
2894 ¥ Vil s RATE AR 1 340
2895 /NI BB S WA R ALK AR 1 340
2896 7K B Vil s KA AR 1 340
2897 B 48 5% Vil s KA AR 1 340
2898 KT Vil s KA EAR 2 680
2899 KFEAT Vil s KA AR 2 680
2900 & EE Vil s KA EAR 1 340
2901 7K Vil s R ALK R 1 340
2902 7K A% Vil s KA EAR 2 680
2903 24 F Vil s R ALK R 1 340
2904 7K AT Vil s RAT KA 1 340
2905 i BB S WA KA AR 2 680
2906 Y Vil s KA ERAR 1 340
2907 8 I 42 FES S AR R AT & R 1 340
2908 ¥ 3% 8 Vil s KA ERAR 2 680
2909 KR Vil s R ALK R 1 400
2910 ERE LEE Y HiE KA EAR 1 340
2911 PR K A DEE S ik R ALK R 2 680
2912 BRIE X LEE Y HtE KA EAR 2 800
2913 M Dy #iE R ALK R 2 800
2914 FEX LEE Y ik RAT KA 1 400
2915 FALE DEE S FiE R ALK AR 2 800
2916 X\ 4B 4% LY ik KA ERAR 1 400
2917 X E A DEEY it R AT & R 2 800
2918 EEES LEE Y HiE KA EAR 1 340
2919 i Dy #iE R ALK R 2 800
2920 TIEfr LEE Y HiiE KA ERAR 1 340
2921 B DREE S ik KA AR 1 340
2922 ek LEEY HitE KA ERAR 1 400
2923 TRM Dy e R ALK R 2 800
2924 oK A LEEY ik RAT KA 1 400
2925 BHE= DREYEY FiiE R ALK R 2 680
2926 X & 3 LY ik KA ERAR 2 680
2927 X 4 & DEES ik R A& AR 1 400
2928 £ RE LEE Y itk KA ERAR 1 400
2929 A= DRES i R ALK R 1 400
2930 JE AT LEE Y HiiE KA EAR 1 340
2931 EXR= DREES FiE R ALK R 1 400
2932 JEHH % LEEY HtE KA EAR 1 400
2933 Ix= Dy e R ALK R 1 400
2934 R LEE Y ik RAT KA 1 340
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2935 K Dy e R ALK R 2 680
2936 P 56 AH LEE Y ik RATE LR 1 400
2937 T E# DEES FiE R ALK AR 2 800
2938 B E DEE Y ik KA ERAR 1 400
2939 X R DEEY ik R A& R 2 680
2940 A LEE Y it KA ERAR 2 800
2941 BRi = DRy HiiE R AT & R 1 340
2942 R LEE Y i KA EAR 2 680
2943 7K i [ DREE S FiE R ALK R 2 680
2944 X 5 LEE Y HtE KA EAR 1 400
2945 FHZ Dy #iE R ALK R 1 400
2946 el LEE Y ik RATE AR 2 800
2947 i E IR DEE S FiE R ALK AR 2 800
2948 % LEE Y ik KA AR 1 340
2949 ZRE DEE Y i R AT & R 2 800
2950 T A LEE Y itk KA EAR 1 400
2951 B Dy #iE R AT & R 1 400
2952 i LEE Y i KA EAR 2 800
2953 HIT% DREE S ik R ALK R 1 400
2954 T *% LEE Y HtE KA EAR 1 400
2955 FRE Dy e R ALK R 1 400
2956 F K E LEE Y ik RAT KA 2 800
2957 MEFH DEE S FiE R ALK R 1 400
2958 EX S DEE Y ik KA ERAR 1 400
2959 EX= DEE Y i R AT & R 2 680
2960 Z G LEE Y itk KA ERAR 1 340
2961 R E DRy FAE R ALK R 2 800
2962 FTE=x LREEy FAE KA EAR 1 340
2963 e DREEY EARE R ALK R 1 400
2964 SN F LEEy #AE KA EAR 1 460
2965 [ DRy #ZAE R ALK R 1 400
2966 B X LEEy FAE RAT KA 1 400
2967 Ea DREES EAE R ALK AR 1 340
2968 K F o LEEY FAE KA ERAR 1 400
2969 FEX DRy FAE R AT & R 1 340
2970 T HiE LEEy FAE KA EAR 1 400
2971 M T AR DRy FAE R ALK R 1 340
2972 PRt = LREEy FAE KA ERAR 1 400
2973 WEE DREEY EARE R ALK R 1 400
2974 X A X LREEy #AE KA ERAR 1 340
2975 oK i = DRy FAE R ALK R 1 400
2976 MED LEEy FAE RAT KA 1 400
2977 FEX DRES EAE R ALK R 1 400
2978 REE LEEy FAE KA ERAR 1 400
2979 SRR DRy FAE R A& AR 1 400
2980 H X & LEEy FAE KA ERAR 2 800
2981 BEZ DREEy #FAE KA AR 1 400
2982 B B LREEy FAE KA EAR 1 400
2983 i % & DREES EAE R ALK R 1 400
2984 X fw B LREEy #AE KA EAR 1 400
2985 kAT DRy FAE R ALK R 1 400
2986 tEL LEEy FAE RAT KA 1 400
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2987 ITHR DRy FAE R ALK R 1 400
2988 FEH LEEy FAE RATE LR 1 400
2989 Wik xE DY EARE KA AR 1 400
2990 & BAg LEEY FAE KA ERAR 1 400
2991 £UE M DRy #FAE R A& R 1 340
2992 I¥X LEEy FAE KA ERAR 3 1200
2993 i KB NEE S R AT & R 3 1200
2994 W& ME s NE KA EAR 3 1020
2995 X FEAX NEE S R ALK R 2 680
2996 Rl NES NE KA EAR 2 920
2997 Y X E nEsz mz R ALK R 1 400
2998 I hn 4R NES NE RATE AR 1 340
2999 i nEsz mz R ALK AR 1 400
3000 EFE ME s NE KA AR 1 340
3001 xF = nEs mz R AT & R 1 400
3002 e NES NE KA EAR 1 340
3003 GEES nEsz mz KA AR 1 400
3004 XA 4% ME s NE AR AR 3 1020
3005 X A, NEE S R ALK R 2 680
3006 sl =K1 NES NE KA EAR 2 680
3007 FREE NEE S R ALK R 2 680
3008 XEH NES NE RAT KA 2 680
3009 HZE nEsz mz R ALK R 2 800
3010 KA ME s NE KA ERAR 1 340
3011 KX A NES NE R AT & R 2 680
3012 53 NES NE KA ERAR 1 340
3013 =R nEsz mz R ALK R 1 340
3014 EEHZ ME s NE KA EAR 1 340
3015 % NEE S R ALK R 2 680
3016 FR= NES N2 KA EAR 1 340
3017 ot nEsz mz R ALK R 2 680
3018 KA NES NE RAT KA 1 340
3019 W= nEsz mz R ALK AR 1 340
3020 TR MNE s NE KA ERAR 2 680
3021 TEa nEs mz R AT & R 2 680
3022 Z NES NE KA EAR 1 340
3023 RIE nEsz mz R ALK R 1 340
3024 HER ME s NE KA ERAR 1 340
3025 il v a NEE S R ALK R 1 340
3026 WA NES N2 KA ERAR 2 680
3027 A AE NEE S KA AR 2 680
3028 R4 I NES NE RAT KA 1 340
3029 F R E NEE S KA AR 1 340
3030 fEZ 3 MNE s NE KA ERAR 2 680
3031 ZHE R NES NE R A& AR 1 340
3032 K EF NES NE KA ERAR 1 340
3033 F A E NEE S R ALK R 2 680
3034 5 A% ME s NE KA EAR 1 340
3035 E M HT NEE S R ALK R 2 680
3036 i NES NE KA EAR 2 680
3037 FIERE nEsz mz R ALK R 2 680
3038 Al NES NE RAT KA 2 680
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3039 X = S R ALK R 1 340
3040 EXN ] RATE LR 2 680
3041 B S R ALK AR 2 680
3042 B AR S KA ERAR 1 400
3043 FEAL S R A& R 1 340
3044 il v ] KA ERAR 3 1020
3045 Z K UES R AT & R 1 340
3046 TR E ] KA EAR 1 460
3047 AER S R ALK R 2 680
3048 T ] KA EAR 2 680
3049 KIFER S R ALK R 1 340
3050 At ] RATE AR 1 400
3051 BT S R ALK AR 1 340
3052 B S KA AR 2 680
3053 FIFF S R AT & R 2 680
3054 ZE ] KA EAR 2 680
3055 FiE UES R AT & R 2 680
3056 EHE ] KA EAR 1 400
3057 N2 UES R ALK R 1 400
3058 AR [ ] KA EAR 1 340
3059 i 4R S R ALK R 1 340
3060 S ] RAT KA 1 340
3061 X & AR S R ALK R 1 340
3062 Z R S KA ERAR 1 340
3063 e FE S R AT & R 3 1020
3064 T X ] KA ERAR 3 1020
3065 IEE UES R ALK R 1 340
3066 H X £ ] KA EAR 2 680
3067 X % S R ALK R 1 340
3068 EEDS ] KA EAR 1 340
3069 Y& S R ALK R 1 340
3070 BEx ] RAT KA 1 340
3071 R E S R ALK AR 6 2040
3072 X\ & H S KA ERAR 2 680
3073 itz S R AT & R 2 680
3074 RE#E ] KA EAR 2 680
3075 X K% UES R ALK R 1 340
3076 i 8 ] KA ERAR 1 340
3077 xR UES R ALK R 2 680
3078 X ] KA ERAR 1 340
3079 7k 21k S R ALK R 4 1360
3080 X % %% ] RAT KA 1 340
3081 ZHE S R ALK R 1 340
3082 HRATE S KA ERAR 2 680
3083 [ UES R A& AR 1 340
3084 EEN ] KA ERAR 1 340
3085 ZMAE UES R ALK R 1 340
3086 Z= i % ] KA EAR 1 340
3087 = S R ALK R 1 340
3088 ZAL ] KA EAR 1 340
3089 I to S R ALK R 1 340
3090 FET ] RAT KA 1 340
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3091 T X NEE S R ALK R 2 680
3092 X FE X NES NE RATE LR 1 400
3093 Eitin MES NE KA AR 1 460
3094 KR ME & oA KA ERAR 3 1200
3095 KIEZ NE S oA R A& R 1 340
3096 7K A ME & A KA ERAR 2 680
3097 wiER WZ 2 HimHE R AT & R 2 680
3098 g AT NE & A KA EAR 4 1360
3099 2pEg NZE 2 HimHE R ALK R 1 460
3100 XKE WE % WA KA EAR 1 340
3101 K E WZ 2 HimAE R ALK R 1 400
3102 A ME & o RATE AR 1 340
3103 BEE WZ 2 HimHE R ALK AR 1 340
3104 ek ME & o KA AR 3 1380
3105 A NE S oA R AT & R 1 400
3106 7K AL AX ME & A KA EAR 1 400
3107 K ARAT WZ 2 WA KA AR 1 340
3108 FxF NE & A KA EAR 1 340
3109 7K A A NZ 2 WA R ALK R 1 340
3110 HE WE % WA KA EAR 2 680
3111 wiEE WZ 2 HimAE R ALK R 2 920
3112 M2 ME & o RAT KA 2 680
3113 ad NZE 2 HimHE R ALK R 1 340
3114 A= ME & o KA ERAR 2 680
3115 x| 28 NZ 2 1t R AT & R 2 680
3116 el ME & A KA ERAR 1 340
3117 = WZ 2 WA R ALK R 1 340
3118 PR IF % NE & A KA EAR 1 340
3119 AT NZ 2 Wi R ALK R 2 680
3120 HED WE % WA KA EAR 1 340
3121 TKOCER WZ 2 HimHE R ALK R 2 680
3122 & F ME & o RAT KA 4 1360
3123 L4 NZE 2 HimHE R ALK AR 2 680
3124 I ME & o KA ERAR 1 340
3125 Tx= NZ 2 1t R AT & R 1 340
3126 AV ME & A KA EAR 1 340
3127 KX AT WZ 2 HimHE R ALK R 1 340
3128 FEH ME & o KA ERAR 1 340
3129 Z et NZE 2 Wi R ALK R 1 400
3130 AL NEY REE KA ERAR 1 340
3131 MRz NE s REE R ALK R 2 800
3132 ik MNE Y REE RAT KA 2 680
3133 HEE NE s REKE R ALK R 2 680
3134 B MNE Y REE KA ERAR 1 340
3135 Bk MNEY REE R A& AR 2 800
3136 %A MNE Y REE KA ERAR 2 680
3137 7K Ik NE s REXE R ALK R 1 340
3138 e % MNE Y REE KA EAR 2 920
3139 XE NE s REKE R ALK R 2 920
3140 JE L % NEY REE KA EAR 1 340
3141 % NE s REKE R ALK R 1 400
3142 1 7% B MNE Y REE RAT KA 1 340
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3143 AL NE s REfE KA AR 2 680
3144 & MNE Y REE RATE LR 4 1360
3145 R & X NE s REKE KA AR 1 340
3146 B MNE Y REE KA ERAR 1 400
3147 s MNE Y REE R A& R 2 680
3148 %K MNE sy REE KA ERAR 2 680
3149 MR NE s REKE R AT & R 1 340
3150 254k MNE Y REE KA EAR 1 340
3151 THE NEs REKE R ALK R 1 400
3152 & 3 NEY REE KA EAR 1 400
3153 KIS NE s REfE KA AR 3 1020
3154 R MNE Y REE RATE AR 1 340
3155 M xR NE s REK R ALK AR 1 340
3156 = 55 MNE Y REE KA AR 2 680
3157 ENCE MNE Y REE R AT & R 1 400
3158 K IE MNE Y REE KA EAR 1 340
3159 Z J& Fu NE s REKE R AT & R 1 340
3160 # E IR MNE Y REE KA EAR 1 340
3161 F ¥ NE s REXE KA AR 2 800
3162 B NEY REE KA EAR 1 400
3163 7% B NE s REE R ALK R 1 340
3164 & A MNE Y REE RAT KA 2 680
3165 KA NE s RE5E KA AR 2 920
3166 YR = MNE s R%HE KA ERAR 1 400
3167 JEL T A MNE s REHR R AT & R 1 340
3168 1 B MNE Y REE KA ERAR 1 400
3169 AR E NE s REKE R ALK R 2 800
3170 AR MNE Y REE KA EAR 1 340
3171 K B NEs REK R ALK R 2 680
3172 BKE NEY REE KA EAR 1 340
3173 HRET NE s REKE R ALK R 1 400
3174 %A MNE Y REE RAT KA 1 400
3175 s IFF NE s RE5E R ALK AR 1 400
3176 4 B I MNE Y REE KA ERAR 1 340
3177 XFEH MNE s REHR R AT & R 1 340
3178 IT#Hw Fhy FHRES KA EAR 2 920
3179 AR Ty FHHEL R ALK R 1 400
3180 B IE Fhy FHRES KA ERAR 5 2000
3181 R Ty FHHEL R ALK R 1 400
3182 ¥t Fhy FHRES KA ERAR 2 800
3183 X\ A 2 Ty FHHEL R ALK R 3 1200
3184 JE 4 % Fhy FHRES RAT KA 3 1200
3185 2 2 Ty FHHEL KA AR 1 400
3186 B HE XL Ty FHRES KA R 4 1600
3187 B E Ty FHHEL R A& AR 5 2000
3188 % RE FLhy FHRES KA ERAR 1 400
3189 B K Ty FHHEL R ALK R 1 400
3190 X% Ty FHREL KA EAR 2 800
3191 RXZ Ty FHHEL R ALK R 1 400
3192 EER Ty FHRES KA EAR 2 920
3193 Vi a8 Ty FHHEL KA AR 3 1200
3194 BEE Fhy FHRES RAT KA 3 1200

56271, H 13277




3195 HHE Ty FHHEL R ALK R 2 800
3196 kil FLhy FHRES RATE LR 2 800
3197 Y Ty FHHEL R ALK AR 1 400
3198 FEA Ty N EL KA ERAR 2 920
3199 P& e Ty FHHEL R A& R 2 920
3200 JAEE Fhy FHRES KA ERAR 3 1200
3201 ke Ty FHHEL R AT & R 1 400
3202 JA & A& Fhy FHRES KA EAR 2 800
3203 BEE Fy FHHEL R ALK R 3 1200
3204 # g 4 Fhy FHRES KA EAR 2 800
3205 &%t Ty FHHEL R ALK R 1 400
3206 B EE Fhy FHRES RATE AR 1 400
3207 W &kt Ty FHHEL R ALK AR 4 1600
3208 REE Ty FHRES KA R 1 400
3209 AR Ty FHHEL R AT & R 1 400
3210 F R Fhy FHRES KA EAR 2 800
3211 = A Ty FHHEL R AT & R 1 400
3212 7 & Z Ty FHRES KA EAR 1 400
3213 8% Ty FHHEL R ALK R 2 800
3214 BIEE Fhy FHRES KA EAR 2 920
3215 E i Ty FHHEL KA AR 3 1200
3216 FEE Fhy FHRES RAT KA 5 2000
3217 KR Ty FWuHEL KA AR 2 800
3218 it Fhy FHRES KA ERAR 2 800
3219 B Ty FHHEL R AT & R 1 400
3220 HR N FLhy FHRES KA ERAR 1 400
3221 S A Ty FHHEL R ALK R 1 400
3222 i 15 B Fhy FHRES KA EAR 2 800
3223 FHRE Ty FHHEL R ALK R 1 400
3224 EWE Fhy FHRES KA EAR 1 400
3225 aie! Ty FHRHEL R ALK R 1 400
3226 A& & Fhy FHRES RAT KA 2 800
3227 A Ty FWuHEL KA AR 1 400
3228 JEL A AR Ty R EL KA ERAR 7 2380
3229 el Ty FHHEL R AT & R 3 1200
3230 4 IR Fhy FHRES KA EAR 2 680
3231 XK %4 FEHZES R ALK R 1 340
3232 R L% 4% TRAZES KA ERAR 1 400
3233 TR 5%y EwENES KA AR 1 400
3234 L= L5%¢ TRAZES KA ERAR 1 400
3235 O E* 5%4 FRHZES R ALK R 2 800
3236 KX RE L5%¢ TRAZES RAT KA 1 340
3237 B ARG 5%4% EFEHZES R ALK R 1 400
3238 X EF L%¢ FTRAZES KA ERAR 1 400
3239 B AR 5% % EwEaAES R A& AR 2 800
3240 kB L%¢ FRAZES KA ERAR 2 800
3241 BKIE 5%4% FEHZES R ALK R 2 800
3242 B F L%4 FTRAZES KA EAR 2 920
3243 KR 554 FEHZS KA AR 2 800
3244 ZHEE L5%¢ TRAZES KA EAR 1 340
3245 AN 5% 4 FRHZES R ALK R 1 400
3246 TR L%¢ FTRAZES RAT KA 1 400
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3247 I i 5% 4% FRHZES R ALK R 2 680
3248 R AE L%¢ TRAZES RATE LR 1 340
3249 FA L 5%4 FEHZS KA AR 1 400
3250 FEx L%¢ ZTRAZES KA ERAR 1 340
3251 TEE 5% % TR ES R A& R 1 340
3252 K Ft L% ¢ FRAZES KA ERAR 1 400
3253 BRAE 554 FEHZES R AT & R 2 800
3254 BEE L%¢ FTRAZES KA EAR 1 400
3255 R % 5% 4% FEHZS KA AR 1 400
3256 FE¥ L5%¢ TwRAZES KA EAR 1 340
3257 KR H# 5% 4% FRHZES R ALK R 1 400
3258 REBZE L%¢ TwRAZES RATE AR 1 340
3259 TR ¥rhE AIRZS R ALK AR 1 400
3260 EE BhE AIRZES KA AR 1 400
3261 i g BhE AIRZS R AT & R 3 1200
3262 Etadial BhE AIRZES KA EAR 3 1020
3263 o — % BhE AIRZS R AT & R 1 400
3264 [ am BhE AIRZES KA EAR 1 340
3265 bYiiFin EhE AARZES KA AR 6 2400
3266 7K IF % EhE AIRZES KA EAR 2 800
3267 K BrhE AIRZS KA AR 2 800
3268 M58 BhE AIRZES RAT KA 3 1200
3269 e R AARZES KA AR 2 800
3270 XB & F BhE AIRZES KA ERAR 1 460
3271 5 7% BhE AIRZS R AT & R 2 800
3272 X[ g BhE AIRZES KA ERAR 1 460
3273 T BhE AIRZS R ALK R 2 920
3274 BEE BhE AINZS KA EAR 3 1200
3275 = EhE AARZES KA AR 1 460
3276 O JE EhE AIRZES KA EAR 1 400
3277 EilGn BrhE AIRZS R ALK R 1 460
3278 EEia BhE AIRZES RAT KA 1 400
3279 EE3 ¥rhE AIRZS R ALK AR 2 680
3280 B A A BhE AIRZES KA ERAR 1 460
3281 7 B BhE AIRZS KA AR 2 800
3282 3% fo BhE AIRZES KA EAR 2 800
3283 oM BhE AIRZS KA AR 2 800
3284 =R H R AARZS KA ERAR 2 800
3285 A BhE AIRZS R ALK R 2 680
3286 X% EhE AIRZES KA ERAR 2 800
3287 i X BrhE AIRZS R ALK R 1 400
3288 SRR BhE AIRZES RAT KA 4 1600
3289 EES ¥rhE AIRZS KA AR 1 400
3290 iR BhE AIRZES KA ERAR 3 1020
3291 = BhE AIRZS R A& AR 3 1200
3292 FEE BhE AIRZES KA ERAR 2 800
3293 A M BhE AIRZS KA AR 3 1020
3294 — Ut SEEE D8R KA EAR 1 400
3295 wE LEHE T8RN R ALK R 1 400
3296 K E @Y DR KA EAR 1 340
3297 NiRiica SEHE D8N KA AR 1 400
3298 Z XK £EEE DR RAT KA 2 680
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3299 b R%E SEHE D8N KA AR 6 2400
3300 K& £EEE D8R RATE LR 1 400
3301 AEAL LEHE DT8RN R ALK AR 1 400
3302 % XK SEEE DR KA ERAR 1 400
3303 =% SEEE D8R KA AR 1 400
3304 I 4*% SEAEE D8R KA ERAR 2 800
3305 BEE SEAE D KA EAR 1 340
3306 R BRlLEEAEL FiR KA EAR 1 340
3307 & 7 8 RlLgrEAEL SR R ALK R 2 680
3308 RT3 RlLEEAEL iR KA EAR 1 340
3309 KE T Rl AEL SR R ALK R 1 340
3310 % 44 B FLEEAEL FR RATE AR 1 460
3311 i Rl AEL SR R ALK AR 1 400
3312 7K KR BRLEEAEL FiR KA AR 1 400
3313 E5HF Rl AEL SR R AT & R 2 800
3314 EERL FLEEAEL FR KA EAR 1 400
3315 rEHg Rl AEL SR R AT & R 1 340
3316 &= RlLEEAEL iR KA EAR 1 340
3317 ¥ T B Rl AEL SR R ALK R 1 340
3318 KHEFE RlLEEAEL iR KA EAR 3 1200
3319 HHEF Rl AEL SR R ALK R 1 340
3320 Z 4 [ RlLEEAEL FiR RAT KA 2 800
3321 e Rl AEL SR R ALK R 1 400
3322 i) Rl AEL SR KA ERAR 2 800
3323 HEE Rl AEL SR R AT & R 2 680
3324 IFxZ RlLEEAEL FiR KA ERAR 1 340
3325 ITHE Rl AEL SR R ALK R 3 1200
3326 ik RlLEEAEL iR KA EAR 1 460
3327 TIEX Rl AEL SR R ALK R 4 1360
3328 T R*% FLEEAEL FR KA EAR 2 800
3329 I #E Rl AEL SR R ALK R 2 680
3330 ITEZ FLEEAEL FR RAT KA 1 340
3331 Rk Rl AEL SR R ALK AR 1 340
3332 KR BRLEEAEL FR KA ERAR 1 340
3333 ¥ % % Rl AEL SR R AT & R 2 680
3334 ¥ 3 4 FLEEAEL FR KA EAR 2 800
3335 £ g Rl AEL SR R ALK R 2 680
3336 ¥R 1B RlLEEAEL FR KA ERAR 1 400
3337 BET Rl AEL SR R ALK R 1 340
3338 & H AL FLEEAEL FR KA ERAR 4 1600
3339 JLHR 2% Rl AEL SR R ALK R 2 800
3340 FHLT RlLEEAEL iR RAT KA 1 400
3341 F4a% Rl AEL SR R ALK R 3 1020
3342 FER Rl AEL SR KA ERAR 1 400
3343 IT#HY Rl AEL SR R A& AR 1 340
3344 7K B % FLEEAEL FR KA ERAR 1 340
3345 £/ Rl AEL SR R ALK R 1 400
3346 HiIF 18 RlLEEAEL KR KA EAR 2 920
3347 % )2 B RlLBEAEL BR R ALK R 4 1360
3348 [id FLEEAEL KR KA EAR 2 800
3349 Bz Rl A EL KR KA AR 1 400
3350 EZT RlLEEAEL KR RAT KA 2 680
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3351 I REE RlLBEAEL BR R ALK R 3 1200
3352 K E# FLEEAEL KR RATE LR 4 1360
3353 BEFE RlLBEEAEL BR R ALK AR 3 1380
3354 X\ #, BlLEEAEL KR KA ERAR 1 400
3355 KA RlLBIEAEL BR R A& R 1 340
3356 [ Rl EAEL KR KA ERAR 1 400
3357 & Rl AEL KA KA EAR 1 400
3358 KR RlLEEAEL KR KA EAR 1 400
3359 BRF Rl AEL KA KA AR 1 400
3360 HEF RlLETEAEL KR KA EAR 3 1200
3361 * % RlLBEAEL BR R ALK R 1 400
3362 K A5 RlLETEAEL KR RATE AR 1 400
3363 KEAL RlLEEAEL BR R ALK AR 4 1600
3364 e Rl AEL BR KA AR 1 400
3365 #FEH RlLBIEAEL BR R AT & R 1 400
3366 #HR FLEEAEL 7 KA EAR 1 340
3367 HIE Rl A EL T KA AR 2 800
3368 R FLEEAEL T KA EAR 3 1020
3369 wEF Rl A EL T KA AR 2 680
3370 5 E FLEEAEL T KA EAR 4 1360
3371 I B9 Rl A EL T KA AR 2 680
3372 BT FlLEEAEL T RAT KA 3 1020
3373 X Rl A EL T KA AR 1 340
3374 A A FLEENEL T KA ERAR 3 1020
3375 KES Rl A EL T KA AR 2 800
3376 BIER FLEEAEL 7 KA ERAR 1 400
3377 1 X R Rl A EL T KA AR 1 340
3378 B BA FLEENEL T KA EAR 4 1600
3379 5EF BRI EAEL KA AR 3 1200
3380 7 i1 f& Rl EAEL T KA EAR 2 680
3381 HIEE Rl A EL T KA AR 2 680
3382 BAX FlLEEAEL T RAT KA 2 680
3383 EEA Rl A EL T KA AR 1 340
3384 i FlLEENEL T KA ERAR 3 1020
3385 KA IE Rl A EL T KA AR 3 1020
3386 LA FLEEAEL T KA EAR 1 340
3387 wF5EY Rl AEL R ALK R 3 1200
3388 ik FLEEAEL T KA ERAR 3 1020
3389 HEEX Rl AEL T KA AR 1 400
3390 RFIE Rl EAEL T KA ERAR 2 680
3391 1 & & Rl A EL T KA AR 1 340
3392 IEF FlLEENEL T RAT KA 1 340
3393 Kx® Rl A EL T KA AR 1 340
3394 R FLEEAEL T KA ERAR 5 1700
3395 KED Rl A EL T KA AR 1 340
3396 HE A BRLEEAEL 7 KA ERAR 1 400
3397 T ¥# Rl AEL T KA AR 2 800
3398 B FLEEAEL T KA EAR 2 800
3399 TH#E BRI EAEL KA AR 1 400
3400 K [E g¢ RlLEEAEL T KA EAR 5 2000
3401 B AE Rl A EL T KA AR 2 680
3402 KEE RLBEEAEL 7 RAT KA 1 400
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3403 A Rl AEL R ALK R 1 340
3404 3t B A FlLEEAEL T RATE LR 2 800
3405 A E Rl EAEL KA AR 5 2000
3406 4 Rl AEL KA ERAR 1 460
3407 Y X E Rl AEL R A& R 1 400
3408 & X E Rl EAEL T KA ERAR 3 1020
3409 W E Rl AEL R AT & R 1 340
3410 7 BAE FLEEAEL T KA EAR 1 340
3411 AR Rl A EL T KA AR 1 340
3412 KA FRlLEEAEL T KA EAR 1 340
3413 EEL Rl AEL R ALK R 3 1020
3414 &I FlLEEANEL T RATE AR 1 340
3415 K= RlLBIEAEL KA AR 2 680
3416 LR FLEEAEL T KA AR 1 340
3417 A Rl AEL R AT & R 4 1600
3418 ZIETT Rl EAEL T KA EAR 1 340
3419 iaa Rl AEL R AT & R 2 680
3420 EEW FLEEAEL T KA EAR 2 680
3421 Tt ¢ Rl EAEL KA AR 1 340
3422 AR Rl EAEL T KA EAR 1 340
3423 KE¥EZ Rl AEL R ALK R 4 1600
3424 A FlLEEAEL T RAT KA 1 340
3425 = RlLBIEAEL KA AR 1 340
3426 RED FLEENEL T KA ERAR 1 340
34217 HER Rl A EL T KA AR 5 1700
3428 ¥ IE 3 BRlLEEAEL T KA ERAR 1 340
3429 BHA Rl AEL R ALK R 1 340
3430 JE AL BEAEE X6 KA EAR 2 800
3431 2% MEHE F6 R ALK R 4 1360
3432 X K E BEHE 8 KA EAR 2 680
3433 B A X MEHE X6 R ALK R 1 400
3434 X\ 4 & BEHE 6 RAT KA 2 800
3435 XX F BEHE E6 R ALK AR 1 400
3436 3 BEAE X6 KA ERAR 1 400
3437 X # MEHE X6 R AT & R 1 400
3438 X 4h % BEHE 6 KA EAR 2 680
3439 N BMEHE X6 R ALK R 1 400
3440 x| BELHE 6 KA ERAR 1 400
3441 X BMEHE E6 R ALK R 2 800
3442 X | BEHE 6 KA ERAR 3 1380
3443 =EW BEHYE 6 KA AR 1 400
3444 Z a5 BEHE 6 RAT KA 2 800
3445 TKELE BEHYE 6 KA AR 2 920
3446 E i E BEAE X6 KA ERAR 1 400
3447 ZHE BEHYE 6 R A& AR 1 400
3448 12 R BEHE 6 KA ERAR 1 400
3449 R E A BEHYE 6 KA AR 5 2000
3450 FHE BEAEE X6 KA EAR 1 400
3451 HEN BMEHE F6 R ALK R 2 800
3452 X\ 21 BEHE 8 KA EAR 2 800
3453 = HE BEHYE 6 KA AR 2 920
3454 7K M AL BEHE 6 RAT KA 1 400
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3455 KA BEHE Z& R ALK R 1 340
3456 HIE X BEHE 6 RATE LR 1 400
3457 Ex A BEHE 6 KA AR 1 400
3458 7okt BEAEE X6 KA ERAR 1 400
3459 R & BEHE Z§ R A& R 1 400
3460 77 B BEHE 6 KA ERAR 3 1020
3461 x| B % BEHYE 6 KA EAR 2 680
3462 BE BEHE 4 KA EAR 2 800
3463 il BEHE F& R ALK R 2 680
3464 =X E BEHE 6 KA EAR 2 800
3465 k=% BEHE £§ R ALK R 1 460
3466 ZHR BEHE 6 RATE AR 1 340
3467 x|k & BEHE E6 R ALK AR 2 680
3468 P ER BEAEE X6 KA AR 2 680
3469 XA # MEHE 6 R AT & R 2 920
3470 X35 % BEHE 6 KA EAR 4 1360
3471 x| % BEHE F& R AT & R 3 1380
3472 &AL BEHE 6 KA EAR 3 1020
3473 XM 5 BEHE F6 R ALK R 5 1700
3474 MEE BEHE 8 KA EAR 1 460
3475 RE& BEHYE 6 KA AR 2 680
3476 I =R BEHE 6 RAT KA 1 400
3477 77 R fE BEHE E6 R ALK R 1 400
3478 XU AT & BEAE X6 KA ERAR 2 800
3479 ZRE MEHE 6 R AT & R 1 400
3480 EHE BEHE 6 KA ERAR 3 1200
3481 KF X BMEHE X6 R ALK R 4 1360
3482 X A BEAEE X6 KA EAR 2 680
3483 b MEHE F6 R ALK R 1 340
3484 KA iG BEHE 8 KA EAR 2 920
3485 e BEEE 58 KA AR 3 1020
3486 MR BEHE HE RAT KA 1 340
3487 KA BEEE 54 KA AR 1 460
3488 i E B BEEE HE KA ERAR 3 1200
3489 T HE HMEEE B8 R AT & R 3 1200
3490 KA BEHE HE KA EAR 2 800
3491 ITh¥ HMEHE B R ALK R 1 340
3492 KFEX BEHE HE KA ERAR 2 920
3493 KA X BEEE 54 KA AR 1 400
3494 & AT BEHE F4 KA ERAR 1 400
3495 [ HMEHE £4 R ALK R 2 800
3496 ki BEHE £ AL R R 3 1020
3497 TR BEHE £ KA AR 1 400
3498 KR BEHE £ KA ERAR 2 680
3499 % 48 B BERHE & R A& AR 1 340
3500 ZFF BEHE F4 KA ERAR 1 340
3501 ek BEHEE £ KA AR 2 800
3502 FEE BEHE £ KA EAR 1 340
3503 RE= BEEE £ KA AR 2 680
3504 A BEHE £ AR AR 3 1020
3505 PriE BEEE £ KA AR 2 800
3506 R BEHE £ RAT KA 1 460
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3507 SpEE BEEE £ KA AR 4 1600
3508 & BEHEE £ RATE LR 1 340
3509 s BEHE £A R ALK AR 2 680
3510 Wk BEHEE £ KA ERAR 4 1360
3511 EXF BEEHE & R A& R 3 1200
3512 % b1 AR BEHEE £ KA ERAR 3 1200
3513 X H BEEE £& KA EAR 5 1700
3514 e BEHE £ KA EAR 4 1600
3515 EHE BMEHE £A R ALK R 2 680
3516 =E & BEHEE £ KA EAR 1 400
3517 e A BEEE £ KA AR 3 1020
3518 B A BEHEE £ RATE AR 3 1020
3519 KE 5 BEHEE £ KA AR 3 1020
3520 # X BEHE £ KA AR 1 340
3521 B E 3 WMEEE £ R AT & R 3 1200
3522 *+# BEHEE £ KA EAR 4 1360
3523 KA BT e B R AT & R 1 460
3524 TE BELEE B KA EAR 2 680
3525 Ei) BT e B R ALK R 2 680
3526 7K Ak IR BEHEE HE KA EAR 2 680
3527 YR E BEEE HE KA AR 1 340
3528 RIE L BEHE B RAT KA 4 1360
3529 B A% BEEE B KA AR 2 920
3530 7K K F BEHE B KA ERAR 1 460
3531 KoK A BEHEE HE R AT & R 1 400
3532 KER BEHEE HE KA ERAR 4 1360
3533 4k 3 BEEE e KA AR 1 400
3534 KK BEHE B KA EAR 1 400
3535 KE2 BT e B R ALK R 1 400
3536 KR BEHEE HE KA EAR 4 1360
3537 ki Xa BEEE HE KA AR 2 680
3538 R BEHEE HE RAT KA 4 1360
3539 K iF & BT e B R ALK AR 1 340
3540 KAF BEHE B KA ERAR 1 340
3541 7K B BEHEE HE R AT & R 1 400
3542 YEE BEHEE HE KA EAR 1 400
3543 7K = BEEE e KA AR 2 800
3544 KR BEEE e KA ERAR 1 400
3545 T2 BT e B R ALK R 1 400
3546 7K A BEHEE HE KA ERAR 4 1360
3547 RIEH BEEE HE KA AR 5 1700
3548 AFEH BEHE HoF RAT KA 2 800
3549 ETn BEHE #Hor KA AR 1 400
3550 K E BEHE Hor KA ERAR 1 400
3551 KE 5 BEHE #Hot R A& AR 1 340
3552 % BT g HE Hor KA ERAR 5 1700
3553 B R BEHE #Bor KA AR 2 800
3554 T RE BEHE HoF KA EAR 1 400
3555 Ak BT EE o R ALK R 1 400
3556 FEE BEHE #HoF KA EAR 1 400
3557 ZIFfE BT EE o R ALK R 2 800
3558 b g HE Hor RAT KA 1 340
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3559 T¥IE HEHE ot KA AR 2 680
3560 K g HE Hor RATE LR 2 800
3561 X g6 BT EE o R ALK AR 1 340
3562 e BEHE #HoF KA ERAR 2 680
3563 [RER BEHEE #Hor R A& R 2 800
3564 X\ BF &Y BEHE HoF KA ERAR 1 340
3565 B BEHE #or KA EAR 1 460
3566 kKx® BEHE #HoF KA EAR 2 680
3567 il BEHE #Bor KA AR 5 1700
3568 A BEHE HoF KA EAR 1 400
3569 ITEE BEHE ot KA AR 2 800
3570 T ¥ BEHE HoF RATE AR 2 800
3571 2= Jp 34 BEHE #or KA AR 2 800
3572 [ BEHE #HoF KA AR 1 460
3573 KED BEHE #Hot R AT & R 1 400
3574 b LN BEHE HoF KA EAR 1 400
3575 Ein BEHE #or KA AR 3 1020
3576 DA% BEHE #HoF KA EAR 2 680
3577 Eapietiii BT EE o R ALK R 3 1020
3578 E AN BEHE HoF KA EAR 1 400
3579 W hofE BHEHE #Bor KA AR 1 340
3580 e BEHE HoF RAT KA 1 340
3581 I BT EE o R ALK R 2 680
3582 X\ & 7 BEHE #HoF KA ERAR 1 400
3583 2EFH BEHE #Hot R AT & R 1 400
3584 MaE AL T KA ERAR 1 340
3585 4 1F A LG WL R ALK R 1 340
3586 R4 ALE T KA EAR 1 400
3587 ff 1 LA WAL R ALK R 3 1200
3588 2 B AL T KA EAR 4 1840
3589 = R LA WAL R ALK R 1 400
3590 =XE AL T RAT KA 1 340
3591 HEE LA WAL R ALK AR 3 1380
3592 ZEHT FALE T KA ERAR 1 400
3593 wEZ LA FTAL R AT & R 1 460
3594 K AL T KA EAR 1 400
3595 K X1 LG WL R ALK R 1 460
3596 e EALE T KA ERAR 2 800
3597 I LA WAL R ALK R 3 1200
3598 XIEE AL T KA ERAR 2 800
3599 M X F AL T KA AR 1 400
3600 HEHE FALE T RAT KA 2 680
3601 KIEH LA WAL R ALK R 3 1020
3602 R Pa FALE T KA ERAR 2 800
3603 WTE AL T R A& AR 1 400
3604 ED ¢ 3 EALE T KA ERAR 2 800
3605 ERC LG WL R ALK R 3 1200
3606 = ALE T KA EAR 2 800
3607 X E LA WAL R ALK R 1 340
3608 # 8 AL T KA EAR 1 400
3609 A LA WAL R ALK R 4 1600
3610 =R A EALE WL RAT KA 2 680
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3611 FEX LA WAL R ALK R 2 800
3612 X\ IF % FALE T RATE LR 1 340
3613 ZHE LA WL R ALK AR 1 340
3614 FRlE FELE WL KA ERAR 1 400
3615 [N LA FTAL R A& R 1 340
3616 S E AL T KA ERAR 4 1360
3617 KA = FALE WL KA EAR 2 680
3618 b2k FALE T KA EAR 2 680
3619 ELDS LA WAL R ALK R 2 800
3620 E® FLE T KA EAR 3 1200
3621 Ok IE AL T KA AR 1 340
3622 &4l AL T RATE AR 4 1600
3623 X E LA WAL R ALK AR 2 680
3624 AR AL T KA AR 1 340
3625 4 #E LA FTAL R AT & R 1 340
3626 Y= AL T KA EAR 2 800
3627 BK AR LG WL R AT & R 2 680
3628 e FALE T KA EAR 1 400
3629 E=Kii LA WAL R ALK R 1 340
3630 E i chi AL T KA EAR 1 400
3631 T e LA FTAL R ALK R 2 680
3632 # F it AL T RAT KA 2 680
3633 RIEE LA WAL R ALK R 1 400
3634 E5ES FEALE T KA ERAR 1 400
3635 YRR FaL4E FTAL R AT & R 2 680
3636 WA AL T KA ERAR 1 340
3637 ES:3 LG WL R ALK R 1 340
3638 IR EALE T KA EAR 2 680
3639 = K W KA AR 2 800
3640 O R= AL T KA EAR 1 340
3641 e AL T KA AR 1 400
3642 1A FALE T RAT KA 1 400
3643 TEE LA WAL R ALK AR 1 340
3644 FIEK EALE WL KA ERAR 1 400
3645 B LA FTAL R AT & R 1 340
3646 B EK AL T KA EAR 1 340
3647 & XK LG WL KA AR 1 400
3648 ik FEALE T KA ERAR 1 400
3649 B E LA WAL R ALK R 1 400
3650 R HLE FH KA ERAR 1 340
3651 FEM Kl FH R ALK R 1 460
3652 EXET HLE EAH RAT KA 1 400
3653 BEXH H®ilE FH R ALK R 1 400
3654 DnE HLE EA KA ERAR 1 340
3655 B HE #ilhE FH R A& AR 2 680
3656 T#EE HFLE FH KA ERAR 1 400
3657 PR HLE FH KA AR 1 400
3658 HER HLE FA KA EAR 1 340
3659 BN Kl FH R ALK R 1 400
3660 B FAE B KA EAR 1 400
3661 Ee H®ilLE FH R ALK R 1 340
3662 TRl HALE FH RAT KA 1 400
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3663 FEE H®ilLE FH R ALK R 2 800
3664 U HLE FH RATE LR 1 400
3665 JAZ R #ilLE FH R ALK AR 1 400
3666 BRR HLE FH KA ERAR 1 340
3667 il K FH R A& R 1 460
3668 7 HFLE FH KA ERAR 1 340
3669 B HELE FH R AT & R 1 340
3670 7 75 B HLE FA KA EAR 1 400
3671 KR Kl FH R ALK R 2 800
3672 FHF HLE FH KA EAR 2 680
3673 e Kl FH KA AR 1 400
3674 el HRLE FH RATE AR 1 400
3675 ITHE HilE FH R ALK AR 1 340
3676 F R4 HLE FA KA AR 2 680
3677 IR HilhE FH R AT & R 2 680
3678 K x HFLE FH KA EAR 1 340
3679 BE{E T HELE FH R AT & R 1 400
3680 AL HLE FA KA EAR 1 340
3681 S HELE FH KA AR 2 680
3682 B AT F*AE A KA EAR 2 680
3683 r X E H®ilLE FH R ALK R 2 680
3684 B HLE EAH RAT KA 2 680
3685 XN HilE FH R ALK R 2 680
3686 S AE HLE FA KA ERAR 1 340
3687 BiEE #ilE FH R AT & R 2 680
3688 KA L HLE FH KA ERAR 2 680
3689 EDE N HELE T R ALK R 2 800
3690 2R HLE FA KA EAR 2 680
3691 IT#7%E Kl FH R ALK R 1 340
3692 BEgE HLE FH KA EAR 2 680
3693 IHAE H®ilLE FH R ALK R 2 680
3694 # = AL HALE FH RAT KA 2 680
3695 B #ilE FH R ALK AR 1 400
3696 Fx% R HE KA ERAR 3 1020
3697 K fm g B PH R AT & R 2 680
3698 i B HE KA EAR 1 340
3699 HEAE RAEE HE R ALK R 5 1700
3700 ImE B HE KA ERAR 1 340
3701 T HH RAEE HE R ALK R 3 1200
3702 T A B HE KA ERAR 1 400
3703 T EH RAEE HE R ALK R 1 340
3704 B R HE RAT KA 2 680
3705 bl RAEE HE R ALK R 1 340
3706 EHE R HE KA ERAR 2 680
3707 KB RAEE HE R A& AR 4 1600
3708 KEFH B HE KA ERAR 1 340
3709 KA E B HE R ALK R 2 800
3710 K= AT B HE KA EAR 2 680
3711 KARE RAEE HE R ALK R 2 680
3712 2 AR B HE KA EAR 2 680
3713 TXF RAEE HE R ALK R 1 400
3714 12 XA B HE RAT KA 4 1360
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3715 e B HE R ALK R 3 1020
3716 BN F B HE RATE LR 1 340
3717 7k % X RAEE HE R ALK AR 1 340
3718 FH% B HE KA ERAR 1 400
3719 R RAEE HE R A& R 1 340
3720 A B HE KA ERAR 4 1360
3721 Ed RAEE HE R AT & R 1 340
3722 T B HE KA EAR 2 680
3723 SAEF RAEE HE R ALK R 1 340
3724 KR Z B HE AR AR 3 1020
3725 7K SR RAEE HE R ALK R 3 1020
3726 F A R HE RATE AR 2 680
3727 wE RAEE HE R ALK AR 1 400
3728 M E R HE KA AR 1 340
3729 KHRF RAEE HE R AT & R 1 340
3730 =EER BRAE H) KA EAR 3 1020
3731 EIER RAE F R AT & R 2 680
3732 R A BAE H KA EAR 4 1360
3733 ARG M RAE FH R ALK R 1 340
3734 KFEE BRAE H) KA EAR 3 1020
3735 EXEL S BRAE H KA AR 2 680
3736 i BAE H RAT KA 4 1360
3737 J& EL4R. RAE F R ALK R 3 1020
3738 =l BAE H KA ERAR 3 1020
3739 JEIF# BRAE H R AT & R 3 1020
3740 ERE BAeE H KA ERAR 2 680
3741 i RAE F R ALK R 1 340
3742 FHE BAE H KA EAR 1 340
3743 TieH RAE FH R ALK R 1 340
3744 EEE BRAE H) KA EAR 2 680
3745 A5 E RAE H R ALK R 1 340
3746 A F BRAE H) RAT KA 1 340
3747 T #H4R RAE F R ALK AR 6 2040
3748 IEH BAE H KA ERAR 3 1020
3749 7K & RAE H R AT & R 2 680
3750 B kS BAE H) KA EAR 3 1020
3751 Re % RAE H R ALK R 3 1020
3752 T BA VT BAE H KA ERAR 1 340
3753 B RAE FH R ALK R 2 680
3754 JE fp i BRAE H) KA ERAR 3 1020
3755 KEE BRAE H R ALK R 3 1020
3756 Ey BRAE H) RAT KA 3 1020
3757 M RAE F R ALK R 1 400
3758 BAE BAE H KA ERAR 4 1360
3759 Bl 8% RAE H R A& AR 2 680
3760 =EE BRAE H) KA ERAR 3 1020
3761 A b= RAE F R ALK R 4 1360
3762 FEXR BAeE H KA EAR 4 1360
3763 R4 fF RAE FH R ALK R 4 1360
3764 S BRAE H) KA EAR 1 340
3765 REE RAE H R ALK R 2 680
3766 =5 BAE H RAT KA 2 680
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3767 A FHE kY R ALK R 1 400
3768 i = B2 ky RATE LR 2 680
3769 e FH4E kg R ALK AR 2 680
3770 JEE B kg KA ERAR 2 800
3771 ERK BEHE kY R A& R 3 1020
3772 KA F BE4eE kY KA ERAR 2 800
3773 JA 17 A BEHE kg KA EAR 3 1020
3774 BEX = BEH4E kY KA EAR 2 680
3775 X E BEadE kg R ALK R 1 460
3776 HER BE4eE kY KA EAR 3 1020
3777 = 4 % BEHE kY R ALK R 3 1200
3778 A FE4E kY RATE AR 3 1020
3779 AR FH4E kg R ALK AR 3 1020
3780 MK F BEhE kg KA AR 1 340
3781 iy BEHE kY R AT & R 1 340
3782 e BaE kY KA EAR 3 1020
3783 ZEiE BEAE kY R AT & R 2 680
3784 g IF B kg KA EAR 2 680
3785 5T BEadE kg KA AR 2 800
3786 iz BEhE kE KA EAR 3 1200
3787 i€ BEHE kY R ALK R 5 1700
3788 FHZ BEHeE kY RAT KA 1 340
3789 JA K A& FHE kg KA AR 2 680
3790 A FEHE kY KA ERAR 2 680
3791 TR BEHE kY R AT & R 2 680
3792 = By kg KA ERAR 1 340
3793 s BEH4E kg KA AR 1 460
3794 A B4E kY KA EAR 2 680
3795 it 2 A4 kg R ALK R 3 1020
3796 EEE Bag Ly KA EAR 2 680
3797 L2 RAE Ly R ALK R 1 340
3798 TIrE B Ly RAT KA 1 460
3799 [l RAE Ly R ALK AR 2 680
3800 ESiaid B Ly KA ERAR 2 680
3801 KRR RAE Ly KA AR 1 340
3802 gk BAdE Ly KA EAR 2 680
3803 T E RAE Ly R ALK R 1 340
3804 KEE B Ly KA ERAR 3 1380
3805 mLEA RAE Ly R ALK R 2 680
3806 KEE Bag Ly KA ERAR 1 340
3807 J A RAE Ly R ALK R 4 1360
3808 wRK BAE Ly RAT KA 2 680
3809 R RAE Ly R ALK R 1 340
3810 A FAH Ly KA ERAR 1 340
3811 KB RAE Ly KA AR 3 1200
3812 E Ak Fag Ly KA ERAR 1 340
3813 X RAE Ly R ALK R 3 1200
3814 RAHE XL BAdE Ly KA EAR 4 1360
3815 i RAE Ly R ALK R 4 1360
3816 KIEE Bag Ly KA EAR 5 1700
3817 &l RAE Ly R ALK R 1 400
3818 A B Ly RAT KA 3 1020
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3819 =R RAE Ly R ALK R 2 800
3820 X 7R BAg Ly RATE LR 3 1020
3821 ZHEG BAE Ly R ALK AR 3 1020
3822 AL FAE Ly KA ERAR 3 1200
3823 ki R Ly R A& R 1 400
3824 KEFE Fag Ly KA ERAR 2 680
3825 Ji 3R RAE Ly KA EAR 3 1020
3826 ZIER FaH Ly KA EAR 1 400
3827 IEZE RAE Ly R ALK R 1 340
3828 H4 = Bag Ly KA EAR 1 400
3829 B RAE Ly R ALK R 3 1020
3830 B39 A FaH Ly RATE AR 3 1020
3831 %5 RAE Ly R ALK AR 1 400
3832 HEE B Ly KA AR 1 400
3833 ¥ER RAE Ly R AT & R 4 1600
3834 A= Bag Ly KA EAR 4 1360
3835 2% RAE Lvy R AT & R 4 1360
3836 ki3 B Ly KA EAR 1 340
3837 K ¥R RAE Ly R ALK R 1 340
3838 % ot B Bag Ly KA EAR 3 1020
3839 HAE X RAE Ly R ALK R 2 920
3840 e E HAEHE K& RAT KA 1 340
3841 i BAX A% i R ALK R 4 1840
3842 7K 4k HAEHE K& KA ERAR 1 460
3843 Z v 48 A% & R AT & R 1 340
3844 I XK HAEHE k& KA ERAR 1 340
3845 B RE A% i R ALK R 2 680
3846 RER HAEE k& KA EAR 1 340
3847 X & A% hiE R ALK R 3 1020
3848 FHEW HAEHE hE KA EAR 1 340
3849 ERE A% v R ALK R 1 340
3850 T IFE# HAEHE k& RAT KA 1 340
3851 EX4 A% i R ALK AR 1 340
3852 KEL HAEE k& KA ERAR 3 1020
3853 i AEE ki R AT & R 1 340
3854 TIEL HEE k& KA EAR 1 340
3855 R 28N A% i R ALK R 1 400
3856 PR % HAEHE hiE KA ERAR 4 1360
3857 Ko A hiE R ALK R 1 340
3858 7 B A& HAEHE hiE KA ERAR 1 340
3859 YR E A% s R ALK R 4 1360
3860 HEZ HAEHE K& RAT KA 2 800
3861 =X A% i R ALK R 1 340
3862 B E AEE BX KA ERAR 2 680
3863 RES AEE BX R A& AR 1 460
3864 D AEE BX KA ERAR 4 1360
3865 pAEET AEE BX R ALK R 2 920
3866 KA AEE X KA EAR 1 340
3867 &% AEE 8% KA AR 3 1020
3868 TR AfE mX KA EAR 2 680
3869 i A AEE 8% KA AR 2 800
3870 RET AE%E Bx RAT KA 2 680
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3871 % R A8 8% KA AR 1 340
3872 LSS AE%E Bx RATE LR 2 680
3873 R A8 85X KA AR 3 1200
3874 ¥ L AEE X KA ERAR 1 340
3875 EXia AEE 85X R A& R 2 680
3876 REE HE%E Bx KA ERAR 2 680
3877 ROLER AEE BX R AT & R 1 340
3878 P &S AEE X KA EAR 5 1700
3879 ERC AEE 8% KA AR 1 460
3880 HE X AfE mX KA EAR 3 1020
3881 A HE TG AEE 8% KA AR 2 680
3882 R AE%E Bx RATE AR 2 800
3883 RER A8 BX KA AR 4 1360
3884 BEZ AEE X KA AR 2 680
3885 XA AEE 85X R AT & R 2 680
3886 TEE A#E%E Bx KA EAR 2 680
3887 WRE AEE BX R AT & R 2 680
3888 BOL#E AE%E Bx KA EAR 2 680
3889 X X F AEE 85X KA AR 1 340
3890 AN AEE 8K KA EAR 1 340
3891 ik A8 8% KA AR 2 680
3892 BOE R AE%E Bx RAT KA 1 340
3893 ETn A8 BX KA AR 1 340
3894 M IE A AEE X KA ERAR 6 2040
3895 x| g 4 AEE 85X R AT & R 1 400
3896 P i HE%E Bx KA ERAR 1 340
3897 =g AEE BX R ALK R 1 340
3898 7ok H TR B KA EAR 5 1700
3899 RIE ¥ TRE B R ALK R 1 340
3900 R FRE B KA EAR 3 1020
3901 BT HE T RE B R ALK R 2 680
3902 BirHE TRE B RAT KA 5 1700
3903 X T 7% TRE B R ALK AR 1 340
3904 A T RE B KA ERAR 2 680
3905 B a %5 TRE B R AT & R 2 680
3906 KX TR B KA EAR 2 680
3907 K fE X TRE B R ALK R 2 680
3908 R TRE B KA ERAR 4 1360
3909 7K e TRE B R ALK R 2 680
3910 Z F Al TRE B KA ERAR 2 680
3911 ITHE TRE B R ALK R 3 1020
3912 T #% TRE B RAT KA 2 680
3913 BT TRE B8 R ALK R 1 340
3914 ITED TREE B KA ERAR 3 1020
3915 & T RE B R A& AR 2 680
3916 KERE FRE B KA ERAR 1 400
3917 HOE TRE B R ALK R 2 680
3918 KA TR B KA EAR 2 680
3919 B T RE B KA AR 1 340
3920 % Vi & FRE B KA EAR 5 1700
3921 i T RE B R ALK R 1 340
3922 R 2R TRE B RAT KA 2 680
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3923 X R TRE B R ALK R 2 680
3924 B E TRE B RATE LR 1 340
3925 £ A TRE B8 R ALK AR 4 1360
3926 FEE TREE B KA ERAR 1 340
3927 ERED T RE B R A& R 3 1020
3928 TKAE A TRE B KA ERAR 3 1020
3929 AR TRE B R AT & R 3 1020
3930 KEE TRE B KA EAR 1 340
3931 Ein TRE B R ALK R 3 1020
3932 7K SO FRE B KA EAR 2 680
3933 i TRE B R ALK R 6 2040
3934 KE = T RE Bk RATE AR 1 340
3935 BT TRE B8 R ALK AR 1 340
3936 Mt TRE B KA AR 3 1020
3937 H >4 A& TRE B R AT & R 1 340
3938 RED TRE B KA EAR 1 400
3939 KR TRE B R AT & R 2 680
3940 Tk TRE B KA EAR 1 340
3941 JRIE R TRE B R ALK R 2 800
3942 R B FRE B KA EAR 1 340
3943 P TRE B R ALK R 1 340
3944 MZ% TRE B RAT KA 1 400
3945 KEF TRE B8 R ALK R 1 340
3946 K TREE B KA ERAR 2 920
3947 ke TRE B R AT & R 3 1020
3948 7K A A TRE B KA ERAR 1 340
3949 FEE TRE B R ALK R 3 1020
3950 X % TRE B KA EAR 1 340
3951 AR TRE B R ALK R 1 340
3952 B FRE B KA EAR 2 680
3953 B r X T RE B R ALK R 1 340
3954 EPAtid TRE B RAT KA 2 680
3955 e TRE B R ALK AR 2 680
3956 FAFF TREE B KA ERAR 1 340
3957 7K E A T RE EHE R AT & R 3 1200
3958 kiR T REE KA EAR 2 680
3959 B X T T RE R ALK R 1 340
3960 AR TR KA ERAR 2 680
3961 48 B T RE EHE R ALK R 2 680
3962 A B R T REE KA ERAR 1 340
3963 i TR KA AR 1 340
3964 M IE % T REE RAT KA 1 340
3965 I%EZ T RE R ALK R 2 800
3966 A B X TREE KA ERAR 1 400
3967 8 B T RE EHE R A& AR 3 1020
3968 ke T REE KA ERAR 1 340
3969 X FH T RE KA AR 2 680
3970 H X % T REE KA EAR 1 340
3971 Z2x5 T RE EHE R ALK R 1 340
3972 R A T REE KA EAR 1 340
3973 Bk T RE EHE R ALK R 1 400
3974 VS T REE RAT KA 2 680
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3975 % E T RE EE R ALK R 1 340
3976 KX = FRE EHE RATE LR 1 340
3977 ZEHZ T RE R ALK AR 1 340
3978 B T REE KA ERAR 1 340
3979 KR = T RE EE R A& R 1 340
3980 & 3 K T REE KA ERAR 1 400
3981 KA T RE KA EAR 2 680
3982 i Rica TR KA EAR 1 340
3983 KA T RE EHE R ALK R 1 340
3984 FTIEH TRE KA EAR 1 340
3985 K TF T RE EE R ALK R 1 340
3986 BEXE T RE EHE RATE AR 1 340
3987 JE & & BPEE T R ALK AR 1 340
3988 K REEHE T KA AR 2 680
3989 W BRI EE TX R AT & R 1 340
3990 BWERE - KA EAR 2 680
3991 B EA A RTEHE T KA AR 1 400
3992 B A BTEH T KA EAR 1 340
3993 A T A BPEHE T R ALK R 3 1020
3994 i B TEE T KA EAR 2 680
3995 A PR RTEHE T KA AR 1 340
3996 KK - RAT KA 2 680
3997 & BPEE T R ALK R 2 680
3998 KB ¥ BTER T KA ERAR 1 340
3999 ST A 8% B REE AT KA AR 1 400
4000 JE A& % LREHE KT AR AR 3 1020
4001 %D B RBEE AT KA AR 2 680
4002 Z g LREE KT KA EAR 2 680
4003 XA L AEE KT R ALK R 1 340
4004 Tx% LEREHE KT KA EAR 1 340
4005 & L AEE KT R ALK R 1 340
4006 kel LEREHE KT AL R R 3 1020
4007 £ B RBEE AT KA AR 1 400
4008 BEY LERESE KT KA ERAR 1 460
4009 JEX K B REE AT KA AR 1 460
4010 T LREE KT KA EAR 2 800
4011 Z X B RBEE AT R ALK R 2 680
4012 =t LEREHE KT KA ERAR 1 400
4013 ZInZE L AEE KT R ALK R 1 340
4014 PR E 4% LEREHE KT KA ERAR 4 1600
4015 KIEH B REE AT KA AR 4 1360
4016 TH%E LEREHE KT RAT KA 1 460
4017 HE M L AEE KT R ALK R 1 460
4018 vl LREE KT KA ERAR 1 400
4019 JEX & L REE KF R A& AR 5 1700
4020 I¥-&a LREHE KT KA ERAR 1 400
4021 X L AEE KT R ALK R 2 800
4022 4 LEREHE KT KA EAR 1 340
4023 [ 2 Wk EE KA AR 1 340
4024 [ Wk EE KA EAR 3 1380
4025 K EE Wk EE R ALK R 1 340
4026 % EH WS EE RAT KA 2 800
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4027 K WE Wk EBE R ALK R 8 3200
4028 KRF WS EE RATE LR 2 920
4029 RIFFE WY BE R ALK AR 1 400
4030 £ R R w4 EE KA ERAR 3 1020
4031 BXE Wk EBE R A& R 2 920
4032 KRIEA WS EE KA ERAR 1 400
4033 i WY BE KA EAR 2 800
4034 AN k4 EE KA EAR 1 340
4035 FHAH WY BE R ALK R 2 800
4036 HEE WG EE KA EAR 2 680
4037 12 kY HH R ALK R 1 400
4038 BN ZhY HH RATE AR 1 460
4039 Edyiid kY HH R ALK AR 1 460
4040 FHE kY HH KA AR 2 680
4041 b ZhY HH R AT & R 2 920
4042 % ZhY HH KA EAR 1 340
4043 R 2% kY HH R AT & R 1 400
4044 BT ZhY HH KA EAR 1 460
4045 i) kY HH R ALK R 1 400
4046 E AR ZHhY HH KA EAR 1 400
4047 RER kY HH R ALK R 2 800
4048 7k IF 4 ZhY HH RAT KA 2 800
4049 X 7 kY HH R ALK R 1 340
4050 el ZhY HH KA ERAR 2 800
4051 srit ok ZhY Hb R AT & R 3 1380
4052 i ZhY Fh KA ERAR 1 460
4053 MK E ZhY b R ALK R 2 920
4054 Tr 2 % ZhY Fh KA EAR 1 400
4055 k= ZhY b R ALK R 1 400
4056 F % ZhY Fh KA EAR 1 460
4057 fE A % kY b R ALK R 1 400
4058 e BEL S XAE RAT KA 2 920
4059 [ % % BB Y EAE R ALK AR 3 1200
4060 BEFH Vil KA ERAR 1 340
4061 = GBS EiE R AT & R 3 1020
4062 B ZE K Vil KA EAR 1 400
4063 N BB EAE R ALK R 1 400
4064 X X ¥ BEL S XAE KA ERAR 2 920
4065 ZHER BB Y ERE R ALK R 1 400
4066 IHZ By g KA ERAR 3 1020
4067 eSS BB EfE R ALK R 1 460
4068 X & BEL S XAE RAT KA 2 800
4069 At = BB Y EAE R ALK R 3 1200
4070 K B Vil KA ERAR 2 800
4071 A 4k & GBS EiE R A& AR 1 400
4072 e BBy EAE KA ERAR 1 340
4073 X & BB Y EAE R ALK R 3 1200
4074 R Vil KA EAR 2 680
4075 BEAR BB Y EHE R ALK R 1 400
4076 ks Vil KA EAR 2 680
4077 AXHE BB Y EfE R ALK R 1 400
4078 X EE BEL S XAE RAT KA 2 800
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4079 1 e Vil KA AR 2 680
4080 K BEL S XAE RATE LR 3 1020
4081 A/NE BB Y EfE R ALK AR 1 400
4082 BIEA Vil KA ERAR 1 340
4083 EEE BB EAE R A& R 1 340
4084 EN S Vil KA ERAR 1 400
4085 FhF Vil KA EAR 2 800
4086 B & Vil KA EAR 3 1200
4087 I BB S EHE R ALK R 2 800
4088 K IR Vil KA EAR 1 400
4089 S BB Y EfE R ALK R 1 400
4090 s Vil RATE AR 2 680
4091 fieaial Vil KA AR 1 340
4092 s Vil KA AR 1 400
4093 ZhE B Y EiE R AT & R 1 340
4094 X > BH BEL S XAE KA EAR 1 400
4095 B L BB EAE R AT & R 1 400
4096 Bk FE Vil KA EAR 1 340
4097 K X Vil KA AR 1 400
4098 = By EAE RATEAR 1 400
4099 BARE Vil KA AR 2 680
4100 x| ) 4 BEL S XAE RAT KA 1 340
4101 ED N Ry RALE KA AR 1 340
4102 FER D EE Y RAE KA ERAR 1 340
4103 VB DRy mAE KA AR 1 340
4104 AL L EE e RAE KA ERAR 2 680
4105 RE 4 DEEy L& KA AR 1 400
4106 [ LEEy L& KA EAR 2 800
4107 HED DREEy LiE KA AR 2 680
4108 DEZ LEEy L& KA EAR 1 400
4109 2% Dy L& R ALK R 1 400
4110 BEA LEEy L& RAT KA 2 680
4111 KEA DREEy LiE KA AR 2 800
4112 B % LEEy L& KA ERAR 1 340
4113 DHEZE Dy L& R AT & R 1 400
4114 BEA LEEy L& KA EAR 2 800
4115 & X F DEEy L& KA AR 2 680
4116 XX A LEEy L& KA ERAR 2 800
4117 FHRE DREEy LiE KA AR 1 400
4118 KNZ LEEy L& KA ERAR 1 340
4119 J) o B Dy L& R ALK R 2 800
4120 AF E AT LEEy L& RAT KA 2 800
4121 TEIE DREEs LE R ALK R 1 400
4122 A S LEEy L& KA ERAR 1 400
4123 E i Dy L& KA AR 2 800
4124 F=H K LEEy L& KA ERAR 2 680
4125 R EH Dy L& R ALK R 2 800
4126 X IE 5% LEEy L& KA EAR 2 800
4127 JA 5 DREEy LiE KA AR 2 920
4128 7K K 4 LEEy L& KA EAR 1 400
4129 T4 gy L& R ALK R 2 800
4130 XX % LEEy L& RAT KA 2 680
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4131 KEA gy L& KA AR 1 400
4132 JE AR LEEy L& RATE LR 1 400
4133 o % DREEy LiE KA AR 1 400
4134 HE® LEEy L& KA ERAR 1 400
4135 ik DEEy L& R A& R 1 400
4136 A LEEy L& KA ERAR 2 800
4137 EKE gy L& KA EAR 2 680
4138 HEZE LEEy L& KA EAR 2 680
4139 E % DREEy L& KA AR 1 400
4140 =BT LEEy L& KA EAR 2 680
4141 T84 Dy L& R ALK R 1 340
4142 ki E LEEy L& RATE AR 3 1200
4143 A5 & 18 DREEy LiE KA AR 1 400
4144 R E iy L& KA AR 2 680
4145 MR E I Dy L& R AT & R 1 400
4146 7K LR LEEy L& KA EAR 1 340
4147 BFEA DEEy L& KA AR 1 400
4148 K EfF LEEy L& KA EAR 1 400
4149 7K A A DEEs L@ R ALK R 1 400
4150 ITEZE LEEy L& KA EAR 4 1360
4151 AN NZs 1% R ALK R 1 340
4152 AT NES 1% RAT KA 1 340
4153 HEE NES 1% KA AR 2 920
4154 piRicakial MNE Y T% KA ERAR 1 400
4155 RAH NES 1% R AT & R 1 400
4156 A= NEY 1F KA ERAR 1 400
4157 %% NZEs 1% R ALK R 3 1200
4158 KM MNE s 1% KA EAR 1 340
4159 R NZE 2 1% R ALK R 2 920
4160 ZEX NEY 1F KA EAR 2 680
4161 B R NZs 1% R ALK R 1 460
4162 Rk NE% 1% AL R R 3 1200
4163 7K R NZEs 1% R ALK AR 2 920
4164 HEE MNE Y T% KA ERAR 1 340
4165 oz NZs 1% R AT & R 2 800
4166 FE2 NEY 1% KA EAR 1 340
4167 & F T NZEs 1% R ALK R 3 1200
4168 I E MNE oy T% KA ERAR 4 1600
4169 RFE NZEs 1% R ALK R 3 1020
4170 7K 40T NEY 1F KA ERAR 1 460
4171 PR NZs 1% R ALK R 1 400
4172 RF % NE% 1% RAT KA 2 920
4173 Rt NZEs 1% R ALK R 2 680
4174 7K 42 MNE S T% KA ERAR 3 1200
4175 Y IFET NZs 1% R A& AR 4 1600
4176 FRX NEY 1F KA ERAR 2 680
4177 ITH NZEs 1% R ALK R 3 1380
4178 BV MNE s 1% KA EAR 1 400
4179 Edin NZE 2 1% R ALK R 2 800
4180 Rk # NEY 1F KA EAR 2 680
4181 T & NZs 1% R ALK R 5 2000
4182 Xt B NE% 1% RAT KA 3 1200
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4183 KMAF NZs 1% R ALK R 1 400
4184 FTEE NES 1% RATE LR 2 920
4185 el NES 1% R ALK AR 2 680
4186 7K 3 3% MNE Y T% KA ERAR 1 400
4187 KA NES 1% R A& R 1 340
4188 ®BIEE NEY 1% KA ERAR 1 340
4189 K 40 gE NZs 1% R AT & R 3 1200
4190 AR 4R MNE s 1% KA EAR 2 680
4191 KER NEY 1% KA AR 2 680
4192 R E NEY 1% KA EAR 1 340
4193 KAl F NZs 1% R ALK R 1 400
4194 FAf NE ¢ 3% RATE AR 1 400
4195 HEX NES 1% KA AR 1 340
4196 El S MNE Y 1% KA AR 1 340
4197 TEE NZs 1% R AT & R 1 400
4198 KT 3 NEY 1% KA EAR 2 680
4199 e NEY 1% KA AR 2 800
4200 B=A MNE s 1% KA EAR 2 680
4201 KRFE NZE2 1% R ALK R 8 2720
4202 W F AL NEY 1% KA EAR 2 680
4203 XA NZs 1% R ALK R 2 800
4204 PR E NES 1% RAT KA 2 800
4205 K i NZEs 1% R ALK R 1 340
4206 KM E MNE Y T% KA ERAR 4 1360
4207 RER NZs 1% R AT & R 1 400
4208 &2 NEY 1F KA ERAR 1 400
4209 FHaF NZEs 1% R ALK R 1 400
4210 VS MNE s 1% AR AR 3 1200
4211 (A2 NZE 2 1% R ALK R 2 800
4212 Ty NEY 1F KA EAR 1 400
4213 = NZs 1% R ALK R 1 400
4214 i NE ¢ & RAT KA 1 400
4215 & F## NEY 1% KA AR 1 400
4216 REHE MNE Y T% KA ERAR 3 1200
4217 e NES 1% R AT & R 1 400
4218 7k A % NEY 1% KA EAR 1 400
4219 KT NZEs 1% R ALK R 1 400
4220 KREFH MNE oy T% KA ERAR 1 400
4221 REAL NZEs 1% R ALK R 2 800
4292 b NEY 1F KA ERAR 2 680
4223 KRE#H NZs 1% R ALK R 1 400
4224 =2 F NE% 1% RAT KA 1 400
4225 fii RS NZEs 1% R ALK R 2 800
4226 E MNE S T% KA ERAR 1 400
4227 B E B NZs 1% R A& AR 4 1360
4298 N NEY 1F KA ERAR 2 800
4229 AR NZEs 1% R ALK R 1 400
4230 KER MNE s 1% KA EAR 1 400
4231 XA NZE 2 1% R ALK R 1 400
4232 F Azl NEY 1F KA EAR 3 1200
4233 REE NZs 1% R ALK R 2 800
4234 # X & MNE Y TRE RAT KA 3 1380
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4235 XEF NZE s IRE KA AR 1 340
4236 F K ME Y FTHRE RATE LR 1 340
4237 g E & NEY TRE R ALK AR 1 340
4238 B AX ME Y FTHE KA ERAR 1 400
4239 L EE NEY TR%E KA AR 1 400
4240 B NNE Y IRE KA ERAR 1 340
4241 AW MNEY TRE R AT & R 1 340
4242 EX:4 MNE Y TRE KA EAR 1 340
4243 KEL NEY TRE R ALK R 1 460
4244 T A A NEs IRE KA EAR 1 400
4245 ] NZE s IRE KA AR 1 340
4246 K& ME Y FTHRE RATE AR 1 400
4247 i NEY TRE R ALK AR 1 340
4248 izl NE Y TRE KA AR 1 400
4249 7 X WNE s IRE KA AR 1 400
4250 # IE A ME Y FHRE KA EAR 1 400
4251 I HE MNEY TRE R AT & R 1 400
4252 Y= 5% 4 RERNZS KA R 3 1200
4253 X BR X 5% ¢ FERRZES RAER 1 340
4954 B 5%y SERRZES KA EAR 2 680
4255 = 5% % FMERRZS KA AR 2 800
4256 E il b 5% Y SERRZES KA EAR 2 680
4257 HOE A 5% 4 FERHZS R ALK R 1 400
4258 E 5%y SERRZES KA R 2 680
4259 FFEAL 5% 4 FERHZS R AT & R 2 680
4260 KA 5% 4 RERNZS KA ERAR 1 340
4261 Rk E 5% FERMNZS KA AR 2 800
4262 EHE 5% 4 RERNZS KA R 3 1020
4263 Fex 5% ¢ FERRZES KA AR 3 1020
4264 FRE 5%¢% RERKNZS KA EAR 1 400
4265 e 5% % FMERRZS KA AR 1 460
4266 e 5% Y SERRZES KA EAR 1 400
4267 =H Ak 5% FERMZS KA AR 4 1360
4268 k% 5%4% RERKNZS KA ERAR 2 680
4269 A, 5% 4% FERHZS R AT & R 1 400
4270 =145 5% RERHZS R AR 1 460
4271 KRZ 5% 4% FERHZS R ALK R 2 800
4272 3 5% Y SERRZES KA ERAR 2 680
4273 BAeE 5% ¢ FERRZES KA AR 2 680
4274 FHE 5%¢% RERKHZS KA ERAR 2 800
4275 7K R H 5% % FMERRZS KA AR 2 680
4276 TR 7 5%4% RERKNZS RAT KA 2 800
42717 i 5% 4% FERHZS R ALK R 1 340
4278 Z= 38 )T 5%¢% RERKHZS KA ERAR 2 680
4279 FED 5% 4 FERHZS R A& AR 1 400
4280 X R 5% 4 RERHZS R AR 1 340
4281 =X 5%y SERNZES R ALK R 1 400
4282 g XAt 5%y FERNZS KA EAR 3 1380
4283 EGRi2 5% ¢ FERRZES KA AR 1 460
4284 B & 5%4% RERKNZS KA EAR 1 400
4285 Z X5 5%y —FHRES RAER 2 680
4286 XM 5%y —ZARZES RAT KA 1 400
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4287 HEZ %4 —FHAHZS KA AR 2 800
4288 (i L5%4 —FZHANZES RATE LR 1 400
4289 AN 5% Y —FAHZS KA AR 1 400
4290 EEE L5%4 —FZHANZES KA R 1 340
4291 KA 5% Y —FHAHZS R A& R 1 460
4292 T FiR 5% 4 —FHAZSL R AR 2 800
4293 =R 5%y —FHRZES KA EAR 1 400
4294 JA )\ & 5%4 —FZHANZES KA R 1 400
4295 I4£= 5% 4 —FHAHZS R ALK R 1 400
4296 7k E 4 L%y —ZARZES KA R 2 920
4297 % g E 5% Y —FHAHZS KA AR 2 800
4298 TH&% L5%4 —FZHANZES RATE AR 1 340
4299 KHK HhE BEENZES KA AR 2 800
4300 XX A R HEARES KA AR 3 1380
4301 X[ K A R EERES KA AR 1 400
4302 &% ERE EERZES KA EAR 2 800
4303 EE P HEhE HERES KA AR 2 680
4304 X\ 3% H R HEARES KA R 1 340
4305 TiEf BhE BEENZES R ALK R 2 680
4306 4 EhE HERZES KA EAR 1 400
4307 KN = R HERES KA AR 2 680
4308 HEE EhE HERZES RAT KA 2 800
4309 AP Fn A R HERES KA AR 2 680
4310 AR % R HEARES KA ERAR 2 920
4311 el R R HERES R AT & R 1 400
4312 ESiin EhRE EEARZES KA ERAR 2 800
4313 KE HEhE HERES KA AR 1 400
4314 =k R HEARES KA R 2 800
4315 Eax R HERES KA AR 2 680
4316 AN HERE EERZES KA EAR 1 460
4317 Bt HEhE HERES KA AR 3 1380
4318 [ EE R EERZES RAT KA 2 920
4319 Az HhE BEENZES KA AR 3 1020
4320 gt R HEARES KA ERAR 4 1600
4321 EET R EERES KA AR 1 340
4322 ik ERE EEARZES KA EAR 1 400
4323 Bk Tk HEhE HERES KA AR 1 460
4324 T E R EERZES KA R 1 460
4325 ¥ R HERES KA AR 1 460
4326 k= HE ERE EERZES KA ERAR 1 400
4327 A1 R HERES KA AR 1 400
4328 =Kg EhE HERZES RAT KA 2 800
4329 EH HhE BEENZS KA AR 2 680
4330 B K R HEARES KA ERAR 2 680
4331 KiE R HERES R A& AR 4 1840
4332 ZEE R EERZES KA ERAR 2 800
4333 E DAY R HERES KA AR 3 1020
4334 KEZ R HEARES KA EAR 2 800
4335 B HE X R HERES KA AR 3 1380
4336 X8 g R EERZES KA EAR 2 680
4337 K H HEhE HERES KA AR 1 400
4338 = 1k ERE EERZES RAT KA 1 400
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4339 S R HERES KA AR 3 1020
4340 i F A% EhE HERZES RATE LR 2 680
4341 LTS BhE BEENZES KA AR 1 340
4342 iR R HEARES KA ERAR 1 400
4343 B R HEARES R A& R 1 400
4344 EiPiRi EhE HERZES KA ERAR 3 1200
4345 X[ A F R HERES KA EAR 3 1020
4346 il R HEARES KA EAR 1 400
4347 EHiE R HERES KA AR 2 680
4348 x| FF 1& EhE HERZES KA EAR 1 340
4349 7K & e R HERES KA AR 2 800
4350 pi EhE HERZES RATE AR 1 400
4351 TR HhE BEENZES KA AR 1 400
4352 ME = R HEARES KA AR 1 400
4353 A 4R A R HERES R AT & R 3 1380
4354 X5 E & EhE HERZES KA EAR 2 680
4355 HER HEhE HERES KA AR 4 1600
4356 2 E & R HEARES KA EAR 1 400
4357 MIEA R HERES KA AR 2 800
4358 i EhE HERZES KA EAR 2 680
4359 Wi R HERES KA AR 4 1360
4360 TEH BRlLEEAFEL B RAT KA 1 460
4361 K EAH Rl AEL Fl R ALK R 1 460
4362 FH= Rl Azl Bl KA ERAR 1 460
4363 B Rl AEL Bl R AT & R 1 460
4364 ED & BRlLEEAFEL B KA ERAR 1 460
4365 FEIE Rl AEL Fl KA AR 1 460
4366 JEA i E BlLEEAFEL B KA EAR 1 460
4367 B Rl AEL B KA AR 1 460
4368 A BRlLEEAFEL B KA EAR 1 460
4369 TRE Rl AEL Bl R ALK R 1 460
4370 X X F FLEEAZEL R RAT KA 1 460
4371 "4 Rl AEL Fl R ALK AR 1 460
4372 FEIE AR Rl Azl Bl KA ERAR 1 460
4373 [ Rl AEL Bl R AT & R 1 460
4374 ED# FLEHEAZEL RL KA EAR 1 460
4375 A Rl AEL Fl R ALK R 1 460
4376 7k AH 4R FLEEAZEL R KA ERAR 1 460
4377 b Rl AEL Bl R ALK R 1 460
4378 7 iF gk RlLEEAFEL B KA ERAR 1 460
4379 EEX¥ Rl AEL Fl R ALK R 1 460
4380 R EIE BRlLEEAFEL B RAT KA 1 460
4381 ES:5 Rl AEL Fl R ALK R 1 460
4382 ZhE Rl Az Bl KA ERAR 1 460
4383 w# i Rl A EL R R A& AR 1 460
4384 M E RlLEEAFEL B KA ERAR 1 460
4385 # iEAF Rl AEL Fl R ALK R 1 460
4386 7K IF F FLEEAZEL R KA EAR 1 460
4387 B X Rl AEL Bl R ALK R 1 460
4388 BEE FLEEAZEL RL KA EAR 1 460
4389 # IF 5 Rl AEL Bl R ALK R 1 460
4390 WiE = FLEHEAZEL R RAT KA 1 460
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4391 7k IF gk Rl AEL R KA AR 1 460
4392 %K B BlLEEAFEL B RATE LR 1 460
4393 NE Rl A EL R KA AR 1 460
4394 R Rl Az Bl KA ERAR 1 460
4395 ZHE A Rl A EL R R A& R 1 460
4396 BEHE RlLEEAFEL B KA ERAR 1 460
4397 B A= Rl AEL B KA EAR 1 460
4398 G BlLEEAFEL B KA EAR 1 460
4399 x5 Rl AEL Fl R ALK R 1 460
4400 T RlLEEAEL B KA EAR 1 460
4401 2=k Rl A EL R KA AR 1 460
4402 T E% BlLEEAFEL B RATE AR 1 460
4403 I R¥E Rl AEL Fl R ALK AR 1 460
4404 KRE Rl Azl Bl KA AR 1 460
4405 FHE Rl AEL R R AT & R 1 460
4406 7k IF 4 RlLEEAFEL B KA EAR 1 460
4407 Mt = Rl AEL Fl R AT & R 1 460
4408 FIEAE BlLEEAFEL B KA EAR 1 460
4409 MEE 4 Rl AEL Bl R ALK R 1 460
4410 A XA Rl EAFEL B KA EAR 1 460
4411 R Rl AEL Fl R ALK R 1 460
4412 IR E Bl Az Bl RAT KA 1 460
4413 bRy Rl AEL Fl R ALK R 1 460
4414 &=l Rl Azl Bl KA ERAR 1 460
4415 e Rl AEL Bl R AT & R 1 460
4416 iz hin BRlLEEAFEL B KA ERAR 1 460
4417 W RE Rl AEL Fl R ALK R 1 460
4418 KA E BlLEEAFEL B KA EAR 1 460
4419 Ehit Rl AEL Bl KA AR 1 460
4420 X E ¥ BRlLEEAFEL B KA EAR 1 460
4421 & LR Rl AEL Bl R ALK R 1 460
4422 T =4 Bl Azl Bl RAT KA 1 460
4423 EO Rl AEL Fl R ALK AR 1 460
4424 BRIAE BlLEEAFEL B KA ERAR 1 460
4425 HiEE Rl AEL Bl R AT & R 1 460
4426 FTE Rl Az Bl KA EAR 1 460
4427 IzE Rl AEL Fl R ALK R 1 460
4428 e BlLEEAFEL B KA ERAR 1 460
4429 R X Rl AEL Bl R ALK R 1 460
4430 e %2 RlLEEAFEL B KA ERAR 1 460
4431 EEeS Rl A EL R KA AR 1 460
4432 HE=x BRlLEEAFEL B RAT KA 1 460
4433 IHF Rl AEL Fl R ALK R 1 460
4434 RAEZ Rl Az Bl KA ERAR 1 460
4435 KED Rl A EL R R A& AR 1 460
4436 7K Z Al RlLEEAFEL B KA ERAR 1 460
4437 4% Rl AEL Fl R ALK R 1 460
4438 7K A BlLEEAFEL B KA EAR 1 460
4439 Z i % Rl AEL Bl KA AR 1 460
444() =HE BRlLEEAFEL B KA EAR 1 460
4441 ITHAE Rl AEL Bl R ALK R 1 460
4442 Eiib Bl Azl Bl RAT KA 1 460
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4443 IR R Rl AEL Rl R ALK R 1 460
4444 = [E48 Bl Azl Bl RATE LR 1 460
4445 EAE Rl AEL Bl R ALK AR 1 460
4446 18 L BlLEEAFEL B KA ERAR 1 460
4447 BAEA Rl AEL Bl R A& R 1 460
4448 ELE RlLEEAFEL B KA ERAR 1 460
4449 a2 Rl AEL Fl R AT & R 1 460
4450 B &t BlLEEAFEL B KA EAR 1 460
4451 XU IE Al Rl AEL Fl R ALK R 1 460
4452 Xk RlLEEAEL B KA EAR 1 460
4453 7K /INE Rl AEL Bl R ALK R 1 460
4454 KET BlLEEAFEL B RATE AR 1 460
4455 7K 7 e Rl AEL Fl R ALK AR 1 460
4456 [ BlLEEAFEL B KA AR 1 460
4457 2 EF Rl AEL R R AT & R 1 460
4458 e RlLEEAFEL B KA EAR 1 460
4459 EPatia Rl AEL Fl R AT & R 1 460
4460 ZEE BlLEEAFEL B KA EAR 1 460
4461 & TR Rl AEL Bl R ALK R 1 460
4462 it s Rl EAFEL B KA EAR 1 460
4463 i Rl A EL R KA AR 1 460
4464 X 2% BRlLEEAFEL B RAT KA 1 460
4465 M T Rl AEL Fl R ALK R 1 460
4466 e Rl Azl Bl KA ERAR 1 460
4467 F Rl AEL R R AT & R 1 460
4468 b BRlLEEAFEL B KA ERAR 1 460
4469 e Rl AEL Fl R ALK R 1 460
4470 WAE BlLEEAFEL B KA EAR 1 460
4471 BE Rl AEL Bl R ALK R 1 460
4472 H R BRlLEEAFEL B KA EAR 1 460
4473 X TF Rl A EL R KA AR 1 460
4474 XU AE AR BRlLEEAFEL B RAT KA 1 460
4475 BT Rl AEL Fl R ALK AR 1 460
4476 BEF BlLEEAFEL B KA ERAR 1 460
4477 BRI Rl AEL R R AT & R 1 460
4478 YUK BlLEEAFEL B KA EAR 1 460
4479 FEE Rl AEL Fl KA AR 1 460
4480 XL BlLEEAFEL B KA ERAR 1 460
4481 K =k Rl AEL Bl R ALK R 1 460
4482 et ] RlLEEAFEL B KA ERAR 1 460
4483 7K X 3 Rl AEL Fl R ALK R 1 460
4484 B FH BRlLEEAFEL B RAT KA 1 460
4485 [ Rl AEL Fl R ALK R 1 460
4486 1 A Rl Az Bl KA ERAR 1 460
4487 it Rl AEL Bl R A& AR 1 460
4488 AT RlLEEAFEL B KA ERAR 1 460
4489 i IvES Rl AEL Fl R ALK R 1 460
4490 X R, BlLEEAFEL B KA EAR 1 460
4491 o Rl AEL Bl KA AR 1 460
4492 B R BRlLEEAFEL B KA EAR 1 460
4493 i Rl AEL R KA AR 1 460
4494 X F R BlLEEAFEL B RAT KA 1 460
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4495 FHE Rl AEL R KA AR 1 460
4496 BE L BlLEEAFEL B RATE LR 1 460
4497 B IR A Rl AEL Bl R ALK AR 1 460
4498 =AE Rl Az Bl KA ERAR 1 460
4499 KR Rl A EL R R A& R 1 460
4500 A RlLEEAFEL B KA ERAR 1 460
4501 e Rl AEL Fl KA EAR 1 460
4502 R BlLEEAFEL B KA EAR 1 460
4503 BB Rl AEL Fl R ALK R 1 460
4504 % % RlLEEAEL B KA EAR 1 460
4505 EDS Rl A EL R KA AR 1 460
4506 8 BlLEEAFEL B RATE AR 1 460
4507 ITEE Rl AEL Fl R ALK AR 1 460
4508 B K Rl Azl Bl KA AR 1 460
4509 B X R Rl AEL Rl R AT & R 1 460
4510 PR 4 2L RlLEEAFEL B KA EAR 1 460
4511 B X Rl AEL Fl KA AR 1 460
4512 M IEE Rl AEL Bl KA EAR 1 460
4513 7K 16 E Rl AEL Bl R ALK R 1 460
4514 Ig% Rl EAFEL B KA EAR 1 460
4515 JE S R Rl AEL Fl R ALK R 1 460
4516 i BRlLEEAFEL B RAT KA 2 920
4517 EEES Rl AEL Fl R ALK R 1 460
4518 3% > A Rl Azl Bl KA ERAR 1 460
4519 ITE Rl AEL Bl R AT & R 1 460
4520 "EH BRlLEEAFEL B KA ERAR 1 460
4521 FER Rl AEL Fl R ALK R 1 460
4522 ZEH BlLEEAFEL B KA EAR 1 460
4523 Rt HEALE KE R ALK R 2 680
4524 I X H HLE K AR AR 3 1380
4525 W& XL KL KE KA AR 4 1840
4526 EES HALE K RAT KA 2 920
4527 24 HALE kE R ALK AR 2 680
4528 FHE HALE K KA ERAR 1 340
4529 7K Bt HALE & R AT & R 2 920
4530 HEE AL KE KA EAR 1 340
4531 BER HEALE KE R ALK R 1 400
4532 K& AL K KA ERAR 2 680
4533 AR K HEALE KE R ALK R 1 340
4534 R A M ol kR KA ERAR 1 340
4535 HAEE HALE & R ALK R 1 340
4536 BIKZ HALE K RAT KA 1 340
4537 KEH® HALE & R ALK R 3 1020
4538 R % HEALE K KA ERAR 1 340
4539 B K HALE & R A& AR 1 460
4540 I E® HLE K KA ERAR 1 460
4541 RN = HEALE K R ALK R 1 460
4542 BEE HEALE K KA EAR 2 680
4543 5 HALE KE R ALK R 1 340
4544 PR = HLE K AR AR 3 1200
4545 FEE HALE & R ALK R 1 340
4546 HEE HALE K RAT KA 1 340
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4547 =R HALE & R ALK R 1 400
4548 # IR HALE K RATE LR 2 680
4549 RUAZE HALE & R ALK AR 4 1840
4550 A HEALE K KA ERAR 2 800
4551 i HALE & R A& R 1 400
4552 = fm i HALE K KA ERAR 1 340
4553 =B HEALE KE R AT & R 2 680
4554 X E HEALE K KA EAR 2 680
4555 7k HEALE KE R ALK R 1 340
4556 ERUES HALE K AR AR 3 1200
4557 F gL HALE & R ALK R 1 340
4558 K gl AL KE RATE AR 2 800
4559 R B HALE & R ALK AR 1 340
4560 REA HEALE K KA AR 2 680
4561 BS% LR K E R AT & R 2 680
4562 = H¥ HALE K KA EAR 3 1020
4563 I 4 HEALE KE R AT & R 2 680
4564 e AL KE KA EAR 1 340
4565 BEA HALE KE R ALK R 1 340
4566 ZIEF L kR KA EAR 1 340
4567 A A HALE & R ALK R 1 340
4568 2= P L HALE K RAT KA 1 340
4569 /N3 L K E R ALK R 1 340
4570 X g HLE K KA ERAR 2 680
4571 ReF HALE & R AT & R 1 340
4572 R HLE KE KA ERAR 2 680
4573 KER HEALE KE R ALK R 1 340
4574 REF HALE K KA EAR 1 400
4575 SEEA HEALE KE R ALK R 1 400
4576 HEE LE S KA EAR 3 1200
4577 R VL il R ALK R 2 800
4578 i HALE A RAT KA 1 400
4579 MK E VL il R ALK AR 2 800
4580 Ix® HALE A KA ERAR 1 400
4581 WEDN LA A R AT & R 1 460
4582 IR HALE A KA EAR 1 460
4583 KEE HEALE KA AR 3 1200
4584 A HALE A KA ERAR 1 400
4585 /N4 LA A R ALK R 2 800
4586 X H AR il KA ERAR 2 680
4587 2 LA A R ALK R 2 680
4588 THB HALE A RAT KA 2 680
4589 FXE LA A R ALK R 2 680
4590 Y HALE A KA ERAR 1 340
4591 12 X% AL i R A& AR 1 460
4592 i A F HALE A KA ERAR 1 400
4593 ITHE AL A R ALK R 2 800
4594 5 72 B HALE A KA EAR 2 920
4595 kX HALE A KA AR 1 340
4596 7K B 1k AL kil RATEAR 1 400
4597 ZH K LA A R ALK R 1 400
4598 s HALE A RAT KA 1 400
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4599 ke LA A R ALK R 1 400
4600 = ZE VLW il RATE LR 1 400
4601 FrE AL il R ALK AR 1 400
4602 IFx HALE A KA ERAR 1 400
4603 RS Ak i R A& R 3 1200
4604 KEE HALE A KA ERAR 1 400
4605 B2 K AL A R AT & R 1 400
4606 A e HALE A KA EAR 3 1200
4607 £l HAE%E 4 R ALK R 1 340
4608 i E AEHE D4 KA EAR 2 920
4609 EEHk HAE%E D4 R ALK R 1 340
4610 % H AEHE D4 RATE AR 1 340
4611 &= g 1K HAE%E D4 R ALK AR 3 1020
4612 X E AE#E D4 KA AR 1 340
4613 ERd HA#E%E D4 R AT & R 3 1380
4614 T AEHE D4 KA EAR 1 340
4615 7K IF At HA#E%E D4 R AT & R 1 340
4616 nEFE AEHE D4 KA EAR 1 340
4617 Iz HAE%E 4 R ALK R 1 340
4618 BT Jr AEHE D4 KA EAR 1 340
4619 7k 1 g HA#E%E D4 R ALK R 4 1360
4620 %k fm B AEHE D4 RAT KA 1 340
4621 B & HAE%E D4 R ALK R 1 400
4622 KEFH AEHE D4 KA ERAR 1 400
4623 T HA#E%E D4 R AT & R 4 1360
4624 BaAN AEHE D4 KA ERAR 1 340
4625 P HA#E%E D4 R ALK R 2 680
4626 KR HAE%E D KA EAR 1 340
4627 FHA¥ AEE fE KA AR 1 340
4628 AR AEE M KA EAR 2 680
4629 KE A ML R ALK R 1 460
4630 N E HAEHE A% RAT KA 1 460
4631 KR HAfE HE R ALK AR 1 460
4632 EEER s fE KA ERAR 1 340
4633 7K N R HAfE ML R AT & R 2 800
4634 ®"E= HAEHE M KA EAR 1 340
4635 & R B A ML R ALK R 3 1020
4636 FEX HAEHE A% KA ERAR 2 680
4637 2= 0 HAfE ML KA AR 1 400
4638 ki AEE M KA ERAR 1 340
4639 K E A ML R ALK R 1 340
4640 KAEE HAEHE A% RAT KA 2 680
4641 5T T RE EH R ALK R 1 340
4642 KExF T REE FH KA ERAR 1 340
4643 JE N 77 T RE FEH R A& AR 1 340
4644 HEXR T REE EH KA ERAR 1 460
4645 TEE T RE R ALK R 1 340
4646 e T RE EH KA EAR 1 340
4647 i T RE EHE R ALK R 1 340
4648 A IF B¢ T REE EH KA EAR 1 400
4649 KEE T RE EH R ALK R 1 400
4650 ke T REE FH RAT KA 1 340
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4651 A Al T RE EH KA AR 1 340
4652 il T REE EH RATE LR 1 400
4653 F#E T RE EH R ALK AR 2 800
4654 =TI T REE EH KA ERAR 1 340
4655 7K IF 4% T RE FEH R A& R 1 340
4656 KR FRE EH KA ERAR 2 680
4657 E X4 T RE FEH R AT & R 2 680
4658 7K HE X T RE EH KA EAR 2 800
4659 # IF AT T RE EHF KA AR 2 680
4660 M IE A P RE REE KA EAR 2 680
4661 Tz TRE ZERE R ALK R 1 340
4662 8%z FRE REE RATE AR 1 400
4663 [ a8 TRE ZERE R ALK AR 1 400
4664 KAk E FRE REE KA AR 1 340
4665 RAE T RE ZERE R AT & R 1 340
4666 A= FRE REE KA EAR 1 340
4667 YA TRE ZERE R AT & R 1 400
4668 ES ¥l FRE REE KA EAR 1 340
4669 & T RE KEE KA AR 2 800
4670 ZHZ P RE REE KA EAR 2 680
4671 WEA A TRE ZERE R ALK R 2 680
4672 2R FRE REE RAT KA 2 680
4673 7K AR TRE ZERE R ALK R 1 340
4674 7K A X T RE ZEE KA ERAR 1 340
4675 BT Y T RE ZERE R AT & R 1 340
4676 K ¥ FRE REE KA ERAR 2 680
4677 e TRE ZERE R ALK R 1 340
4678 K FAT FRE REE KA EAR 3 1020
4679 RAR T RE KEE KA AR 2 680
4680 e P RE REE KA EAR 1 460
4681 ITEH TRE ZERE R ALK R 1 340
4682 2 gt T RE ZEE RAT KA 1 340
4683 FFE TRE ZERE R ALK AR 2 680
4684 EAE T RE ZEE KA ERAR 2 800
4685 B E B T RE ZERE R AT & R 4 1360
4686 % %7 9 P RE REE KA EAR 5 1700
4687 B3 TRE ZERE R ALK R 1 340
4688 JE3E % FRE REE KA ERAR 1 340
4689 FEEML T RE KEE KA AR 1 400
4690 (R FRE REE KA ERAR 1 400
4691 F¥X TRE ZERE R ALK R 2 680
4692 X fu FRE REE RAT KA 1 340
4693 K fE = TRE ZERE R ALK R 1 340
4694 EAAE FRE REE KA ERAR 3 1020
4695 X =35 T RE ZERE R A& AR 1 340
4696 B FRE REE KA ERAR 4 1360
4697 7K K B TRE ZERE R ALK R 1 400
4698 E0H RS Kk KA EAR 1 400
4699 2= I Wk Nk R ALK R 2 920
4700 i WS Nk KA EAR 2 920
4701 FmE Ww s Wk KA AR 1 400
4702 T WS Nk RAT KA 2 800
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4703 KIFH Ww Y Wk R ALK R 1 340
4704 Rk x WS Nk RATE LR 1 400
4705 FHE Ww s Nk R ALK AR 1 340
4706 W E & ks Lk A R AR 2 800
4707 & WS Nk KA AR 1 340
4708 M A= kS Lk KA ERAR 1 460
4709 = WS Nk R AT & R 1 400
4710 BA kS Kk KA EAR 2 680
4711 B R Nk R ALK R 3 1020
4712 T3 kS Lk KA EAR 1 400
4713 ITIEAR R s Wk R ALK R 1 400
4714 #ok WS Nk RATE AR 1 340
4715 R WS Nk R ALK AR 1 400
4716 b RS Kk KA AR 1 400
4717 AN WS Nk KA AR 1 340
4718 HOLHE WS Nk KA EAR 1 340
4719 = /i 18 R Nk R AT & R 1 340
4720 RIFfE kS Kk KA EAR 2 680
4721 THF kS Nk R ALK R 2 800
4722 BAZ WS Nk KA EAR 1 400
4723 JA K g8 Ww Y Wk R ALK R 1 340
4724 M A WS Nk RAT KA 1 460
4725 ZF WS Nk KA AR 2 680
4726 THE ks Nk KA ERAR 5 2000
4727 T WS Ak R AT & R 3 1200
4728 HAH WS WiE KA ERAR 1 400
4729 # R WS HiE KA AR 2 680
4730 T3 WH S HiE KA EAR 1 400
4731 R E k5 ik KA AR 2 680
4732 8 A7 S B KA EAR 2 680
4733 X[ A WS HiE KA AR 1 400
4734 WHEH WS i RAT KA 1 340
4735 EvE:S kS ik R ALK AR 1 340
4736 1 %% NS HiE KA ERAR 1 400
4737 & XAt k5 ik R AT & R 1 340
4738 ZkH S i KA EAR 2 680
4739 SEARIN Wy #E R ALK R 1 400
4740 MIEA NS HiE KA ERAR 1 340
4741 x| F 4 Wy #iE R ALK R 2 680
4742 AT WS i KA ERAR 4 1360
4743 B A & Wy #E R ALK R 1 400
4744 4% WS i RAT KA 1 340
4745 A ks ik R ALK R 2 800
4746 = H NS HiE KA ERAR 1 400
4747 LI H Wy #iE R A& AR 1 400
4748 B % i KA ERAR 2 800
4749 B Wy #E R ALK R 2 800
4750 X F NS FiE KA EAR 1 340
4751 i Wy #iE R ALK R 1 400
4752 RER S B KA EAR 1 400
4753 BT A WS HiE KA AR 1 400
4754 DS S it RAT KA 1 340
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4755 KoK A Wy #E R ALK R 1 400
4756 (N WS i RATE LR 2 800
4757 X B A Wy #iE R ALK AR 2 800
4758 A X3 NS HiE KA ERAR 1 400
4759 FHER k5 ik R A& R 1 400
4760 2 B S i KA ERAR 1 400
4761 THF WS HiE KA EAR 1 460
4762 KR NS HiE KA EAR 1 400
4763 F M k5 Bk R ALK R 1 460
4764 i AT S B KA EAR 1 340
4765 Y A gE Wy #E R ALK R 2 920
4766 W R E S i RATE AR 1 400
4767 IEES Wk S fiE KA AR 1 400
4768 FRE NS HiE KA AR 1 340
4769 A Wy #E R AT & R 1 340
4770 D S i KA EAR 2 680
4771 = ik Wy #E R AT & R 1 400
4772 B NS HiE KA EAR 2 680
4773 IL£E k5 ik R ALK R 2 680
4774 WK T S B KA EAR 5 1700
4775 B E Wy #E R ALK R 1 400
4776 B WS i RAT KA 2 680
4777 =R kS ik R ALK R 2 800
4778 i NS HiE KA ERAR 3 1380
4779 A 35 7 Wy #E R AT & R 1 400
4780 TR S ik KA ERAR 1 340
4781 4 WS HiE KA AR 1 340
4782 k% NS FiE KA EAR 1 400
4783 7 EE k5 ik R ALK R 1 340
4784 HRE S B KA EAR 1 400
4785 I R, Wy #E R ALK R 2 800
4786 A HR WS i RAT KA 2 800
4787 =k HE kS ik R ALK AR 2 680
4788 I NJE NS HiE KA ERAR 2 800
4789 Z % Wy #E R AT & R 1 340
4790 IEW S i KA EAR 2 680
4791 B XA WS HiE KA AR 1 340
4792 e NS HiE KA ERAR 2 680
4793 B Wy #iE R ALK R 2 680
4794 W WS i KA ERAR 2 680
4795 (e Wy #E KA AR 1 340
4796 A B WS i RAT KA 1 400
4797 ML ks ik R ALK R 4 1360
4798 T NS HiE KA ERAR 1 400
4799 =R A Wy #iE R A& AR 1 400
4800 g IE & % i KA ERAR 1 340
4801 Z I Wy #E R ALK R 4 1360
4802 EEES k4 TR KA EAR 2 800
4803 HE % ks TR R ALK R 1 340
4804 TERE WS FR KA EAR 1 400
4805 TIE® ks TR R ALK R 1 400
4806 M= WS FR RAT KA 2 920
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4807 BA & ks TR R ALK R 1 460
4808 BEE WS FR RATE LR 1 400
4809 KA= ks TR R ALK AR 2 800
4810 HEA w4 TR KA ERAR 2 920
4811 B WS FR KA AR 2 920
4812 BAE% WS FR KA ERAR 1 400
4813 Eikakd ks TR R AT & R 3 1380
4814 HEX w4 TR KA EAR 1 400
4815 i ks TR R ALK R 1 400
4816 % E 1@ WS FR KA EAR 4 1840
4817 EXi: %2 ks TR R ALK R 1 400
4818 =k WS FR RATE AR 2 800
4819 KA L ks TR R ALK AR 2 680
4820 A4 w4 TR KA AR 2 680
4821 FhIE R ks TR R AT & R 2 800
4822 HE WS FR KA EAR 1 340
4823 b4 Ww s TR R AT & R 1 340
4824 P44 w4 TR KA EAR 1 400
4825 ES:S ks TR R ALK R 1 400
4826 X E WS FR KA EAR 1 400
4827 FHEE ks TR R ALK R 1 340
4828 KA ke TR RAT KA 2 680
4829 FEF ks TR R ALK R 1 400
4830 KEX ke AR KA ERAR 1 400
4831 E R ks TR R AT & R 1 340
4832 KA R WS FR KA ERAR 2 800
4833 [N ks TR R ALK R 1 400
4834 =40 w4 TR KA EAR 1 400
4835 Eikihs ks TR R ALK R 1 400
4836 TiRE WS FR KA EAR 1 400
4837 TR WS FR KA AR 1 340
4838 KEE WS FR RAT KA 1 400
4839 R = ks TR R ALK AR 1 400
4840 JEA B & ke AR KA ERAR 1 340
4841 TKEA X ks TR R AT & R 1 400
4842 i3] WS FR KA EAR 2 680
4843 F kT WS FLE KA AR 1 400
4844 Z AR NS FE KA ERAR 2 680
4845 M 37t Wy HAE R ALK R 1 400
4846 i} WS FE KA ERAR 1 340
4847 2 s HAK R ALK R 2 680
4848 il WS FIE RAT KA 2 920
4849 A WH s HAE R ALK R 2 680
4850 ik ks FAXK KA ERAR 1 460
4851 ESuniia s FAK R A& AR 3 1020
4852 ik WS FIE KA ERAR 3 1020
4853 4 W ET WH s HAE R ALK R 1 460
4854 AR NS FE KA EAR 1 340
4855 F R s HAE R ALK R 3 1380
4856 FHE WS FE KA EAR 1 340
4857 e WH s HAE R ALK R 1 340
4858 =17 R WS FIE RAT KA 2 680
94 71, 3132 7




4859 EKIE R WH s FAK R ALK R 1 340
4860 ZH A WS FIE RATE LR 1 400
4861 K Wy HAE R ALK AR 2 680
4862 XF T F NF# S FE KA ERAR 1 340
4863 HE= s FAER R A& R 1 340
4864 i >4 BH WS FIE KA ERAR 3 1380
4865 B/ WH s HAE R AT & R 1 400
4866 FIEHE ks AKX KA EAR 3 1380
4867 & fe WS FLAE KA AR 2 920
4868 B4 % WS FE KA EAR 1 340
4869 EN s HAE R ALK R 1 460
4870 BT WS FE RATE AR 1 400
4871 BLIF & WH s HAE R ALK AR 2 920
4872 KA R NF# S FE KA AR 4 1360
4873 THE s FAE R AT & R 1 340
4874 ok A WS FIE KA EAR 1 400
4875 JAE FF Wy FAE R AT & R 1 340
4876 ke NS FE KA EAR 2 800
4877 FEE s HAE R ALK R 1 340
4878 A % WS FE KA EAR 1 340
4879 KB FE s HAK R ALK R 1 340
4880 X\ 2 WS FIE RAT KA 2 680
4881 ZkE WH s HAE R ALK R 1 400
4882 TR NS FE KA ERAR 2 800
4883 AN s FAE R AT & R 1 400
4884 FTHE WS K RAE R 1 340
4885 FEE Wy FAE R ALK R 1 340
4886 AR NS FE KA EAR 1 400
4887 Eck:d s HAE R ALK R 4 1360
4888 KR WS FE KA EAR 1 460
4889 HEiE WH s HAK R ALK R 1 400
4890 = WS FIE RAT KA 1 400
4891 K EH WH s HAE R ALK AR 1 400
4892 ZIEX NFE S FE KA ERAR 2 680
4893 g WS FIE R AT & R 1 400
4894 B WS FIE KA EAR 1 400
4895 X FE4L Wy FAE R ALK R 1 460
4896 e Vi AR KA ERAR 1 340
4897 T HK Vil AR R ALK R 1 340
4898 EEE Vil AR KA ERAR 2 920
4899 KEE VAR R ALK R 1 340
4900 W E Vil AR RAT KA 1 340
4901 RAE% ViR R ALK R 1 340
4902 Wt T Vil AR KA ERAR 1 460
4903 TE¥ Vi A R A& AR 2 680
4904 HH B S BB KA ERAR 1 340
4905 #HIEE B S BB R ALK R 2 680
4906 A Vil AR KA EAR 2 680
4907 FEE ViR R ALK R 1 340
4908 =52 Vil AR KA EAR 1 340
4909 FhE ViR R ALK R 2 800
4910 KEE Vil AR RAT KA 1 340
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4911 Ea3 ViR R ALK R 2 680
4912 Eandica Vil AR RATE LR 1 340
4913 ERIN ViR R ALK AR 1 340
4914 MEx Vi AR KA ERAR 2 680
4915 i AR, Vi A R A& R 2 680
4916 WMEZ B S FER KA ERAR 1 340
4917 e Lk Vil KA EAR 1 340
4918 Z ot fa Vil KA EAR 2 680
4919 Bk 4T 3 ViR R ALK R 2 800
4920 WA B S BB KA EAR 1 340
4921 B ViR R ALK R 1 340
4922 i Vil AR RATE AR 1 400
4923 7K 4 4k ViR R ALK AR 1 340
4924 iR Vil AR KA AR 1 340
4925 7% B BELS AKX KA AR 1 340
4926 REEE BELY RX KA EAR 2 680
4927 = BB RXK R AT & R 1 340
4928 B % BELS AKX KA EAR 1 340
4929 E= BELS =X KA AR 2 680
4930 R BELY RX KA EAR 1 340
4931 A ES B RXK R ALK R 1 340
4932 IFE BELY RX RAT KA 1 340
4933 e BELS =X KA AR 2 680
4934 Eaiil:3 BELS AKX KA ERAR 3 1020
4935 = B B RXK R AT & R 2 800
4936 RIE%R BELY RX KA ERAR 2 800
4937 HIEE B AKX R ALK R 1 340
4938 = 1AL BELS AKX KA EAR 2 680
4939 ZEF BELS =X KA AR 1 400
4940 e BELY RX KA EAR 1 340
4941 B BELS AX R ALK R 1 340
4942 - atial BELY RX RAT KA 1 400
4943 WEFH BELS =X KA AR 1 400
4944 S BBy RE KA ERAR 1 340
4945 E B RXK KA AR 1 400
4946 & KA BELY RX KA EAR 1 460
4947 EE B AKX R ALK R 1 460
4948 AHEZ BELY AKX KA ERAR 1 340
4949 = BELS =X KA AR 1 400
4950 = Jm i BELY RX KA ERAR 2 680
4951 = ¥ BELS AX KA AR 2 680
4952 & e BELY RX RAT KA 1 340
4953 2T HE BELS =X KA AR 1 400
4954 i BELS AKX KA ERAR 1 340
4955 A E BB RXK KA AR 1 340
4956 A BELY RX KA ERAR 2 680
4957 E 5 B RXK R ALK R 1 340
4958 Rk BELY AKX KA EAR 2 680
4959 ZER BELS =X KA AR 1 340
4960 RED BELY RX KA EAR 2 680
4961 Al DRy B R ALK R 1 460
4962 PR F LEEY AR RAT KA 1 400
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4963 oL Dy B R ALK R 1 400
4964 Rl LEEY AR RATE LR 2 800
4965 F#HZ DREES ER R ALK AR 1 340
4966 7K i LEEY AR KA ERAR 2 800
4967 AN DEES AR R A& R 1 400
4968 XA LEEY AR KA ERAR 1 340
4969 Z= s DRy B R AT & R 2 800
4970 KFEH LEEY AR KA EAR 2 680
4971 JEE N DREES ER R ALK R 2 680
4972 IR LEEY AR KA EAR 1 340
4973 JEEE DRy B R ALK R 2 680
4974 1 LEEY AR RATE AR 1 460
4975 R E DY AR KA AR 1 400
4976 EYIE LEEY AR KA AR 2 920
4977 B IR DEES Bk R AT & R 1 400
4978 [ LEEY AR KA EAR 2 800
4979 R E S DRy B R AT & R 2 680
4980 Rt & LEEY AR KA EAR 1 340
4981 EESN DREES ER R ALK R 1 400
4982 |~ LEEY AR KA EAR 1 400
4983 T Dy B R ALK R 2 800
4984 Z KW LEEY AR RAT KA 3 1020
4985 7 AL DREES ER R ALK R 1 340
4986 AT DRy B KA ERAR 2 920
4987 X\ Ao R DEES Bk R AT & R 4 1360
4988 FHX LEEY AR KA ERAR 1 400
4989 Eq4 DRy B R ALK R 1 400
4990 % K e LEEY AR KA EAR 3 1020
4991 T DREYEY AR KA AR 2 680
4992 K FK LEEY AR KA EAR 2 800
4993 TAE X DRy B R ALK R 4 1360
4994 &7 R LEEY AR RAT KA 1 400
4995 E4E DREES ER R ALK AR 3 1020
4996 A B LEEY AR KA ERAR 4 1600
4997 [l DEES Bk R AT & R 2 800
4998 &4 LEEY AR KA EAR 1 400
4999 R Xt DRy B R ALK R 2 680
5000 LR LEEY AR KA ERAR 2 680
5001 e DREES ER R ALK R 3 1020
5002 k&L LEEY AR KA ERAR 4 1360
5003 K Dy B R ALK R 1 400
5004 7K A X LEEY AR RAT KA 1 400
5005 & h A DREES ER R ALK R 1 460
5006 JEER LEEY AR KA ERAR 3 1020
5007 B e DEES Bk R A& AR 2 800
5008 KFE LEEY AR KA ERAR 1 460
5009 =ER DRy B R ALK R 3 1020
5010 I ME s &F\l KA EAR 1 340
5011 K AT nZEs &1l KA AR 1 340
5012 AE R NES ZE1W KA EAR 5 2000
5013 x4 NES 210 KA AR 1 340
5014 7K 21 % ME s &F\l RAT KA 1 340
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5015 BX A % NES 10 KA AR 1 340
5016 KE = ME s &F\l RATE LR 1 400
5017 FIRA NES 10 KA AR 2 800
5018 FE X BH ME s &F\l KA ERAR 1 400
5019 X HIE ME s #F1\l R A& R 2 800
5020 X RAT ME s &F\L KA ERAR 2 680
5021 KAE NZEs &1l KA EAR 1 400
5022 B A ME s ZF\L KA EAR 2 800
5023 O % nZEs &1l KA AR 1 400
5024 I%Z NES ZE1W KA EAR 1 400
5025 = A NES 10 KA AR 2 800
5026 R E ME s &\l RATE AR 3 1200
5027 kR AL NES 10 KA AR 3 1020
5028 = ME s ZF\l KA AR 1 400
5029 KIFF ME s ZF1l R AT & R 3 1200
5030 M= ME sy &F\L KA EAR 1 400
5031 Rk A& nZEs &1l KA AR 1 340
5032 F N ME s &F\l KA EAR 3 1020
5033 X\ 4l % NES 10 KA AR 1 340
5034 kb5 NES ZE1W KA EAR 1 340
5035 HEE NES 10 KA AR 2 800
5036 oK o ME s &F\l RAT KA 1 400
5037 [ NZEs &1l KA AR 1 400
5038 KA H ME s &F\l KA ERAR 4 1360
5039 = HX ME s ZF1l R AT & R 2 680
5040 & F ME s &F\L KA ERAR 2 800
5041 KRE nZEs &1l R ALK R 3 1200
5042 RS ME s &F\l KA EAR 1 400
5043 ok 4 nZEs &1l KA AR 1 400
5044 e NES ZE1W KA EAR 2 800
5045 KA Fl e TRHES R ALK R 3 1200
5046 E£hHE FlY ARAZES RAT KA 1 340
5047 KB Fl s ARHES R ALK AR 2 800
5048 7K 2 i FlY ARAZES KA ERAR 2 800
5049 7K 77 B F\l e TRHAZES R AT & R 1 400
5050 % IF Bk FlY ARAZES KA EAR 1 400
5051 B ER Fl s GRHAES R ALK R 2 680
5052 A FlY BARAZES KA ERAR 1 340
5053 £ E & Fls ARHEL R ALK R 2 680
5054 T Ty ARNES KA ERAR 1 400
5055 EH = Fl s TRHAZES R ALK R 2 680
5056 KR FlY ARAZES RAT KA 2 680
5057 EEAR Fl s ARHES R ALK R 1 400
5058 i B FlY ARAZES KA ERAR 1 340
5059 FIEX Fl e TRHAZES R A& AR 1 340
5060 HHX FlY ARAZES KA ERAR 2 800
5061 &k g Fl s GRHNES R ALK R 2 800
5062 ®EZ FlY ARAZES KA EAR 4 1600
5063 KHAR Fl s ARHES R ALK R 2 800
5064 = E FlY ARAZES KA EAR 2 800
5065 J& i % Fl s TRHES R ALK R 2 680
5066 ZIT FlY BARAZES RAT KA 1 340
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5067 ERE Fls TRHAZES R ALK R 1 340
5068 4 FlY BARAZES RATE LR 2 800
5069 ZAE Fls ARHES R ALK AR 1 340
5070 = FlY BARAZES KA ERAR 3 1200
5071 Fh%E Fl e TRAZES R A& R 1 400
5072 Z H R FlY ARAZES KA ERAR 3 1200
5073 & JE A Fl s TRHZEL R AT & R 2 680
5074 [ A2 FlY ARAZES KA EAR 1 400
5075 L Fl s ARHNEL R ALK R 1 400
5076 HEE Ty THRANZES KA EAR 4 1600
5077 el ias Fl s TRHNES R ALK R 1 460
5078 KAk FlY ARAZES RATE AR 1 340
5079 &4 i Fl s ARHES R ALK AR 4 1600
5080 FAB L FhY ARAZES KA AR 2 800
5081 7K R F\l e TRAZES R AT & R 4 1600
5082 Ea FlY ARAZES KA EAR 4 1600
5083 L e Fl s GRHAZES R AT & R 1 340
5084 22 I B T4 ARAZES KA EAR 2 680
5085 EHE Fl s ARHNEL R ALK R 2 680
5086 B 3 Ty THRANZES KA EAR 2 680
5087 KA Fl s TRHAZES KA AR 2 800
5088 FE FlY ARAZES RAT KA 1 340
5089 i A Fl s ARHES R ALK R 2 680
5090 R FlY ARAZES KA ERAR 2 680
5091 [ Fl e TRHAZES R AT & R 1 340
5092 Xy Ty ARAZES KA ERAR 2 680
5093 B Fl s GRHAZES R ALK R 1 340
5094 TR K FlY ARAZES KA EAR 2 680
5095 x| 7% Bt Fl s ARHES R ALK R 3 1200
5096 L AT FlY ARAZES KA EAR 4 1600
5097 Kt E Fl e TRHES KA AR 2 800
5098 & X% FlY ARAZES RAT KA 2 800
5099 KR Fl s ARHES R ALK AR 2 800
5100 TR A FlY ARAZES KA ERAR 2 800
5101 i F\l e TRHAZES R AT & R 2 800
5102 X B FlY ARAZES KA EAR 2 800
5103 I A Fl s GRHAES R ALK R 2 800
5104 a4 FlY BARAZES KA ERAR 1 400
5105 ey Fls ARHEL R ALK R 1 400
5106 L H R Fly ARAZES KA ERAR 1 400
5107 =3 Fl s TRHAZES R ALK R 2 800
5108 T R FlY ARAZES RAT KA 2 800
5109 X 17 Fl s ARHES R ALK R 1 400
5110 EH5 FlY ARAZES KA ERAR 4 1600
5111 x| [E A& 5% % BENEL R A& AR 2 800
5112 AN L5%¢% 5ZREL KA ERAR 3 1200
5113 FE T 4 554 BERZES R ALK R 3 1020
5114 R L%4 5ZREL KA EAR 1 400
5115 T HEE 554 BERNES R ALK R 2 920
5116 a5 1% L5%4 5ZREL KA EAR 1 340
5117 ¥EZ 554 BENES R ALK R 1 340
5118 aE %4 5ZREL RAT KA 1 400
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5119 A EK 554 BENES R ALK R 1 460
5120 (R L%4% 5ZREL RATE LR 1 460
5121 KFEX 554 BERES R ALK AR 3 1200
5122 ¥ )2 A %4 5ZREL KA ERAR 1 400
5123 L E 5% % BENES R A& R 1 340
5124 #tE K L5%¢ 5ZREL KA ERAR 2 800
5125 5T 554 BERES R AT & R 1 400
5126 e x4 BENES KA EAR 1 400
5127 = EH R 554 BERZES KA AR 5 1700
5128 il L5%¢% 5ZREL KA EAR 3 1200
5129 R BRE NERHZEL KA AR 1 400
5130 i EhE NERZES RATE AR 1 460
5131 BRI BRE NEeRHZEL R ALK AR 1 340
5132 BB BhE NERZES KA AR 3 1020
5133 B g R NERZES R AT & R 3 1020
5134 % L % EhE NERZES KA EAR 3 1020
5135 &= MR BRE NEeRNEL KA AR 1 460
5136 Kk A BhE NERZES KA EAR 1 400
5137 EE2i2 R NERES KA AR 1 400
5138 #F AT EhE NERZES KA EAR 2 920
5139 B BRE NERNZEL R ALK R 1 460
5140 EEE BhE NERZES RAT KA 1 460
5141 WK% BRE NEeRHZEL R ALK R 2 800
5142 EAA BhE NERZES KA ERAR 1 460
5143 EEZS R NERZES R AT & R 2 680
5144 KAE EhE NERZES KA ERAR 1 400
5145 e BRE NERHZEL R ALK R 2 680
5146 TH#E= EhE NERZES KA EAR 1 400
5147 = BRE NEeHZEL R ALK R 1 400
5148 L3 EhE NERZES KA EAR 1 400
5149 R BRE NEeRZEL R ALK R 1 400
5150 &R AT BhE NERZES RAT KA 4 1360
5151 KiEE R EEINES KA AR 2 920
5152 X 3 BhE EEIRNES KA ERAR 1 400
5153 It = HhE IR R AT & R 1 340
5154 ZEE HhE EEINES KA EAR 2 920
5155 it & BhE FEINRNZE S R ALK R 2 800
5156 38 JIFURK R EEIRNES KA ERAR 2 920
5157 EEE BhE R INRZ 2 R ALK R 3 1200
5158 = H % R EEINES KA ERAR 4 1840
5159 £ XA HhE FEINRES R ALK R 1 400
5160 e R EEINES RAT KA 1 400
5161 5= BhE FRINZE 2 R ALK R 1 460
5162 E BhE EEIRES KA ERAR 1 400
5163 K R HhE RTINS R A& AR 1 340
5164 B A7 R EEINES KA ERAR 2 800
5165 BHE HhE FEINRNE S R ALK R 1 400
5166 EER HhE EEIRNES KA EAR 3 1200
5167 B BhE R INRZE2 R ALK R 3 1200
5168 A R EEINES KA EAR 1 460
5169 R e HhE FEINRES R ALK R 2 800
5170 i EhE EEINES RAT KA 2 800
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5171 S HhE FEINRE S R ALK R 1 400
5172 MEF FLEEAEL Kl RATE LR 1 400
5173 & KA FLfE A EL kil R ALK AR 4 1360
5174 B BEHE FX KA ERAR 3 1200
5175 7Kt A% HMEHE EE R A& R 1 340
5176 2% A BEHE BX KA ERAR 4 1360
5177 KR IE BEHEE BX KA EAR 1 460
5178 & X BEHEE BE KA EAR 4 1600
5179 X E BE e EE R ALK R 5 1700
5180 K R EE BEHEE BFE KA EAR 2 680
5181 KR BEHE FR KA AR 1 400
5182 BN Yin BEHE BX RATE AR 2 680
5183 ITH%E HMEHE EE R ALK AR 1 400
5184 R AT A BEHE BFE KA AR 2 800
5185 Z R AH ME e EE R AT & R 2 920
5186 EXE BEHEE BFE KA EAR 2 680
5187 7K i HMEHE EE R AT & R 3 1020
5188 X & BEHE FX KA EAR 1 400
5189 PR AT HE e EE R ALK R 2 680
5190 X 4= & BEHE FX KA EAR 2 800
5191 R X BEHYE BE KA AR 2 680
5192 K= BEHEE BFE RAT KA 1 400
5193 KB R HMEHE EE R ALK R 2 680
5194 7K R BEHEE BFE KA ERAR 1 460
5195 B4 B BEHEE BE KA AR 3 1020
5196 [ BEHEE BFE KA ERAR 1 340
5197 BB BEHEE BXE KA AR 1 340
5198 B EAE BEHE BE KA EAR 3 1380
5199 KR BEEE BXE KA AR 1 400
5200 & s BEHEE BFE KA EAR 3 1020
5201 KEE BEHYE BE KA AR 1 460
5202 Wk BEHEE BFE RAT KA 1 340
5203 = HMEHE EE R ALK AR 1 340
5204 AR BEHEE BFE KA ERAR 2 800
5205 x| X ¥ BEHEE BE KA AR 1 400
5206 KIEHF BEHE BX KA EAR 1 340
5207 EXE HMEHE EE R ALK R 1 400
5208 KK BEHEE BFE KA ERAR 1 460
5209 ZER BEEE BXE KA AR 1 400
5210 ZHRZ BEHEE BFE KA ERAR 2 800
5211 KX = BEHYE BE KA AR 1 460
5212 7k it % BEHE FX RAT KA 1 400
5213 Y E HME e EE R ALK R 2 920
5214 E BEHE FX KA ERAR 1 460
5215 I BEHEE BXE KA AR 2 920
5216 KA BEHEE BFE KA ERAR 1 340
5217 KAE BEHEE BXE KA AR 1 400
5218 KER BEHEE BE KA EAR 4 1360
5219 S an BE e EE R ALK R 2 800
5220 KX E BEHEE BFE KA EAR 1 400
5221 K IF & MEHE ER R ALK R 3 1200
5222 KEE BEHEE BFE RAT KA 1 340
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5223 kR BEHYE BE KA AR 2 800
5224 ke BEEE EX RATE LR 2 680
5225 kR E HME e EE R ALK AR 2 800
5226 X 4% BEEE FX KA ERAR 1 400
5227 It BEHEE BE KA AR 2 800
5228 PRAT B BEEYE BE A R AR 3 1020
5229 MIE% BEHEE BX KA EAR 1 340
5230 RS BEEE FX KA EAR 1 400
5231 K X E BEREE 55 KA AR 2 800
5232 ERL BEEE 5L KA EAR 2 800
5233 R BEHEE 85X KA AR 1 400
5234 7K AR BEEE 5% RATE AR 1 400
5235 B AR BEEE 55 KA AR 2 800
5236 KPE BEHE 5% KA AR 3 1020
5237 XEE HEEE 5% R AT & R 2 800
5238 = RF BEHE 8L KA EAR 4 1600
5239 [t BEHE 85 KA AR 2 800
5240 FHT BEHE 5% AR AR 3 1200
5241 S4B BEHEE 85X KA AR 4 1360
5242 LA BEEE 5L KA EAR 1 460
5243 A4 BEHEE 85 KA AR 4 1840
5244 KiEE BEEE 5% RAT KA 2 800
5245 b 4k BEEE 55 KA AR 3 1200
5246 EHHE BEHE 5% KA ERAR 3 1200
5247 EEE BEHEE g% KA AR 3 1200
5248 R E BEHE 8L AR AR 3 1200
5249 KA R BEHE 85X KA AR 3 1200
5250 7K M T BEHE 5% KA EAR 1 400
5251 & F BEHEE 55 KA AR 1 340
5252 i a BEEE 5L KA EAR 1 460
5253 S BEHEE 85X KA AR 1 340
5254 i BEEE 5% RAT KA 1 340
5255 B BEEE 55 KA AR 2 800
5256 %=1 BEHE 5% KA ERAR 5 1700
5257 e BEHEE g% KA AR 2 800
5258 7B BEEE 5% KA EAR 2 800
5259 #EFE BEHE 85 KA AR 2 800
5260 R AE BEHE 5% KA ERAR 1 400
5261 =3 BEHEE 55 KA AR 2 800
5262 KR 2 BEEE 5L KA ERAR 2 800
5263 £ Al BEHEE 85 KA AR 3 1200
5264 R BEHE 8L AL R R 3 1200
5265 A BEHEE 55 KA AR 2 800
5266 O IE# BEHE 5% KA ERAR 2 800
5267 TH= BEEE 8L KA AR 3 1020
5268 g BEEE 5% KA ERAR 2 680
5269 EIF BEHE 55 KA AR 1 400
5270 T BEEE 5% KA EAR 1 460
5271 KR BEREE 85 KA AR 1 400
5272 7K i BEEE 5L KA EAR 1 460
5273 %t 2 BEHE KX KA AR 2 800
5274 EI 4 BEHE KL RAT KA 2 680
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5275 = BEHE KX KA AR 2 680
5276 K F K BEHE KA RATE LR 2 680
5277 7K iR BEHE KX KA AR 3 1020
5278 KEE BEHEE KX KA ERAR 1 340
5279 e En BEHE KA KA AR 1 340
5280 7K K IF BEHE KX KA ERAR 2 680
5281 TR % BEHE KX KA EAR 1 340
5282 EDOS BEHE KA KA EAR 2 680
5283 f S BEHEE KX KA AR 2 680
5284 R JE BEHE KX KA EAR 1 400
5285 ZXE L K E R ALK R 1 400
5286 KEZ ELE KE RATE AR 1 460
5287 B4R = LA K E R ALK AR 2 680
5288 RE HEALE KE KA AR 2 680
5289 M R FELE KE R AT & R 1 400
5290 B A EALE KE KA EAR 2 680
5291 i EALE KE R AT & R 2 680
5292 Z X B EALE KE KA EAR 1 340
5293 = LA KR R ALK R 2 680
5294 wAF ELE KE AR AR 3 1020
5295 ITHG L K E R ALK R 2 800
5296 IAE EALE KE RAT KA 2 680
5297 fif LA K E R ALK R 3 1200
5298 FH= HEALE KE KA ERAR 1 340
5299 X FELE KE R AT & R 2 680
5300 Z G EALE KE KA ERAR 1 400
5301 BT EALE KE R ALK R 1 400
5302 x| R4 EALE KE KA EAR 1 340
5303 AT LA KR R ALK R 1 340
5304 IR R, ELE KE KA EAR 1 340
5305 RAR A L KR R ALK R 1 340
5306 [ At ELE KE AL R R 3 1020
5307 2 L KR R ALK AR 1 340
5308 RE HEALE KE KA ERAR 2 800
5309 X b= FELE KE R AT & R 1 340
5310 HEZ EALE KE KA EAR 2 680
5311 A HEALE KE KA AR 2 680
5312 KEA EALE KE KA ERAR 1 340
5313 & B i LA KR R ALK R 1 460
5314 A = ELE KE KA ERAR 1 340
5315 I L K E R ALK R 1 460
5316 B A EALE KE RAT KA 2 680
5317 Rk L K E R ALK R 2 800
5318 AHRE HEALE KE KA ERAR 1 400
5319 BRI ¥ FLE KE R A& AR 1 340
5320 X AR ELE KE KA ERAR 1 340
5321 X 8% EALE KE R ALK R 1 340
5322 RE I EALE KE KA EAR 1 340
5323 BRE L KR R ALK R 1 340
5324 R XK ELE KE KA EAR 1 340
5325 ZEE L KR R ALK R 1 340
5326 7K o 7% ELE KE RAT KA 1 340
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5327 ki L K E R ALK R 2 680
5328 2N ELE KE RATE LR 1 400
5329 B HEALE KFE KA AR 1 340
5330 Ehx HEALE KE KA ERAR 1 340
5331 B FEALE KE R A& R 1 340
5332 A KA ELE KE KA ERAR 1 340
5333 A EE HEALE KE R AT & R 1 340
5334 Y E FEALE U Bk KA EAR 1 460
5335 BRIEZE kAL R R ALK R 1 340
5336 =5 AL U Bk KA EAR 1 400
5337 REFE AL VA Bk R ALK R 2 680
5338 A A AR =0 RATE AR 1 340
5339 & B AT AL B R ALK AR 2 800
5340 KEKL RALE U Bk KA AR 1 400
5341 ER it LA VI Bk R AT & R 1 340
5342 FEA AL U Bk KA EAR 2 680
5343 T HAE FROLE UK KA AR 3 1200
5344 RFiE FRALE U Bk KA EAR 1 400
5345 ZAES LA VI Bk R ALK R 4 1600
5346 B 7 LR U Bk AR AR 3 1200
5347 ik AL V3 Bk R ALK R 1 400
5348 K E 4T AL U Bk RAT KA 1 400
5349 R X AL B R ALK R 2 920
5350 7K B 2% LA V3 Rk KA ERAR 2 920
5351 A ol LA VI Bk R AT & R 2 920
5352 e AL U Bk KA ERAR 1 400
5353 AL AL VI Bk R ALK R 5 2000
5354 ERIES RALE U Bk KA EAR 4 1360
5355 TH¥ AL VI Bk R ALK R 4 1360
5356 ZFIE K AL U Bk KA EAR 2 680
5357 KAA AL VI Bk R ALK R 1 460
5358 &= R AL U Bk RAT KA 1 400
5359 BRF LA VI Bk R ALK AR 1 340
5360 ZHAE LA V3 Rk KA ERAR 1 340
5361 B EE LA VI Bk R AT & R 3 1020
5362 KAF AL U Bk KA EAR 2 680
5363 KAE AL VI Bk R ALK R 2 800
5364 7K K X AR =0 KA ERAR 2 680
5365 w7 LA VI Bk R ALK R 1 460
5366 KR AL U Bk KA ERAR 1 400
5367 KET AL V3 Bk R ALK R 1 400
5368 KEE AL U Bk RAT KA 1 400
5369 KE LA VI Bk R ALK R 1 460
5370 E% LA V3 Rk KA ERAR 3 1020
5371 X & 15 LA VI Bk R A& AR 1 340
5372 EERL AL U Bk KA ERAR 1 400
5373 e AL VA Bk R ALK R 3 1020
5374 kA= RALE U Bk KA EAR 1 340
5375 BRRE LA VI Bk R ALK R 2 800
5376 l=Eas B e KA EAR 1 400
5377 X S RAE By R ALK R 3 1020
5378 KB BAGE ey RAT KA 2 680
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5379 RL4R RAE R ALK R 1 400
5380 AR B e RATE LR 1 460
5381 R A BAE By R ALK AR 1 400
5382 R fa B e KA ERAR 1 460
5383 RN B ey R A& R 3 1200
5384 Fx=E B e KA ERAR 1 340
5385 IE= RAGE R AT & R 1 340
5386 T ¥ B e KA EAR 1 340
5387 ¥z E BAGE R ALK R 5 1700
5388 X4 e B e KA EAR 1 340
5389 KA A RAE By R ALK R 2 800
5390 BREZ B e RATE AR 1 340
5391 AR BAE R ALK AR 1 340
5392 X B e KA AR 2 680
5393 kR B ey R AT & R 1 340
5394 E i B e KA EAR 1 340
5395 P RAGE KA AR 4 1360
5396 e B e KA EAR 2 680
5397 A= B R ALK R 1 340
5398 T %M B e KA EAR 3 1020
5399 ok RAE R ALK R 2 680
5400 BEx B e RAT KA 1 340
5401 B RAE R ALK R 2 680
5402 I ¥ HfE % KA ERAR 2 800
5403 W ER HAEE E% R AT & R 1 340
5404 A% E AEE h% KA ERAR 2 920
5405 E R A % R ALK R 1 340
5406 Y = HAEE h% KA EAR 2 800
5407 KA A E%E R ALK R 1 340
5408 K HAEE b KA EAR 2 680
5409 AL I A% HfE % R ALK R 6 2400
5410 i &8 HAEHE E% RAT KA 1 400
5411 KA A B KA AR 1 340
5412 BT A AEHE b% KA ERAR 4 1840
5413 AEIF 3 HAEE E% R AT & R 1 340
5414 7K & ik A % KA EAR 2 920
5415 K A % KA AR 4 1600
5416 e HAEHE E% KA ERAR 1 340
5417 e A E%L R ALK R 3 1380
5418 7K Bl HAEE b KA ERAR 1 340
5419 JAEE HfE % R ALK R 1 340
5420 X 2 % HAEHE E% RAT KA 1 340
5421 wEE A B R ALK R 1 400
5422 T Ao ft HfE % KA ERAR 1 340
5423 RED HAEE E% R A& AR 2 680
5424 k= HAEHE E% KA ERAR 1 340
5425 T2 E A % R ALK R 2 920
5426 4R ZE AEHE E% KA EAR 3 1020
5427 KIF R A E%E R ALK R 1 340
5428 EXE HAEE b KA EAR 3 1380
5429 7k XM HfE % KA AR 1 340
5430 AR AEE h% RAT KA 1 340
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5431 EEX2 HfE % R ALK R 1 340
5432 [ HAEHE E% RATE LR 1 340
5433 K¥X A B KA AR 1 340
5434 EX R HfE % KA ERAR 1 340
5435 ki HfE % R A& R 1 340
5436 KL E AEE h% KA ERAR 1 340
5437 XAE A E% R AT & R 1 340
5438 Eivial HAEHE E% KA EAR 2 920
5439 R AT A h% R ALK R 3 1020
5440 KRR HAEE b KA EAR 4 1360
5441 EXE Eil W R ALK R 1 400
5442 JE 48 8% HAEHE E% RATE AR 3 1020
5443 KB AR A B R ALK AR 2 680
5444 B 1A 5% HfE % KA AR 3 1020
5445 BOLE HfE B% R AT & R 1 340
5446 T EX HAEE h% KA EAR 7 2380
5447 s T RE KET R AT & R 1 340
5448 I A B T RE AET KA EAR 2 680
5449 F R T RE KET R ALK R 1 340
5450 R T RE AET KA EAR 2 680
5451 FEE T RE KET R ALK R 1 340
5452 Z2 5% T RE KET RAT KA 1 400
5453 AT T RE KET KA AR 2 680
5454 R T RE KET KA ERAR 3 1020
5455 RIEZH T RE KET R AT & R 1 340
5456 FE% T RE AET KA ERAR 1 340
5457 W IEE T RE KET R ALK R 1 340
5458 X IF % T RE AET KA EAR 1 340
5459 254 T REE AET KA AR 3 1020
5460 E ki T RE AET KA EAR 2 680
5461 H & A T RE KET R ALK R 1 340
5462 FEE FRE KET RAT KA 1 340
5463 A AX T RE KET R ALK AR 1 340
5464 RS T RE AET KA ERAR 1 340
5465 x| IF % T REE AET R AT & R 1 340
5466 it T RE AET KA EAR 1 340
5467 FHER T RE KET R ALK R 1 340
5468 R E T RE AET KA ERAR 1 340
5469 KIER T RE KET R ALK R 1 460
5470 X B T RE AET KA ERAR 1 340
5471 T I T RE KET R ALK R 1 340
5472 AN FRE KET RAT KA 1 340
5473 [ T RE KET R ALK R 1 400
5474 M IEE T RE KET KA ERAR 1 340
5475 M 5 AR T RE KET R A& AR 1 340
5476 R T RE AET KA ERAR 1 340
5477 R E T RE KET R ALK R 1 340
5478 = T RE AET KA EAR 1 340
5479 e e T REE AET KA AR 1 340
5480 i fE T RE AET KA EAR 1 340
5481 e T RE R R ALK R 1 400
5482 K AE T RE EK RAT KA 1 340
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5483 7k Uk T RE R R ALK R 2 680
5484 oK T RE EK RATE LR 2 680
5485 B T RE R R ALK AR 1 340
5486 W T RE B KA ERAR 1 340
5487 el T RE R R A& R 1 340
5488 HIEE T RE R KA ERAR 1 340
5489 ke T RE R KA EAR 1 340
5490 ki T RE E KA EAR 1 340
5491 [ T RE R R ALK R 1 340
5492 KRBT T RE A KA EAR 1 340
5493 k3 AR T RE R R ALK R 1 340
5494 RIE % T RE EK RATE AR 1 340
5495 A E T RE R R ALK AR 4 1360
5496 5% 1w B T RE B KA AR 2 800
5497 KA FRE R R AT & R 1 340
5498 X A & T RE R KA EAR 1 340
5499 EAA# T RE R KA AR 1 340
5500 £ T T RE B KA EAR 2 680
5501 RIEZH T RE R R ALK R 1 340
5502 ik T RE E KA EAR 2 680
5503 ERE T RE R R ALK R 1 340
5504 ENcE T RE EK RAT KA 2 680
5505 FTHE T RE R R ALK R 1 340
5506 Y E At T RE B KA ERAR 1 340
5507 EDE T RE R R AT & R 1 340
5508 Rl T RE R KA ERAR 3 1020
5509 S E A T RE R R ALK R 1 340
5510 ) T RE B KA EAR 1 340
5511 3 E FRE KA AR 1 340
5512 ik T RE B KA EAR 1 340
5513 7K St FRE KA AR 1 340
5514 T A AL FRE R RAT KA 1 340
5515 g = FRE KA AR 1 340
5516 $HE T RE B KA ERAR 2 680
5517 i IF TN FRE R R AT & R 2 680
5518 M H T RE B KA EAR 1 340
5519 FEF T RE R R ALK R 1 340
5520 Z= il T RE B KA ERAR 2 680
5521 JRIE 3 T RE R R ALK R 1 340
5522 17 3 T RE E KA ERAR 1 340
5523 ZE P T RE R R ALK R 1 340
5524 e e T RE EK RAT KA 1 460
5525 YWEE T RE R R ALK R 1 340
5526 e T RE EE KA ERAR 1 340
5527 i) T RE R R A& AR 3 1020
5528 1 F A T RE R KA ERAR 1 340
5529 R T RE R R ALK R 1 340
5530 FXE T RE B KA EAR 1 340
5531 E i FRE KA AR 1 340
5532 E kil T RE B KA EAR 2 680
5533 KA FRE KA AR 2 680
5534 ki T RE EK RAT KA 1 340
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5535 EHX T RE R R ALK R 1 340
5536 AL T RE EK RATE LR 1 340
5537 X B = T RE R R ALK AR 1 340
5538 KEF R T RE B KA ERAR 1 340
5539 Z /N T RE R R A& R 1 340
5540 EEES T RE R KA ERAR 1 340
5541 £ T RE R R AT & R 1 340
5542 N T RE E KA EAR 1 460
5543 i B EE R R ALK R 3 1200
5544 % % % BTER R KA EAR 1 400
5545 TR B EE R R ALK R 6 2400
5546 R ] RATE AR 3 1200
5547 =L RTEHE KT KA AR 2 800
5548 x5 ] KA AR 2 920
5549 7K A RTEHE B R AT & R 1 400
5550 BEAEE REEHE RE KA EAR 2 920
5551 el ] KA AR 2 800
5552 hn % BTER R KA EAR 1 400
5553 i B EE R R ALK R 1 400
5554 B XA BTER R KA EAR 1 400
5555 [ A BFEE R R ALK R 3 1200
5556 KAE BT EE R RAT KA 1 400
5557 X4 F B EE R R ALK R 4 1600
5558 HAE REEHE KA KA ERAR 2 920
5559 EEE22 RTEHE B R AT & R 3 1200
5560 KPx REEE RE KA ERAR 4 1600
5561 et B EE R R ALK R 1 460
5562 R BTER R KA EAR 4 1840
5563 FHX ] KA AR 1 400
5564 B X3P REEE RE KA EAR 1 340
5565 EXE B EE R R ALK R 1 400
5566 MRS BTER R RAT KA 1 400
5567 EE RTEHE +A KA AR 1 460
5568 KEFH BTEH A KA ERAR 1 460
5569 AL BFEE LA R AT & R 2 920
5570 B HHE BTEH A KA EAR 1 460
5571 R BT EE EA R ALK R 2 920
5572 7K 45 B RTEE A KA ERAR 2 920
5573 JLE & BT EE EA R ALK R 1 460
5574 AR X BTEH A KA ERAR 2 920
5575 B EA BTEHE A KA AR 1 400
5576 7K A X BTEH A RAT KA 1 460
5577 R BTEE LA R ALK R 1 340
5578 bl E BTEH A KA ERAR 2 920
5579 KB RTEHE FA KA AR 1 460
5580 7 42 BTEH A KA ERAR 4 1840
5581 X BTEEE A KA AR 1 400
5582 KA R BTEH A KA EAR 1 460
5583 pE ¥ RTEHE FA KA AR 1 460
5584 K E REEHE +A KA EAR 2 800
5585 Z= X B RTEHE +A KA AR 1 400
5586 iU A RTEEHE +A RAT KA 1 400
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5587 TIExE BEE LA R ALK R 1 460
5588 ] RTEEHE +A RATE LR 1 460
5589 FEAR = BT EE LA R ALK AR 1 400
5590 % # BTEH A KA ERAR 3 1020
5591 b A BT EE LA R A& R 2 920
5592 BZE BTEH A KA ERAR 3 1200
5593 KAE RTEHE +A KA EAR 1 340
5594 X 7 % BTEH A KA EAR 1 340
5595 TIEX BT EE LA R ALK R 1 400
5596 i 4 1 BTEH A KA EAR 2 920
5597 #2X BT EHE A KA AR 1 460
5598 EKHE BTEHE AR RATE AR 1 400
5599 & & BEEE A R ALK AR 1 400
5600 X IF B BTEH AT KA AR 1 400
5601 Y Xiw BEEE AT R AT & R 1 340
5602 ZHZ BT EHE AR KA EAR 1 400
5603 EDS EEE A R AT & R 1 400
5604 EHER BTEH AT KA EAR 1 400
5605 pAED:3 BTEEE At KA AR 2 800
5606 X IE & BT EHE AR KA EAR 1 400
5607 A TEEE A R ALK R 2 800
5608 I Ak A% BTEE AR RAT KA 1 400
5609 Z [ BEEE A R ALK R 2 920
5610 Z RTEE KHFH KA ERAR 2 800
5611 B BTEE A R AT & R 2 920
5612 TR BT EHE AR KA ERAR 1 400
5613 EiE EEE A R ALK R 1 460
5614 2 K% BTEH AT KA EAR 3 1380
5615 X B E BTEEE A R ALK R 2 920
5616 ¥ EH 5 BT EHE AR KA EAR 1 400
5617 s TEE A R ALK R 1 460
5618 BEAZ BTEE AR RAT KA 1 400
5619 ki BEEE A KA AR 1 400
5620 a4 BTEH AT KA ERAR 2 800
5621 R BOEEE A R AT & R 1 400
5622 FER BT EH AR KA EAR 1 400
5623 KT TEE A R ALK R 1 460
5624 2 BTEH AT KA ERAR 1 400
5625 e BTEE A KA AR 1 400
5626 PAEER BT EH AR KA ERAR 1 400
5627 X & X TEEE A R ALK R 2 800
5628 & BTEE KM RAT KA 1 400
5629 252 BTEEE A R ALK R 1 400
5630 MR E 4R BTEH AT KA ERAR 1 400
5631 Fhx BOEEE A R A& AR 1 400
5632 A3 BT EHE AR KA ERAR 1 400
5633 Kb F EEE A R ALK R 1 400
5634 R AE BTEH AT KA EAR 2 680
5635 EEES O REE A R ALK R 1 400
5636 X EF LREE FA KA EAR 3 1020
5637 e A B REE AL R ALK R 1 400
5638 E5 9 LREE FA RAT KA 3 1200
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5639 i B REE Fia R ALK R 1 400
5640 i LREE FA RATE LR 3 1200
5641 XA B REE Fat R ALK AR 1 340
5642 X T & LREE FA KA ERAR 2 680
5643 Z I B B AREE At R A& R 2 680
5644 XER L REE FA KA ERAR 3 1020
5645 Al L REE A R AT & R 2 680
5646 3= LRES FA KA EAR 2 680
5647 A H % B REE At R ALK R 1 340
5648 M= x LREE FA KA EAR 1 340
5649 PRE 4 L REE A R ALK R 2 680
5650 4K LREE FA RATE AR 1 400
5651 MBE B REE At R ALK AR 4 1600
5652 SCAEAT b REE FA KA AR 3 1020
5653 X B AREE At R AT & R 2 800
5654 FIF4 L REE FA KA EAR 3 1020
5655 Tk B REE AL R AT & R 1 400
5656 KEZ O REE FA KA EAR 1 340
5657 it L REE A R ALK R 3 1200
5658 Z i1 bR EE A KA EAR 1 400
5659 B E ks B R ALK R 1 400
5660 ® B AR WS B RAT KA 1 340
5661 {7 A ks B R ALK R 1 460
5662 ® Bk N4 B KA ERAR 1 460
5663 At 7k BR ks B R AT & R 2 920
5664 KK I WS B KA ERAR 1 400
5665 R E ks B R ALK R 2 680
5666 = o1& w4 B KA EAR 3 1020
5667 JE % WS B KA AR 1 400
5668 s WS B KA EAR 2 680
5669 L Faas ks B R ALK R 1 340
5670 ZAK WS B RAT KA 4 1840
5671 i3 ks B R ALK AR 1 340
5672 FHAAH N4 B KA ERAR 1 460
5673 b ks B R AT & R 2 800
5674 K FR WS B KA EAR 1 340
5675 ZA ks B R ALK R 1 340
5676 AR w4 B KA ERAR 1 340
5677 N ks B R ALK R 1 340
5678 DR WS B KA ERAR 2 800
5679 A A WS B KA AR 1 400
5680 A WS B RAT KA 1 400
5681 b HE ks B R ALK R 1 340
5682 Z R4 N4 B KA ERAR 2 680
5683 JE % X ks B R A& AR 2 680
5684 HEx WS B KA ERAR 1 400
5685 X6 H WH s B R ALK R 1 400
5686 R w4 B KA EAR 1 400
5687 i ks B R ALK R 1 460
5688 B WS B KA EAR 1 400
5689 FHRAE ks B R ALK R 2 800
5690 WEF WS B RAT KA 1 400
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5691 X/ TR ks B R ALK R 1 340
5692 XK= WS B RATE LR 1 400
5693 R ks B R ALK AR 1 340
5694 BRIE 4L N4 B KA ERAR 1 400
5695 T ok ks B R A& R 1 400
5696 7K 35 5k WS B KA ERAR 2 800
5697 =R WS B KA EAR 2 680
5698 bivks AR N4 B KA EAR 3 1020
5699 ERE ks B R ALK R 2 680
5700 = WS B KA EAR 1 400
5701 T A Wy ZWHE R ALK R 1 400
5702 K JEE NG EAEE RATE AR 3 1380
5703 WETF Wy ZEWH R ALK AR 1 400
5704 EMmF ko EGH KA AR 3 1020
5705 B4 s EAEE R AT & R 1 400
5706 eI NG EAEE KA EAR 4 1360
5707 KEA s FuE KA AR 1 400
5708 kEE NG EAEE KA EAR 1 400
5709 BAE S FuE KA AR 2 800
5710 H I & ks EEE KA EAR 1 400
5711 Z {Z B Wy ZWH R ALK R 1 340
5712 E N4 EAEE RAT KA 2 680
5713 Epiti] Wy ZWH R ALK R 3 1020
5714 2 IR Bk ko EAGH KA ERAR 1 340
5715 Zix o ESH R AT & R 1 400
5716 B KA NG EAEE KA ERAR 1 400
5717 [ ks Euk R ALK R 1 400
5718 BEE NG EAEE KA EAR 3 1020
5719 Bk S FEE KA AR 1 400
5720 TEw ks EEE KA EAR 2 680
5721 HIEE Wy EWH R ALK R 3 1020
5722 £ F N4 EAEE RAT KA 3 1200
5723 FAA Wy ZWH R ALK AR 1 340
5724 ITEx N4 EAEE KA ERAR 1 340
5725 A E o ESH R AT & R 1 400
5726 % g i AR Ciilvin KA EAR 1 400
5727 e AR Ciilvin KA AR 1 340
5728 7K 35 3 NS AT KA ERAR 1 460
5729 7K IE AR Ciilvin KA AR 1 400
5730 KEFE AR Ciilin KA ERAR 1 340
5731 s i AR Cidin R ALK R 1 400
5732 E2 b i AR Ciilin RAT KA 1 400
5733 TRE i AR Cidin R ALK R 1 400
5734 =% % A i KA ERAR 1 400
5735 A 4 NS AT R A& AR 1 340
5736 0% i AR Ciilin KA ERAR 1 400
5737 7K KRR i AR Cidin KA AR 2 800
5738 KA NS AT KA EAR 3 1380
5739 M4k & i AR Cidin R ALK R 1 340
5740 KEE AR Ciilin KA EAR 1 460
5741 b a i AR Cidin R ALK R 1 340
5742 Y HRY i AR Ciilin RAT KA 1 400
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5743 KZH i AR Cidin KA AR 1 400
5744 7K g i AR Ciilin RATE LR 1 400
5745 [T B i AR Cidin R ALK AR 1 400
5746 K IZ P NS BT KA ERAR 1 400
5747 7K KR i A il R A& R 1 400
5748 b i AR Ciilin KA ERAR 1 340
5749 KRAE AR Ciilvin KA EAR 1 340
5750 K E NS AT KA EAR 1 400
5751 KA R AR Ciilvin KA AR 1 340
5752 Tk B # AR Ciilin KA EAR 1 400
5753 7K 37 K, i AR Cidin KA AR 1 400
5754 K % % i AR Ciilin RATE AR 3 1020
5755 ?&:@% i AR Cidin R ALK AR 2 920
5756 TIF A % A i KA AR 1 340
5757 E%F%’ MRS AT R AT & R 1 400
5758 KEx i AR Ciilin KA EAR 5 2000
5759 R i AR Cidin R AT & R 3 1020
5760 TEF Zh Y b KA EAR 1 340
5761 i ZHh Y b R ALK R 1 400
5762 R BE ZHh Y b KA EAR 1 340
5763 KP ko FE KA AR 1 460
5764 7K AR R zh4 HE RAT KA 1 460
5765 EFH =hy HE KA AR 1 400
5766 7K R =h4 HE KA ERAR 1 460
5767 PRk Z ko FE R AT & R 2 680
5768 ZFIrz ko HE KA ERAR 1 340
5769 REA kY HE R ALK R 2 800
5770 F X zh4 HE KA EAR 2 680
5771 ?K%"fx ks HE KA AR 3 1020
5772 7K E B zhy HE KA EAR 1 400
5773 HEF ko FE R ALK R 1 340
5774 AR zh4 HE RAT KA 2 680
5775 7 EE =hy HE KA AR 1 340
5776 & XL =h4 HE KA ERAR 1 400
5777 FIFVE zh4 FE R AT & R 1 340
5778 oK zh4 HE KA EAR 1 400
5779 ik X =y HE R ALK R 1 340
5780 KIER LEEy LEE KA ERAR 2 800
5781 THA%E DREES DEE R ALK R 1 400
5782 =HZ LEEy LEE KA ERAR 1 460
5783 EEXK Dy DRk R ALK R 2 680
5784 k[ 4 LEEy LEE RAT KA 1 400
5785 X DREES DEE R ALK R 1 460
5786 I T LEEy LEE KA ERAR 1 460
5787 A Dy DRk R A& AR 1 400
5788 i B s LEEy LEE KA ERAR 2 680
5789 WEAA Dy DRk R ALK R 2 680
5790 B E LEEy LEE KA EAR 2 920
5791 258 DREES DEE R ALK R 2 680
5792 HEME DEEY DEE KA EAR 2 800
5793 J) o Dy DRk R ALK R 1 400
5794 FHR LEEy LEE RAT KA 1 400
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5795 >4 Dy DRk R ALK R 1 400
5796 BEE LEEy LEE RATE LR 1 340
5797 HHFE DREES DEE R ALK AR 2 800
5798 B e g LEEy LEE KA ERAR 2 680
5799 HX % Dy DRk KA AR 1 340
5800 P E e LEEy LEE KA ERAR 1 340
5801 kEKE Dy DRk KA EAR 2 680
5802 B EK LEEy LEE KA EAR 1 340
5803 Fhdm ok DREES DEE R ALK R 2 800
5804 S E LEEy LEE KA EAR 2 800
5805 IER Dy DRk R ALK R 1 460
5806 RIEH LEEy LEE RATE AR 1 340
5807 KES DREES DEE R ALK AR 2 800
5808 HEE LEEy LEE KA AR 1 340
5809 KL E Dy DRk KA AR 1 340
5810 & XE LEEy LEE KA EAR 3 1020
5811 ESS Dy DRk KA AR 1 340
5812 A LEEy LEE KA EAR 1 400
5813 KR DREES DEE R ALK R 2 680
5814 WEE LEEy LEE KA EAR 2 800
5815 HEE Dy DRk R ALK R 1 340
5816 BREA LEEy LEE RAT KA 2 800
5817 254 DREES DEE R ALK R 1 400
5818 8% LEEy LEE KA ERAR 1 400
5819 SR BT Dy DRk KA AR 2 800
5820 Tk LEEy LEE KA ERAR 2 680
5821 e DEEy D KA AR 2 800
5822 KVEH LEEy LEE KA EAR 1 400
5823 TAE DREES DEE R ALK R 1 400
5824 AR LEEy LEE KA EAR 1 400
5825 7 i i Dy DRk R ALK R 4 1360
5826 L Vikia LEEy LEE RAT KA 4 1360
5827 e DREES DEE R ALK AR 1 400
5828 HAE Dy Rk KA ERAR 4 1360
5829 B It Dy DRk KA AR 3 1020
5830 T E LEEy LEE KA EAR 2 680
5831 = DRy DRk R ALK R 1 400
5832 I H LEEy LEE KA ERAR 2 680
5833 FEE DREES DEE R ALK R 1 340
5834 [ LEEy LEE KA ERAR 1 400
5835 B Dy DRk R ALK R 1 400
5836 IEE LEEy LEE RAT KA 2 800
5837 i NZE2 FH# KA AR 1 400
5838 7K ot Ry MNE sy £# KA ERAR 2 800
5839 H/NZ NMEs F# R A& AR 1 400
5840 *EHE NES F# KA ERAR 1 400
5841 KE R ME 2 FH# R ALK R 1 400
5842 KX nNE s £# KA EAR 1 340
5843 K EE NE2 FH# R ALK R 2 800
5844 KKK MEY F# KA EAR 1 400
5845 KoK fE NMEs F# R ALK R 1 400
5846 7K it NEY +# RAT KA 3 1200
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5847 & RE MEs F# KA AR 1 340
5848 BEE NMEs M RATE LR 2 680
5849 B NME2 FH# R ALK AR 1 400
5850 Ex% MNE sy £# KA ERAR 1 340
5851 FARS MEs FH# R A& R 1 400
5852 = AR NEY F# KA ERAR 1 340
5853 KK nME2 F# R AT & R 1 400
5854 X nNE s £# KA EAR 2 680
5855 =R NZE2 FH# KA AR 1 340
5856 K AR MEY F# KA EAR 1 400
5857 & fn NMEs F# R ALK R 4 1360
5858 FAHA NES +H# RATE AR 1 400
5859 7k 3t 1| NE2 FH# R ALK AR 1 400
5860 bR nNE s £# KA AR 1 340
5861 kK% nME2 F# R AT & R 1 400
5862 5% NEY F# KA EAR 1 400
5863 2S=E3 NME2 F# R AT & R 1 400
5864 B IE A nNE s £# KA EAR 2 800
5865 KAZ MES FH KA AR 1 400
5866 = EE MEY F# KA EAR 2 800
5867 7K NMEs F# R ALK R 2 680
5868 I E#H NEY +# RAT KA 2 800
5869 FHHE NE2 FH# KA AR 1 400
5870 EFEA H MNE s £# KA ERAR 3 1020
5871 FTEAH nME2 F# R AT & R 1 400
5872 X 4w I NEY F# KA ERAR 1 400
5873 XX 4R ME2 F# R ALK R 2 800
5874 X fE nNE s £# KA EAR 1 400
5875 FER NE2 FH# R ALK R 1 400
5876 i MEY F# KA EAR 1 400
5877 A A NMEs F# R ALK R 2 680
5878 B hn % NEY +# RAT KA 3 1200
5879 i NE2 FH# R ALK AR 3 1200
5880 K XE MNE sy £# KA ERAR 1 400
5881 HwEE nME2 F# R AT & R 3 1200
5882 BE K X NES F# KA EAR 1 400
5883 KB ME2 F# R ALK R 1 400
5884 EHL nNE sy £# KA ERAR 1 400
5885 2= I 4 NE2 FH# R ALK R 2 680
5886 EDiiil MEY F# KA ERAR 2 800
5887 e NMEs F# R ALK R 2 680
5888 DA NEY +H# RAT KA 1 340
5889 B I NZE2 FH# R ALK R 1 400
5890 R MNE sy £# KA ERAR 1 400
5891 EKIF R NMEs F# R A& AR 1 400
5892 [l NES F# KA ERAR 1 400
5893 YEH ME 2 FH# R ALK R 4 1360
5894 EFA nNE s £# KA EAR 1 400
5895 EREE NE2 FH# KA AR 2 800
5896 T & MEY F# KA EAR 2 800
5897 X % 45 NMEs F# R ALK R 3 1200
5898 FEH NEY +# RAT KA 1 400
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5899 EKIF B MEs F# R ALK R 2 800
5900 B K NEY +# RATE LR 1 400
5901 kAR NME2 FH# R ALK AR 1 340
5902 RIEA ME Y F KA ERAR 4 1360
5903 g N R A& R 3 1200
5904 = AR N & KA ERAR 1 400
5905 xR N R AT & R 2 680
5906 WEF ME Y F KA EAR 1 400
5907 X\ AT B N R ALK R 1 340
5908 MR E N & KA EAR 4 1600
5909 Pk N KA AR 3 1200
5910 =BT WEZ S 5 RATE AR 3 1380
5911 % i N R ALK AR 1 400
5912 REE ME Y F KA AR 1 460
5913 R MZE 2 F R AT & R 3 1380
5914 R E N & KA EAR 2 800
5915 FAR R N R AT & R 4 1840
5916 EDS ME Y F KA EAR 2 680
5917 E N KA AR 2 680
5918 X = % N & KA EAR 1 400
5919 KRIEH N KA AR 1 340
5920 XE® WEZ S 5 RAT KA 2 920
5921 XX E N R ALK R 2 800
5922 X FEE ME Y F KA ERAR 2 680
5923 A X MZE 2 F R AT & R 2 920
5924 8 IFAE WE S F KA ERAR 3 1020
5925 Y BB N R ALK R 2 800
5926 i ME Y F KA EAR 1 340
5927 Y% N R ALK R 1 340
5928 I dofr N & KA EAR 1 340
5929 i N KA AR 2 680
5930 A2 Al WEZ S 5 RAT KA 1 340
5931 J& fm N R ALK AR 2 800
5932 A # WE Y F KA ERAR 1 400
5933 R FHE MZE 2 F R AT & R 1 340
5934 i WE S F KA EAR 1 400
5935 BRI R N KA AR 1 340
5936 HEEHE ME Y F KA ERAR 1 340
5937 e i:Ean N R ALK R 3 1200
5938 i) R, N & KA ERAR 2 800
5939 REFH N KA AR 1 400
5940 e WEZ S 5 RAT KA 1 400
5941 PRAE I N KA AR 1 340
5942 Rl ME Y F KA ERAR 1 400
5943 g N R A& AR 2 680
5944 Z2EY WE S F KA ERAR 5 1700
5945 FTEZ N R ALK R 1 340
5946 ITHHE ME Y F KA EAR 1 340
5947 KN A N R ALK R 1 340
5948 7 % N & KA EAR 1 400
5949 RIFE N R ALK R 2 680
5950 W WEZ S 5 RAT KA 1 400
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5951 wHE N KA AR 1 340
5952 KE WEZ S 5 RATE LR 1 400
5953 Y15 g N R ALK AR 1 340
5954 XF ME Y F KA ERAR 1 400
5955 Rk N R A& R 1 340
5956 3 % N & KA ERAR 1 400
5957 B ZER N R AT & R 1 340
5958 FHRE ME Y F KA EAR 2 800
5959 E£Y N R ALK R 2 680
5960 7 2% N & KA EAR 2 680
5961 Z A N R ALK R 1 400
5962 R WEZ S 5 RATE AR 1 400
5963 4 N R ALK AR 1 400
5964 FE# ME Y F KA AR 1 340
5965 A A MZE 2 F R AT & R 1 400
5966 Rl N & KA EAR 1 400
5967 BMEE N R AT & R 1 400
5968 s ME Y F KA EAR 1 400
5969 kA N R ALK R 1 340
5970 B N & KA EAR 1 400
5971 MRt N R ALK R 1 400
5972 pai] WEZ S 5 RAT KA 2 680
5973 FER N R ALK R 1 340
5974 EFxE FLy EERZES KA ERAR 1 400
5975 iba%iz Ty EXERZES R AT & R 2 800
5976 2 Ty EERES KA ERAR 2 800
5977 ¥4 R F\e EEHEL R ALK R 3 1200
5978 ik Ty EERZES KA EAR 3 1200
5979 HEH Fs EEHEL KA AR 2 680
5980 A& Ty XERES KA EAR 2 800
5981 FHK F\le EEHEL R ALK R 2 800
5982 I &A% Ty EERES RAT KA 3 1200
5983 B & Ty HERES KA AR 2 800
5984 B FLy EERZES KA ERAR 2 800
5985 TES Ty EERZES R AT & R 2 800
5986 g Ty EERES KA EAR 3 1200
5987 L X A& F\e EERHEL KA AR 2 800
5988 B Ty EERES KA ERAR 1 340
5989 KR Fs EEHEL R ALK R 2 800
5990 £ Ty EERES KA ERAR 1 400
5991 ERE F\e EEHEL R ALK R 1 340
5992 FER Ty EERES RAT KA 1 400
5993 [ Ty HERES KA AR 1 400
5994 2 5% FLy EERZES KA ERAR 2 800
5995 ARY Ty EXERZES R A& AR 2 800
5996 = i1 Ty EENEL KA ERAR 1 460
5997 BIE Ty HERES KA AR 1 400
5998 [ A Ty EERES KA EAR 2 680
5999 FEL Fs EEHEL R ALK R 2 800
6000 e Fhy EERZES KA EAR 1 400
6001 KA E Ty HERES KA AR 1 340
6002 R Ty EERES RAT KA 2 680
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6003 HEE F\le EEHEL KA AR 4 1360
6004 ZExFE Ty EERES RATE LR 2 920
6005 = F\s EEHEL R ALK AR 2 920
6006 B Z Fhy EERZES KA ERAR 2 800
6007 WX E Ty EERZES R A& R 2 800
6008 B E Ty EERES KA ERAR 2 800
6009 X [E A& F\y EEHEL R AT & R 2 800
6010 B 4 X Ty EERES KA EAR 3 1200
6011 B#%x F\s EEHEL R ALK R 1 400
6012 akizkiz Ty EERES KA EAR 2 800
6013 7K IF Ak Fly EEHEL R ALK R 2 800
6014 A= 1t Fhy EERES RATE AR 2 680
6015 A= F\s EEHEL R ALK AR 2 680
6016 HEK FLhy EERZES KA AR 2 680
6017 KEEAE Ty EXERZES R AT & R 2 800
6018 % T 48 Ty EERES KA EAR 1 400
6019 = A A F\e EEHEL R AT & R 2 800
6020 D ER Ty EERES KA EAR 2 800
6021 IHER Ty EEHEL KA AR 1 340
6022 KK Ty EERZES KA EAR 2 800
6023 ToE F\e EEHEL KA AR 2 800
6024 8% %k Ty EERES RAT KA 2 800
6025 REA F\e EEHEL R ALK R 2 680
6026 X E A& FLy EERZES KA ERAR 2 800
6027 R EH Ty EXERZES R AT & R 3 1200
6028 i Ty EERES KA ERAR 2 800
6029 K KRH F\e EEHEL R ALK R 2 800
6030 b2 Ty EERZES KA EAR 1 400
6031 IE Fs EEHEL KA AR 1 400
6032 JE A8 AL Ty EERZES KA EAR 2 680
6033 b F\le EEHEL KA AR 2 680
6034 R LR Ty EERES RAT KA 1 400
6035 #hiEE F\e EEHEL R ALK AR 2 800
6036 A K= FLy EERZES KA ERAR 2 800
6037 B & Ty EERZES R AT & R 2 800
6038 K= Ty EERES KA EAR 2 680
6039 =H= Ty HERES KA AR 2 800
6040 kA Ty EERES KA ERAR 2 800
6041 Z 3 R Fs EEHEL KA AR 2 800
6042 4% Ty EERES KA ERAR 2 680
6043 EX2 F\e EEHEL KA AR 2 800
6044 E R Ty EERES RAT KA 2 800
6045 B %= F\s EEHEL R ALK R 1 400
6046 TR FLy EERZES KA ERAR 4 1360
6047 [ s Fhs FERZES R A& AR 3 1200
6048 i Ty FERZES KA ERAR 1 340
6049 A iE Ty SERES KA AR 2 800
6050 FHY Fhy FERZES KA EAR 1 400
6051 T E Fy REREL R ALK R 2 680
6052 N Ty FERZES KA EAR 2 680
6053 = Fle RERZEL R ALK R 2 680
6054 Z 4R FLy FERZES RAT KA 2 680
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6055 BN Fle FERZEL R ALK R 1 340
6056 i Fly FERZES RATE LR 2 680
6057 KE = Fls RERZEL R ALK AR 2 680
6058 KEN Fhy FERZES KA ERAR 2 800
6059 EEM Fhs FERZES R A& R 2 680
6060 )AL Ty FERZES KA ERAR 1 340
6061 izl Fs RERZEL R AT & R 2 800
6062 8 i Fhy FERZES KA EAR 1 400
6063 REF Fs RERZEL R ALK R 2 800
6064 [ APy Ty FERZES KA EAR 1 340
6065 ENY, 3 Fle RERNZEL R ALK R 3 1380
6066 KA Fhy FERZES RATE AR 2 680
6067 MR # & Fs RERZEL R ALK AR 1 400
6068 LS Fhy FERZES KA AR 2 680
6069 BHE Fhs FERZES R AT & R 2 680
6070 Gillan Ty FERZES KA EAR 2 800
6071 M x4 Fs FERZEL KA AR 2 800
6072 ik Fhy FERZES KA EAR 2 680
6073 LD Ty FERZES KA AR 2 800
6074 Z A Ty FERZES KA EAR 1 400
6075 £ R R Fle RERZEL R ALK R 2 800
6076 e FLy FERZES RAT KA 1 400
6077 EIFE Fs RERZEL R ALK R 2 680
6078 EHE Fhy FERZES KA ERAR 1 400
6079 ZHE Fhs FERZES R AT & R 1 340
6080 ¥ R HhE B FHRZES KA ERAR 1 400
6081 LT 25 HhE BEFRZS KA AR 1 400
6082 B =F BhE BEFHRZES KA EAR 1 400
6083 ILAEE BhE BEFRZS R ALK R 1 400
6084 RANE] EhE BEFHRZES KA EAR 3 1200
6085 BKIE R BEFHRZES KA AR 4 1840
6086 BB HhE BEFRZES RAT KA 5 1700
6087 5 X X BhE BEFRZS R ALK AR 1 400
6088 MK & BhE BEFRZES KA ERAR 3 1200
6089 R Y BhE BEFRES R AT & R 1 400
6090 ZER BhE BEFRZS KA EAR 1 400
6091 =] HhE BEFRZS KA AR 2 920
6092 i E1F BhE BEFHRZES KA ERAR 1 400
6093 BRAY BhE BEFRZS R ALK R 2 680
6094 i 7 B8 HhE B FHZES KA ERAR 1 460
6095 BK & R BEFHRES KA AR 2 680
6096 ZIR= HhE BEFHRZES RAT KA 1 400
6097 B = BhE BEFRZS R ALK R 1 400
6098 i X AR BhE BEFRZES KA ERAR 1 400
6099 B FE R BEFHRZES R A& AR 1 400
6100 BT HhE BEFHRZES KA ERAR 1 340
6101 i & HhE BEFRZES KA AR 1 400
6102 B E BhE BEFHRZES KA EAR 2 920
6103 AT A& BhE BEFRZS R ALK R 4 1600
6104 R K EhE B FHRZES KA EAR 1 400
6105 B L R BEFHRZES KA AR 2 800
6106 R e R BEFRZES RAT KA 1 400
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6107 XTI HhE BEFRZS R ALK R 1 400
6108 RIFH HhE BEFHRZES RATE LR 1 400
6109 BRI~ R B EHRES KA AR 1 400
6110 BRI H BhE BEFRZES KA ERAR 1 400
6111 BRI BhE BEFHRES R A& R 1 400
6112 H /N HhE BEFHRZES KA ERAR 1 340
6113 T R EERES KA EAR 1 460
6114 ZH EhE EERETS KA EAR 1 400
6115 FIEE HhE eENEL R ALK R 2 800
6116 T%AE EhE EERES KA EAR 3 1200
6117 =% EhE EENEL KA AR 3 1020
6118 & E EhE EERES RATE AR 1 340
6119 EX HhE EENEL KA AR 2 800
6120 #FE/\ EhE EERETS KA AR 2 800
6121 # AL R EERES R AT & R 1 400
6122 7K F & EhE EERETS KA EAR 1 400
6123 ED T HhE eENEL KA AR 3 1380
6124 T%5F EhE EERETS KA EAR 1 400
6125 b B HhE eENEL R ALK R 4 1600
6126 EtIFE EhE EERES KA EAR 1 340
6127 FEEE SEEE A R ALK R 1 400
6128 At I SEEE 4 RAT KA 1 400
6129 NEE SEAE A KA AR 1 340
6130 RGP SEHE G KA ERAR 2 800
6131 A SEHE G R AT & R 2 800
6132 EEE SEHE B KA ERAR 1 340
6133 & SEHE G R ALK R 1 340
6134 M E SEHE B KA EAR 1 340
6135 E SEHE G R ALK R 1 400
6136 Z 1 EEEE 4 KA EAR 1 340
6137 KA SEEE A R ALK R 2 680
6138 it SEHE B RAT KA 2 680
6139 ki SEHE A0 R ALK AR 1 340
6140 & CF SEHE G KA ERAR 4 1600
6141 B SEEE A R AT & R 2 800
6142 WA SEEE A KA EAR 1 400
6143 KE = SEEE A R ALK R 1 400
6144 K T SEEE 4 KA ERAR 1 400
6145 FER SEHE G R ALK R 2 800
6146 pilich Rl AhEL HE KA ERAR 1 340
6147 A EAb Rl AEL HE R ALK R 1 340
6148 B3 X Rl AEL HE RAT KA 1 340
6149 G Rl AEL HE R ALK R 5 1700
6150 x4 Rl Az 8% KA ERAR 3 1200
6151 A=X RlLgiEhEL 8% R A& AR 2 920
6152 &= H X RlLEEAEL BE KA ERAR 1 340
6153 F ok RlLgiEhEL 8% KA AR 1 340
6154 1t RlLEEAEL EBF KA EAR 1 340
6155 K T RlLiEhEL 8% KA AR 2 680
6156 &= RlLETEAEL EE KA EAR 1 340
6157 R RlLETEAELN EF KA AR 2 680
6158 1 AR RlLEEAELN BE RAT KA 3 1200
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6159 Eli RlLETEAELN EF R ALK R 1 400
6160 Wik RlLEEAEN BE RATE LR 1 400
6161 HAE Rl AELN EF KA AR 1 340
6162 Gk BRlLEEAEL EBF KA ERAR 3 1020
6163 &= RlLgiEhEL 8% KA EAR 4 1360
6164 e RlLEEAEL EE KA ERAR 1 400
6165 IE RlLETEAELN EF KA EAR 3 1200
6166 APE RlLEEAEL EBF KA EAR 3 1020
6167 A[ 38 AF RlLTEAELN EF KA AR 1 340
6168 WA RlLETEAEL BE KA EAR 1 340
6169 FHEA RlLETEAEL EF R ALK R 4 1360
6170 2 Y A5 RlLEEAEL BE RATE AR 3 1020
6171 x| 2 3% RlLgiEhEL 8% KA AR 1 340
6172 FR= Rl Azl 8% KA AR 1 340
6173 I F RlLETEAEL EF R AT & R 1 340
6174 FRAK RlLEEAEL EE KA EAR 1 400
6175 YHE RlLTEAELN EF KA AR 3 1020
6176 THH RlLEEAEL EBF KA EAR 1 400
6177 g5 FAedE LA R ALK R 2 680
6178 £ A Faedg LA KA EAR 5 2300
6179  E 7% BAdE LA R ALK R 1 340
6180 & BAE L RAT KA 2 680
6181 WIEF FAdE LA R ALK R 1 400
6182 =% B4 LA KA ERAR 2 680
6183 el FAdE LA R AT & R 3 1200
6184 Eakih BAE L KA ERAR 2 680
6185 2 i FAdE LA R ALK R 3 1020
6186 iRES B4 L KA EAR 1 340
6187 i FAdE LA R ALK R 2 680
6188 LS RAHE P KA EAR 2 680
6189 BRI BAdE LA R ALK R 1 340
6190 == K BAE L RAT KA 3 1200
6191 shk FAdE LA R ALK AR 3 1020
6192 Tt B4 LA KA ERAR 3 1020
6193 PRt 5 FAdE LA R AT & R 3 1020
6194 BE% BAE L KA EAR 2 680
6195 e FAdE LA R ALK R 1 340
6196 &3 B4 LA KA ERAR 2 680
6197 KEX FEad A R ALK R 3 1020
6198 IR 4 Faed LA KA ERAR 3 1020
6199 b BAdE LA R ALK R 6 2040
6200 TEE BAE L RAT KA 1 340
6201 &= R & FEadg A R ALK R 6 2040
6202 2R FEadE LA KA ERAR 6 2040
6203 FER BAdE LA R A& AR 3 1020
6204 BoLH REE R KA ERAR 4 1360
6205 AEE RHE FR R ALK R 2 800
6206 kXA EHEE R KA EAR 3 1020
6207 1A RHE FR R ALK R 3 1020
6208 oA BREE R KA EAR 1 460
6209 BRAR R RHE FR R ALK R 1 340
6210 Elitia 2HEE R RAT KA 3 1020
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6211 1A RHE FR R ALK R 2 800
6212 I EHEE PR RATE LR 4 1600
6213 EIEA RHE FR R ALK AR 3 1020
6214 1Bk REE R KA ERAR 1 400
6215 IHE RHE FR R A& R 2 800
6216 EY. & EHEE R KA ERAR 6 2040
6217 EE N RHE FR R AT & R 4 1600
6218 kT EEE R KA EAR 1 340
6219 BAZ RHE FR R ALK R 2 680
6220 8% REE R KA EAR 3 1200
6221 EAEE RHE FR R ALK R 1 400
6222 3 BHEE R RATE AR 1 460
6223 F=I% RHE FR R ALK AR 1 460
6224 1% EHEE R KA AR 4 1360
6225 EHRE RHE FR R AT & R 4 1360
6226 A RHEE R KA EAR 3 1020
6227 KER RHE FR R AT & R 2 680
6228 HIEE EHEE R KA EAR 2 680
6229 B A RHE FR R ALK R 3 1020
6230 b= FhE HR KA EAR 2 800
6231 H A RHE FR R ALK R 3 1020
6232 = EEE R RAT KA 1 340
6233 HER RHE FER R ALK R 2 680
6234 IIEF REE R KA ERAR 2 680
6235 EHE RHE FR R AT & R 1 340
6236 & 4R EHEE R KA ERAR 1 340
6237 I R AK, RHE FR R ALK R 5 1700
6238 AT EHEE R KA EAR 3 1020
6239 1% 48 RHE FR R ALK R 1 340
6240 £ BHE HR KA EAR 1 400
6241 R4 RAE ik R ALK R 4 1360
6242 EZ FAE Mg RAT KA 1 340
6243 I ¥k RAGE iR R ALK AR 2 800
6244 FEHK B4 R KA ERAR 3 1020
6245 ANEA BAE iR R AT & R 2 680
6246 KA E B4 R KA EAR 2 680
6247 Bk RAGE iR R ALK R 2 680
6248 g5 RAE % KA ERAR 2 800
6249 BERE RAdE MR R ALK R 1 340
6250 KIET RAE % AR AR 5 1700
6251 € N T RAE iR R ALK R 2 680
6252 A RAE % RAT KA 4 1360
6253 WXE RAdE iR R ALK R 1 340
6254 EE: B4 R KA ERAR 3 1020
6255 X IF B RAE iR R A& AR 2 680
6256 AET B4 R KA ERAR 3 1200
6257 4 IF g8 RAE iR R ALK R 2 680
6258 MIE4L RAE % KA EAR 2 800
6259 AIE R RAdE MR R ALK R 2 680
6260 TR Rl Hig KA EAR 1 340
6261 DS RAE ik R ALK R 1 400
6262 X EE RAE % RAT KA 2 680
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6263 EYIED BAE R KA AR 1 340
6264 B RAE % RATE LR 2 680
6265 EEZ RAE MR R ALK AR 1 340
6266 e FAE MR KA ERAR 1 340
6267 ik B R R A& R 2 680
6268 EiES RAE ik KA ERAR 1 400
6269 I = A RAE i R AT & R 1 400
6270 M IEE RAE % KA EAR 2 680
6271 Y EE RAdE MR R ALK R 2 680
6272 KNE RAE % KA EAR 1 340
6273 X K i RAE ik R ALK R 2 680
6274 Ak RAE % RATE AR 2 680
6275 XX RAE iR R ALK AR 3 1020
6276 KIFR TRE F 5 KA AR 2 800
6277 7K i % FRE F 5 R AT & R 1 340
6278 K X & TRE F5 KA EAR 2 800
6279 FEAT T RE $% R AT & R 1 400
6280 KER TRE F 4 KA EAR 1 400
6281 7K = i FRE F 4 KA AR 1 340
6282 X E TRE F5 KA EAR 2 680
6283 FHE FRE F 5 KA AR 2 800
6284 E il TRE F 5 RAT KA 1 400
6285 BN AR FRE F 5 KA AR 1 340
6286 7 % B TRE F 5 KA ERAR 2 680
6287 ZEE FRE F 5 R AT & R 2 800
6288 = H ik T RE $% KA ERAR 1 340
6289 e T RE $% R ALK R 1 340
6290 B TRE F 4 KA EAR 1 400
6291 KX R FRE F 5 KA AR 1 400
6292 i TRE F 5 KA EAR 1 400
6293 YMEZ FRE F 5 KA AR 1 400
6294 JE 3% TRE F5 RAT KA 1 400
6295 EX FRE F 5 KA AR 1 400
6296 FER T RE $% KA ERAR 1 400
6297 WEE FRE F 5 R AT & R 1 400
6298 e TRE F5 KA EAR 1 400
6299 FRE T RE $% R ALK R 1 340
6300 Z 18 TRE F 5 KA ERAR 1 340
6301 K% FRE F 5 KA AR 1 340
6302 kK X TRE F5 KA ERAR 1 340
6303 & it FRE F 5 KA AR 1 400
6304 FHEE TRE F5 RAT KA 1 340
6305 =E FRE F 4 KA AR 3 1020
6306 i wimisa REEE KR KA ERAR 4 1840
6307 KA RTEHE X KA AR 1 400
6308 RIESG BTER KR KA ERAR 1 460
6309 i s RTEHE KR KA AR 1 400
6310 LI BWTER KR KA EAR 2 920
6311 AH RTEHE KR R ALK R 2 920
6312 X B WTER KR KA EAR 3 1200
6313 L B EE KR R ALK R 1 400
6314 x| IF 4R BTER KR RAT KA 3 1200
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6315 £ X RTEHE KR KA AR 3 1200
6316 KX E BTER KR RATE LR 1 400
6317 KPR RTEHE KR KA AR 1 460
6318 K= BTERE KR KA ERAR 2 800
6319 L E RTEHE ZR KA AR 1 400
6320 P BTER KR KA ERAR 2 920
6321 BE % 4k BT EE KR R AT & R 1 460
6322 XA BWTER KR KA EAR 1 400
6323 B XK RTEHE KR KA AR 2 920
6324 FnE WTER KR KA EAR 1 400
6325 T g B EE KR R ALK R 1 400
6326 TEZ BTER KR RATE AR 1 460
6327 #®iE % RTEHE KR KA AR 1 400
6328 Xk % BWTER KR KA AR 1 400
6329 XA B BT EE KR R AT & R 5 2000
6330 HER BTER KR KA EAR 1 400
6331 HIEE BT EE KR R AT & R 1 400
6332 KEE BWTER KR KA EAR 1 400
6333 & A 4 BRTEE KR R ALK R 3 1020
6334 AR K BT EH AR KA EAR 1 340
6335 X fw g BTEE XA R ALK R 1 340
6336 % 2 BT EE AR RAT KA 3 1380
6337 EXE BTEEE 1AM R ALK R 1 340
6338 kEZ BTEER AR KA ERAR 1 400
6339 B TIEE 1R R AT & R 1 400
6340 A BT EE R KA ERAR 1 460
6341 Ebin B TIEE XA KA AR 1 400
6342 KES BT EE AR KA EAR 1 460
6343 KA A WTEE 1AM R ALK R 2 680
6344 7K A % BT ER AR KA EAR 2 920
6345 X % BTEIEE 1AM R ALK R 1 340
6346 LE A BT EE AR RAT KA 1 400
6347 x| 4 % BTEEE 1AM R ALK AR 1 340
6348 AR BT EE A2 EM KA ERAR 2 800
6349 EAE B TEE 1R R AT & R 2 800
6350 XA BT EE AR KA EAR 1 400
6351 AEE TEE XA R ALK R 1 340
6352 EER BT EH 2R KA ERAR 1 400
6353 KEH BTEE XA R ALK R 1 400
6354 PR AR BT EE R KA ERAR 1 400
6355 KEZ B TEEE 1AM KA AR 2 680
6356 KA BT EE AR RAT KA 1 400
6357 IETF BTEEE 1AM R ALK R 4 1600
6358 M X E BT EE 2R KA ERAR 3 1200
6359 E O TIEE 1R R A& AR 3 1200
6360 EX D BT EE AR KA ERAR 1 340
6361 FRZ TEE X EM R ALK R 1 400
6362 XB B B BT EE AR KA EAR 1 400
6363 T BTEH AR R ALK R 2 680
6364 KEE BT ER AR KA EAR 2 800
6365 2 e BTEIEE 1AM R ALK R 1 400
6366 7K % B BT EH R RAT KA 1 400
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6367 28 TEEE XA R ALK R 1 400
6368 KX FH BT EH R RATE LR 3 1200
6369 IR BTEE 1AM R ALK AR 1 400
6370 ey W BTEER AR KA ERAR 1 460
6371 ANl TIEE 1R R A& R 1 400
6372 ¥ A BT EE R KA ERAR 4 1360
6373 =IEF B TIEE KR R AT & R 1 400
6374 %Uﬁi#\ BT EE AR KA EAR 1 400
6375 K BTEH AR R ALK R 2 800
6376 R = BT EE R KA EAR 2 680
6377 Hﬂ”% BTEH AR KA AR 1 340
6378 KA WTEH EITT RATE AR 5 2300
6379 7K E R WTEEE EITT R ALK AR 2 920
6380 A E WTEE EITT KA AR 3 1200
6381 KR BTEHE EIFT R AT & R 1 400
6382 ¥ WTEH EITT KA EAR 2 800
6383 ST T EE EITT R AT & R 1 340
6384 e LREE i KA EAR 4 1360
6385 e atia bREE e R ALK R 5 2000
6386 KRG LREE i KA EAR 3 1200
6387 kAR LREE ek R ALK R 1 340
6388 XE#E L RfEg eH RAT KA 4 1360
6389 EXi DS LREE e R ALK R 1 400
6390 A L REgE i KA ERAR 4 1360
6391 7K E LA R R AT & R 1 400
6392 XK e LREE i KA ERAR 2 680
6393 7K 2 4R bAfEgE e KA AR 1 460
6394 KEE LREE R KA EAR 2 680
6395 A bREE e KA AR 1 400
6396 B LREE i KA EAR 1 400
6397 ol R LREE ek R ALK R 2 680
6398 K IF & LREE i RAT KA 2 800
6399 TES bR EA e KA AR 3 1200
6400 e LEREE R KA ERAR 3 1020
6401 At LREE ek R AT & R 5 2000
6402 XEE LREE i KA EAR 1 400
6403 i b REE e R ALK R 1 400
6404 kK= LREE R KA ERAR 1 400
6405 Tt bREE e R ALK R 1 400
6406 KA = LREE R KA ERAR 1 400
6407 7K IF Ak LR e R ALK R 3 1200
6408 =¥ AL LREE i RAT KA 3 1200
6409 RED LAy ek KA AR 1 400
6410 = L RfEgE eH KA ERAR 1 400
6411 F = b REE e R A& AR 3 1200
6412 ERE LREE i KA ERAR 4 1360
6413 e b REE e KA AR 3 1020
6414 KEE L RfEg eH KA EAR 3 1200
6415 AT LR e R ALK R 4 1360
6416 =] A LREE i KA EAR 4 1360
6417 EH K LREE ek R ALK R 4 1360
6418 [ LREE R RAT KA 1 340
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6419 EH S LR e R R ALK R 1 340
6420 7K LREE i RATE LR 1 400
6421 P =k bR e R ALK AR 4 1360
6422 T A LREE R KA ERAR 4 1360
6423 7k IF 4R bAfEgE R R A& R 2 800
6424 Bkl LREE i KA ERAR 3 1020
6425 KB & bR e KA EAR 1 340
6426 5K ik LREE R KA EAR 1 340
6427 1 4R T BAEE S - HRXEE S KA AR 1 400
6428 & ¥ LEEE s -_HKEZS KA EAR 4 1360
6429 ik BAEE S - HRXEE S KA AR 1 460
6430 & LEEY s -_HKXEZ S RATE AR 3 1200
6431 ZaOx BAEYE S - HRXEE S KA AR 3 1020
6432 £ XFH LEREE b - HRXEES KA AR 4 1600
6433 X 44 BAEYE s - HRXEE S R AT & R 2 920
6434 EF i LEREE b - HRXEES KA EAR 2 680
6435 BIEH LAEE S - HRXEE S KA AR 3 1020
6436 JE 3 H LEEY s -_HKXEZ S KA EAR 3 1380
6437 &R BAEYE S - HRXEES KA AR 5 1700
6438 FXRE LEREY s -—HKXEZS KA EAR 2 680
6439 BT BAEYE s - HRXEE S KA AR 2 800
6440 &SI LEEE s -_HKXEZ S RAT KA 1 340
6441 ENE BAEYE S - HRXEE S KA AR 1 340
6442 s LEEY s -_HXEZ S KA ERAR 2 680
6443 ITE4S BAEYE s - HRXEE S KA AR 6 2040
6444 & KR LEREE b - HRXEES KA ERAR 3 1020
6445 EIEE LAEE s - HRXEES KA AR 3 1020
6446 e LEEY s -_HXEZ S KA EAR 2 680
6447 EHA BAEYE S - HRXEE S KA AR 2 680
6448 1 EF LEREY s -—HKXEZS KA EAR 2 680
6449 R BEREE ¢ —HRXEZ 4 KA AR 1 340
6450 T K A LEEE s -_HKXEZ S RAT KA 2 680
6451 R LEEBYE 4 - HREZ S R ALK AR 2 680
6452 SO B LEREE b - HRXEES KA ERAR 2 680
6453 AED BAEYE s - HRXEE S KA AR 2 680
6454 Fm* LEREE b - HRXEES KA EAR 2 680
6455 i LAEE S - HRXEE S KA AR 1 340
6456 F = LEREE b HRXEES KA ERAR 3 1020
6457 FTEE BAEE S - HRXEE S KA AR 1 400
6458 X% LEEY s -—HKXEZS KA ERAR 1 400
6459 # A BREE ¢ -—HKXEZ 4 KA AR 3 1020
6460 B H LEREE s -_HKXEZ S RAT KA 2 680
6461 kEH BAEYE S - HRXEE S KA AR 2 680
6462 WHAEE LEEY s -_HXEZ S KA ERAR 1 340
6463 N LAEYE s -HRXEES KA AR 2 680
6464 R EAH LEREE s -_HKXEZ S KA ERAR 2 680
6465 7K e SREE - HKXEZ 4 KA AR 4 1360
6466 i RS AR KA EAR 3 1200
6467 BAE RS AR R ALK R 4 1360
6468 FRE WS K7 KA EAR 4 1600
6469 W E WH Y AR R ALK R 1 460
6470 i WS K7 RAT KA 1 460

125 51, 3£132 1T




6471 FHG WH Y AR R ALK R 1 340
6472 IHE WS K7 RATE LR 2 800
6473 FREX WHY AR R ALK AR 3 1020
6474 HEE RS A% KA ERAR 1 400
6475 i WH Y AR R A& R 1 460
6476 EAE WS K7 KA ERAR 2 920
6477 Y E R WHY AR R AT & R 5 1700
6478 &t RS AR KA EAR 3 1380
6479 I & RS AR R ALK R 3 1020
6480 7K 1% £ WS K7 KA EAR 1 400
6481 X X# WS K7 KA AR 2 680
6482 X 4R A WS K7 RATE AR 1 340
6483 XHE WS K7 KA AR 2 800
6484 ek RS A% KA AR 1 460
6485 1T 45 R WH Y AR R AT & R 1 400
6486 B E i WS K7 KA EAR 1 340
6487 KHx WH Y AR R AT & R 1 400
6488 Z %55 RS AR KA EAR 1 340
6489 X B WH Y AR R ALK R 1 340
6490 13 F§ WS K7 KA EAR 1 400
6491 {24 % WH Y AR R ALK R 4 1600
6492 2 ff WS K7 RAT KA 2 680
6493 M X E =k % = F| R ALK R 1 460
6494 . EA =k % =Fl KA ERAR 1 400
6495 Jirﬁf“ =k % = Fl R AT & R 1 400
6496 & Zh % Al KA ERAR 1 400
6497 ?&Xﬁk =h 4 Al R ALK R 1 400
6498 075 % Zh % Al KA EAR 2 800
6499 PR ZE =h 4 = Al R ALK R 1 400
6500 ITx#% Zh 4 Al KA EAR 2 680
6501 REX =k % =Fl R ALK R 1 400
6502 IHx Zh % Al RAT KA 1 340
6503 rEL =k % =F| R ALK AR 2 800
6504 B Am B =k % =Fl KA ERAR 4 1600
6505 Ll =k o Fl R AT & R 1 340
6506 EriE ZHh % Fl KA EAR 1 340
6507 X R =h Y Fl KA AR 1 400
6508 ki ZHh % Fl KA ERAR 2 800
6509 TR =R % R ALK R 1 340
6510 K AK ZHh % Fl KA ERAR 1 460
6511 B e =% R ALK R 1 400
6512 X Zh % Fl RAT KA 2 680
6513 ER B =R S R ALK R 1 400
6514 WM E =h % Fl KA ERAR 1 400
6515 AN =% F#Hl R A& AR 1 400
6516 1B ZHh % Fl KA ERAR 1 340
6517 i =k % Fl R ALK R 3 1200
6518 &K Vi ki KA EAR 2 680
6519 KA X BER S AE R ALK R 2 680
6520 ITAHEZE Vil ki KA EAR 2 920
6521 JE kAL Vil ki R ALK R 2 680
6522 XK= Vil ki RAT KA 2 920
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6523 & X% BER S AE R ALK R 1 340
6524 EAHE Vil ki RATE LR 1 340
6525 =& BER S AE R ALK AR 1 340
6526 i Vi ki KA ERAR 3 1200
6527 Bl BER S AE R A& R 2 800
6528 oK fE 5 BER S HAE KA ERAR 1 400
6529 gt = BER S AE R AT & R 1 400
6530 5= Vil ki KA EAR 1 340
6531 B BER S AE R ALK R 2 800
6532 E=E3 BER S AE KA EAR 1 340
6533 B %in BER S AE R ALK R 1 340
6534 X\ i B Vil RATE AR 2 800
6535 & £ )i ety EE KA AR 1 340
6536 e BBy E KA AR 1 400
6537 X ety EE R AT & R 2 680
6538 7% Vil KA EAR 2 680
6539 ERLE S BBy EE R AT & R 1 340
6540 KA R Vil KA EAR 1 340
6541 R = B Y EE R ALK R 2 680
6542 K F Vi KA EAR 2 680
6543 R BBy E R R ALK R 2 680
6544 HRE Vil RAT KA 1 460
6545 i B Y EE R ALK R 2 800
6546 7K ORR it BBy E KA ERAR 2 800
6547 R ety EE R AT & R 4 1840
6548 P AE Vil KA ERAR 2 680
6549 Y igE BBy EE R ALK R 1 340
6550 [t Vil KA EAR 4 1600
6551 = EE BER Y EE R ALK R 1 400
6552 42 Vil KA EAR 2 680
6553 =H% VE AR R ALK R 2 680
6554 RIFE Vil RAT KA 1 340
6555 Y% B Y EE R ALK AR 1 400
6556 YR E BBy E KA ERAR 1 400
6557 EEH BBy E® R AT & R 1 400
6558 = ATT Vil KA EAR 1 340
6559 A8 BBy EE R ALK R 1 340
6560 T4 Vil KA ERAR 1 340
6561 F k= ety EE KA AR 2 680
6562 F L% Vil KA ERAR 2 680
6563 figi BBy E R R ALK R 2 680
6564 il Vil RAT KA 3 1020
6565 X R By EE R ALK R 2 800
6566 FRX BBy E KA ERAR 2 680
6567 7K F )i BE Y E® R A& AR 3 1020
6568 ek Vil KA ERAR 2 800
6569 FED S BE s EE R ALK R 1 400
6570 JE % Vil KA EAR 2 800
6571 e BER Y EE R ALK R 1 340
6572 7k F B Vil KA EAR 1 340
6573 A BE Y E R R ALK R 2 680
6574 A Vil RAT KA 1 340
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6575 e BBy EE R ALK R 1 400
6576 A BEL Yy EE RATE LR 1 340
6577 ek B Y EE R ALK AR 3 1200
6578 kS BEL Yy EE KA ERAR 5 1700
6579 FEL BB EE R A& R 3 1020
6580 E ks BEL Yy EE KA ERAR 1 400
6581 i L3 BBy EE R AT & R 4 1360
6582 P 4 BEL S X KA EAR 4 1600
6583 XA BEL S X KA AR 1 400
6584 X & X ALY X KA EAR 1 400
6585 FTIEE Vil KA AR 3 1200
6586 TEZ Vil A5 RATE AR 1 400
6587 =¥ BEL S X KA AR 1 400
6588 JE [ 5% Vil KA AR 1 400
6589 s Vil KA AR 2 800
6590 F& FER S HX KA EAR 1 400
6591 TKEA % BB S B X R AT & R 3 1380
6592 RN Gy B KA EAR 5 2000
6593 =R A BEL S X KA AR 2 680
6594 RS Vil A5 KA EAR 3 1200
6595 WEZ VAR R ALK R 3 1200
6596 BHEZ AL S X RAT KA 2 920
6597 FakE BEL S X KA AR 2 800
6598 BB IF R Vil KA ERAR 1 340
6599 Z XX ViE AR5 KA AR 2 680
6600 WE= ALY X KA ERAR 2 800
6601 e VAR R ALK R 1 340
6602 & B BEL S X KA EAR 1 400
6603 ED BEL S #X KA AR 1 400
6604 oL g Vil A5 KA EAR 3 1200
6605 ANEE VE AR5 R ALK R 1 400
6606 A= ALY X RAT KA 1 340
6607 7K B VE AR KA AR 2 680
6608 B E Vil KA ERAR 1 400
6609 7 B K ViE AR5 R AT & R 2 680
6610 AR gk BEL S X KA EAR 2 680
6611 it BB S B X R ALK R 2 680
6612 FRE BEL S X KA ERAR 4 1600
6613 ED il VB KA AR 2 680
6614 SR ¥ HEL S X KA ERAR 2 680
6615 AR 4R Vil KA AR 2 680
6616 S ALY X RAT KA 2 680
6617 £ BEL S X KA AR 1 340
6618 2 B ViE AR KA ERAR 4 1360
6619 e ViE AR5 KA AR 2 680
6620 el ALY X KA ERAR 1 340
6621 T 7% BB S B X R ALK R 2 680
6622 KEEE BEL S HE KA EAR 1 340
6623 7 E 7% BB S Ha R ALK R 1 340
6624 BIFE FEL s Hi KA EAR 2 800
6625 BB H BB S HE R ALK R 1 400
6626 N7} BEL S HE RAT KA 2 680
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6627 B3 BB S H R ALK R 1 400
6628 KA BEL S HE RATE LR 1 400
6629 BX A BB S Hi R ALK AR 1 340
6630 & F ¥ Vil KA ERAR 1 340
6631 AT BB S HiE R A& R 2 680
6632 BEE BB o FHid KA ERAR 2 920
6633 e BB S H R AT & R 2 680
6634 B X% BEL S HE KA EAR 1 400
6635 Fxx BB S Ha R ALK R 2 680
6636 2 B B8 o FHid KA EAR 2 680
6637 F BB S H R ALK R 1 400
6638 BRI R BEL S HE RATE AR 1 340
6639 F A Vil R ALK AR 3 1020
6640 e Vil KA AR 1 340
6641 EHm BB S HE R AT & R 2 800
6642 el FER o FHid KA EAR 3 1020
6643 THEE Vil KA AR 1 400
6644 RLF BEL S HE KA EAR 1 340
6645 7k 4 X Vil R ALK R 2 800
6646 K B B8 o FHid KA EAR 1 400
6647 wEE BB S H R ALK R 1 340
6648 K BEL S HE RAT KA 1 340
6649 MR BEL S Hi KA AR 1 340
6650 = Vil KA ERAR 1 340
6651 ITE= BB S HiE R AT & R 2 680
6652 Eaial FER o FHid KA ERAR 1 340
6653 = E Vil KA AR 1 340
6654 EVE X BEL S HE KA EAR 1 340
6655 Ex 4 BEL S Hi KA AR 2 680
6656 BT = BEL S H KA EAR 1 340
6657 EEE BB S H R ALK R 1 340
6658 ITEZ BEL S HE RAT KA 1 340
6659 [y Vil R ALK AR 1 340
6660 X X BEL S HE KA ERAR 4 1360
6661 2y 0 BB S HiE R AT & R 1 340
6662 HXE BB s FHid KA EAR 2 680
6663 HEE Vil KA AR 1 340
6664 Iz Fhy FHARZES KA ERAR 2 800
6665 T L Ty FHNZES R ALK R 5 2300
6666 W A Ty FHNZESL KA ERAR 2 680
6667 FHME Fe FHNZES R ALK R 1 400
6668 T IFAX Ty FHNESL RAT KA 2 800
6669 I & Ty FHANZES KA AR 5 2000
6670 Zrf Fhy FHARZES KA ERAR 1 400
6671 BRI AL Ty FHARES R A& AR 2 800
6672 = Fhy FHARZES KA ERAR 3 1200
6673 WYk Ty FHNES R ALK R 3 1200
6674 KRFE Fhy FHARZES KA EAR 2 800
6675 NPatid Ty FHARZES KA AR 2 800
6676 ZEL Fhy FHRZES KA EAR 3 1200
6677 EH= Ty FHNZES R ALK R 2 800
6678 FAEK Ty FHNZESL RAT KA 1 400
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6679 A Ty FHARES KA AR 2 800
6680 EHE Fhy FHARZES RATE LR 2 800
6681 T 7 An Tl FHNZES R ALK AR 2 800
6682 BREE 2 Fhy FHARZES KA ERAR 2 800
6683 [ eia Fhy FHARES R A& R 2 800
6684 EPAYN Fhy FHARZES KA ERAR 2 800
6685 I X Ty FHNEL R AT & R 2 680
6686 I X% Fhy FHRZES KA EAR 2 800
6687 5[ #8 BH Tl FHNZES R ALK R 1 400
6688 =4 % Fhy FHRZES KA EAR 2 800
6689 X & Ty FHNZES R ALK R 2 800
6690 T Ty FHNZESL RATE AR 1 400
6691 EEA T FHNZES R ALK AR 4 1600
6692 InE Fhy FHARZES KA AR 1 400
6693 2R B Ty FHARES R AT & R 2 800
6694 FAae Fhy FHARZES KA EAR 1 400
6695 EW Ty FHNZESL R AT & R 3 1200
6696 i Fhy FHARZES KA EAR 3 1200
6697 i Ty FHNZES R ALK R 2 800
6698 HEZ Fhy FHRZES KA EAR 6 2400
6699 X3 F Fe FHNZES R ALK R 1 400
6700 fX& Fhy FHARZES RAT KA 3 1200
6701 EEZ Tl FHNZES R ALK R 2 800
6702 1t %& B Fhy FHARZES KA ERAR 3 1200
6703 Fe A Ty FHARES R AT & R 3 1200
6704 FEE Ty FHANZESL KA ERAR 2 800
6705 KEFE BRE AAKARZS KA AR 1 340
6706 7K g BhE AKHARZES KA EAR 2 680
6707 e lE] BhE AKARZES KA AR 3 1200
6708 F kA A AKARZES KA EAR 4 1360
6709 [ BRE AKARZS KA AR 2 680
6710 A 5 BhE AKHARZES RAT KA 2 680
6711 EIEH BRE AKARZS R ALK AR 1 460
6712 2 BhE AKARZES KA ERAR 2 680
6713 FAHE BRE AAARZS R AT & R 1 460
6714 Kk T A AKARNZES KA EAR 2 680
6715 KEL BRE AAKARZS R ALK R 1 400
6716 K7 R BhE AKARZES KA ERAR 4 1360
6717 [y BRE AAKARNZ S R ALK R 2 680
6718 x| 1 4 EhE AKHARZES KA ERAR 2 680
6719 =HKZ HRE AKARZS KA AR 3 1200
6720 B BhE AKARZES RAT KA 3 1020
6721 = HhE AKARZES KA AR 1 340
6722 KEFE BhE AKHARZES KA ERAR 2 920
6723 FE R BRE AAARZS R A& AR 2 800
6724 BIEE EhE AKARZES KA ERAR 1 460
6725 TET BRE AAKARZS R ALK R 1 340
6726 & BhE AKARZES KA EAR 4 1360
6727 B rit BRE AAKARNZ S R ALK R 3 1020
6728 = EhE AKARZES KA EAR 2 680
6729 KB BRE AKARZS R ALK R 2 680
6730 ZER EhE AKARZES RAT KA 2 680
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6731 IXE BRE AAKARNZS KA AR 2 680
6732 FL A AR BhE AKHARZES RATE LR 2 800
6733 el HRE AKARZES KA AR 2 920
6734 =EH HRE AKARZES KA ERAR 2 680
6735 ®IEE HRE AAARZS R A& R 1 460
6736 FLE & EhE AKHARZES KA ERAR 2 680
6737 ERE BRE AAKARZS R AT & R 2 680
6738 Fg/\ BhE AKHARZES KA EAR 1 400
6739 R E BRE AAKARNZ S KA AR 2 680
6740 FEF EhE AKHARZES KA EAR 1 460
6741 X\ 48 BRE AKARZS KA AR 1 460
6742 x| 2% 4 EhE AKHARZES RATE AR 2 680
6743 FEE BhE AKARZES KA AR 1 400
6744 VRIS HRE AKARZES KA AR 1 400
6745 = BRE AAKARZS R AT & R 1 340
6746 7K IF gE EhE AKHARZES KA EAR 1 340
6747 Kok HA HRE AKARZES KA AR 2 680
6748 F i T R AKAHRZES KA EAR 3 1200
6749 E2=0 HhE AKANRZES KA AR 3 1020
6750 KEHAE EhE AKARZES KA EAR 3 1200
6751 ek BRE AKARZS KA AR 1 460
6752 Z 1% BhE AKHARZES RAT KA 3 1020
6753 ZEZ BhE AKARZES KA AR 1 460
6754 EEF HRE AKARZES KA ERAR 1 400
6755 Z i BRE AAKARZS R AT & R 1 340
6756 3t WA EhE AKHARZES KA ERAR 2 680
6757 £ R BRE AAKARZS R ALK R 2 800
6758 KEE R AKAHZES KA EAR 2 680
6759 £ H BRE AAKARNZ S R ALK R 2 680
6760 7K 3L K EhE AKARZES KA EAR 1 400
6761 7K E A BRE AKARZS R ALK R 2 800
6762 BFAETF BhE AKHARZES RAT KA 2 680
6763 £ BhE AKARZES KA AR 1 400
6764 KMa HRE AKARZES KA ERAR 2 680
6765 FEER BRE AAARZS R AT & R 2 800
6766 7K K At EhE AKHARZES KA EAR 1 340
6767 FRE HRE AKARZES KA AR 2 800
6768 Fmf BhE AKARZES KA ERAR 1 400
6769 i 4 BRE AAKARNZ S R ALK R 1 400
6770 EATR EhE AKHARZES KA ERAR 1 400
6771 17 [E 4R HRE AKARZS KA AR 4 1360
6772 B E K EhE URERZES RAT KA 4 1840
6773 AL R URRHZES KA AR 1 460
6774 R AR BhE URFERZES KA ERAR 2 800
6775 w5 % BhRE URFENZS R A& AR 2 800
6776 ERA hE URFINZES KA ERAR 1 400
6777 K5 BRE URINZS R ALK R 1 400
6778 k¥R BhE URFIRZES KA EAR 1 400
6779 e R URINZES KA AR 2 800
6780 B 5 EhE URFIHZES KA EAR 1 460
6781 BRE BRE URFENZS R ALK R 1 400
6782 ELE BhE URFIRZES KA EAR 1 400
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6783 KIER BhRE URENZS KA AR 1 460
6784 (RIS EhE URFIRZES RATE LR 3 1200
6785 MR K BhRE URENZS R ALK AR 4 1840
6786 AR BhE URFERZES KA ERAR 2 920
6787 &k fE R URFERZS KA AR 2 800
6788 DN EhE URFINZES KA ERAR 3 1380
6789 A B URRHZS KA EAR 2 920
6790 X[ R % BhE URFIRZES KA EAR 1 460
6791 A= R URIHZES KA AR 1 400
6792 M RAL R URRHZS KA EAR 1 400
6793 7% B BRE URERZS R ALK R 4 1600
6794 MRt R URFERZES RATE AR 1 400
6795 X4 BRE URENZ2 R ALK AR 2 920
6796 [l aca EhE URFERZES KA AR 3 1200
6797 R SEHY £ R AT & R 1 340
6798 KAEF Sy £ KA EAR 1 400
6799 i = SEHY £18 KA AR 1 400
6800 EsE SEhE £ KA EAR 3 1200
6801 FIEKX SEHY £18 KA AR 2 680
6802 & X Sy £ KA EAR 1 400
6803 x| 44 SEHY £ KA AR 2 800
6804 . F A Sy £ RAT KA 2 800
6805 xR SEEE b KA AR 1 340
6806 A SEEE b KA ERAR 2 800
6807 2 Al SEHYE b R AT & R 1 400
6808 EE2 EEEE b KA ERAR 1 400
6809 kxS SEEE b KA AR 1 340
6810 = B SEEE b KA EAR 2 680
6811 A SEEE b KA AR 1 340
6812 IR EEEE b KA EAR 2 680
6813 ke s SEEE b KA AR 3 1200
6814 WIEE EEEHE b RAT KA 3 1020
6815 VWil SEHYE S5 R ALK AR 1 400
6816 Tt A SEEE b KA ERAR 1 340
6817 ¥R SEHYE b R AT & R 2 680
6818 FE¥ EEEHE b KA EAR 1 400
6819 HE A SEEE b KA AR 1 400
6820 ¥ 77 9 SEEHE b KA ERAR 1 340
6821 IEH SEHYE S5 R ALK R 1 340
6822 g% EEEE b KA ERAR 1 340
6823 EXi:Ea SEEE b KA AR 1 400
6824 WE% EEEHE b RAT KA 1 460
6825 FNIEAR SEHE b R ALK R 2 800
6826 Rt SEEE b KA ERAR 1 400
41t 11619 4370820
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